# F.No14-3/2018-IS-18 Government of India Ministry of Human Resource Development Department of School Education & Literacy (IS-18)

Shastri Bhawan, New Delhi Date: 3<sup>rd</sup> August, 2018

Subject: The 2<sup>nd</sup> Meeting of the Project Approval Board (PAB) of Samagra Shiksha –Integrated Scheme for School Education held on 09.05.2018 to consider the approval of the Annual Work Plan & Budget for the State of Andhra Pradesh for the year 2018-19 –Circulation of Minutes.

The 2nd Meeting of the Project Approval Board of Samagra Shikhsa was held on 09.05.2018 under the Chairpersonship of Joint Secretary (SE&L) in Conference Room No. 112, C Wing, Shastri Bhawan, New Delhi to consider and approve the Annual Work Plan & Budget (AWP&B) 2018-19 in respect of the State of Andhra Pradesh.

2. A copy of the PAB minutes duly approved by the Secretary (SE&L) in respect of the AWP&B, 2018- 19 for the State of Andhra Pradesh under Samagra Shiksha is enclosed.

Under Secretary to Govt. of India Tele No. 23388037

To,

- Shri Rakesh Srivastava, Secretary, Ministry of W&CD
- Shri Heeralal Samariya, Secretary, Ministry of Labour & Employment.
- Ms. Nilam Sawhney, Secretary, Ministry of Social Justice & Empowerment.
- Sh. Deepak Khandekar, Secretary, Ministry of Tribal Affairs.
- Shri Parameswaran Iyer,
   Secretary, Ministry of Drinking Water & Sanitation,
   4<sup>th</sup> floor, Paryavaran Bhavan, CGO Complex, Lodhi Road, New Delhi -110003.
- Shri Ameising Luikham Secretary, Ministry of Minority Affairs, 11<sup>th</sup> floor, Paryavaran Bhavan, CGO Complex, Lodhi Road, New Delhi -110003.
- 7. Ms. Shankuntala D.Gamlin, Secretary, Department of Empowerment of Persons with Disabilities.
- Dr. Punam Srivastava, Joint Adviser HRD (Education), Niti Aayog.

- Dr. Hrushikesh Senapaty, Director, NCERT.
- Prof. N.V. Varghese,
   Vice Chancellor, NUEPA.
- Smt. Anita Karwal, Chairperson, NCTE, Hans Bhawan, Wing II, I Bahadur Shah Zafar Marg, New Delh – 110 002.
- 12. Prog. Nageshwar Rao, Vice Chancellor, IGNOU, Maidan Garhi, New Delhi.
- Ms. Geeta Narayan, Member Secretary, NCPCR, 5<sup>th</sup> Floor, Chanderlok Building, Janpath, New Delhi- 110 001.
- 14. Sh. Sanjay Kumar, JS(SE-II Bureau).
- 15. Sh. Shashank Shekhar, JS(EE.1)
- 16. Sh. Sachin Sinha, JS(AE & Coord)
- 17. Ms. Darshana M Dabral, JS & FA, MHRD
- Shri Aditya Nath Das, Spl. Chief Secretary,
   Govt of Andhra Pradesh, AP Secretariat, Amravathi-521456
- Ms. K. Sandhya Rani, Commissioner of School Education, D/o School Education, Ibrahim Patanam, Amravathi-521456
- Shri G. Srinivas, State Project Director,
   D/o School Education, Shri Anjaneya Towers, Ibrahim Patanam, Andhra Pradesh-521456.

#### Copy to:

- 1. All Divisional Heads of ISSE Bureau
- 2. All Under Secretaries of ISSE Bureau
- 3. Shri. Rajeev Mehra, Chief Consultant (appraisal) for circulation among the appraisal Team.
- 4. NIC- with request to upload minutes on the portal.

#### Copy for information to:-

- 1. PPS to Secy. (SE&L)
- 2. PPS to JS(SE-I)

(Purma Tudu) Under Secretary to Govt. of India Tele No. 23388037

### Government of India Ministry of Human Resource Development Department of School Education and Literacy

Minutes of the meeting of the Project Approval Board held on 9<sup>th</sup> May, 2018 to consider the Annual Work Plan & Budget (AWP&B) 2018-19 of Samagra Shiksha for the State of Andhra Pradesh.

#### 1. INTRODUCTION

The meeting of the Project Approval Board (PAB) for considering the Annual Work Plan and Budget (AWP&B) 2018-19 under Samagra Shiksha for the State of Andhra Pradesh was held on 09-05-2018. The list of participants who attended the meeting is attached at *Annexure-I*.

Sh. Maneesh Garg, Joint Secretary (SE-I) welcomed the participants and invited the State representatives led by Sh. Adityanath Das, Spl. Chief Secretary (SE), Ms. K. Sandhya Rani, Commissioner, School Education & Sri.G.Srinivas, SPD and invited them to brief on the initiatives undertaken by the State.

#### 2. INITIATIVES OF THE STATE

- State has put in place a strong *School Information Management System (SIMS)* to support all the activities and interventions including UDISE, SSA, RMSA, Teacher Training, Teacher Transfers, etc.
- Andhra Pradesh is the first State in the country to identify Out of School Children (OoSC) on Aadhaar basis. The number of OoSC increased abnormally from 34, 880 in 2016-17 to 1,05,845 in 2017-18 registering an increase of 70,965 (203.45%).
- The student enrolment data is 100% Aadhaar seeded and duplicate/double enrolments are eliminated. The State has put in place child wise tracking to track the children dropping out in the current year based on previous years data from Government or Private unaided schools.
- State students have shown significant improvement in *National Assessment Survey* performance. In NAS, State performance is better than the National average in Languages, Mathematics and Environmental Science. The Post NAS activities are being taken up by the State.
- State is tracking the child wise Assessments in all CCE formats of Summative and Formative conducted from Class 6th to 10th to identify the gaps and disseminate the same to all stake holders.
- The UDISE data is cross validated with the State Household Data Praja Sadhikara Survey - and identified 8.89 Lakh children in the school age group not found to be in schools. Through AP-GER mobile APP and intensive field level

- verification 3.36 Lakh children out of 8.96 lakhs have been brought back to Schools.
- A comprehensive programme with 5 verticals named "Vidya Viksham" is designed for improving student learning outcomes in the State. This includes several interventions on the following 5 key areas:
  - Class wise Summer Remediation programme
  - Remedial teaching training skills for teachers.
  - Training of Teachers on effective utilization of Digital Content.
  - Assessment Cell for continuous monitoring of assessments and dissemination. i.e. SMS to the parents, Teachers on performance of their students.
  - District Score Card to represent district wise ranking on learning outcomes level.

## 3. ACTION TAKEN ON COMMITMENTS GIVEN BY THE STATE FOR 2017-18

The progress made in implementing the commitments given by the State in 2017-18 was reviewed. The status in respect of some of the major commitments are as follows:-

S.No	Commitment	Action Taken
i	State would document their best practices and initiatives and subsequently upload it on the SSA Shagun portal. This would enable the Sate to showcase its successes and would provide a platform for all States /UTs to learn for each other.	The best practices are documented and uploaded in the <i>Shagun</i> website regularly to showcase and to provide a platform for other States and UTs.
ii	State would update the progress in implementation of the approved activities under the AWP&B on the SSA Shagun portal. A hard copy of the summary State Tables I and II on the Shagun portal, duly signed by the State Project Director, would be submitted at the time of the request for release of funds under SSA. This would be in addition to the already prescribed documents under the GFR.	The progress on project implementation is regularly updated and submitted as per GFR Rules.
iii	For the year 2017-18, State has identified 70,893 Out of School Children (OoSC) and it has committed that at least 60 thousand children out of these will be enrolled in schools during 2017-18.	The State has covered 62,347 Out of School Children (OoSC) during the year 2017-18.

iv	Average Dropout rate will be reduced from 10% (in 2016-17) to 7.5% (in 2017-18) in respect of Primary schools and from 9% (in 2016-17) to 8% (in 2017-18) in Upper Primary Schools.	<ul> <li>As per the commitment given, the Annual Average dropout rate is reduced significantly to Zero (0%) in respect of primary schools.</li> <li>In respect Upper Primary Schools also the achievement is more than committed during 2017-18 and got reduced to (0.52%).</li> </ul>
v	State will map all the standalone Government and Government aided primary schools, develop and finalize specific action plans for improving learning outcomes in these schools and share it with the Department.	<ul> <li>The State has conducted the State level Achievement Survey for all children and identified the slow learners for improving the learning outcomes.</li> <li>Based on the findings SCERT, SSA and RMSA designed the Remediation modules and provided Remediation coaching along with workbooks to all slow learners for improvement of learning outcomes in government and government aided schools.</li> </ul>
vi	State has already created child wise data base using Aadhaar ID of children. State should use the Child wise database to make the enrolment indicators robust and reliable.	State had 99.82% Aadhaar Seeded child wise database and the same is populated to UDISE for calculation of
vii	State will maintain a database on details of its teachers, included their Aadhaar numbers.	Database of teachers is maintained including their Aadhaar Numbers. State was advised to ensure security of this data.
viii	The State will complete GIS mapping of all schools (100%) and integrate their database with the NIC website http://schoolgis.nic.in/.	This further is also mapped to Panchayats and mapping with habitations is underway.
ix	State will undertake positive consolidation of its schools, with in the provisions of RTE Act, with view of strengthen primary education and for optimum utilization of resources.	State has under taken positive consolidation of schools and 468 Primary Schools are merged to nearby Primary/UP Schools, 936 UP Schools are downgraded to PS and 322 Secondary Schools are rationalized into Single Medium in the year 2017-18 as per RTE Act to strengthen the education and for optimum utilization of resources.

x	The State will rationalize teacher deployment in primary and upper primary schools, so that there are no single teacher schools and all schools have PTR as per norms under the RTE Act, 2009. At the upper primary level, special emphasis should be laid on maintaining the subject PTR.	schools as per RTE Act.  The State has maintained subject PTR in all high schools and also at Upper primary level.  Further, the State has planned to
xi	State will recruit headmaster in primary and upper primary schools as per the RTE norms to uplift the management of such schools. Give the significant role of a headmaster in school management, direct placement of such headmasters (included through limited department exam) of 50% of all headmasters may be considered.	Action is to be taken.
xii	State should ensure the children with less than grade level learning competencies are identified and provided learning support and inschool re-enforcement. Efforts would be made so that all the children reach desired grade appropriate competency level.	The State has identified the child wise learning outcomes in all schools. Based on the identified learning levels, State is providing the competency wise extensive summer remediation programme to the needy children and it will be implemented as a yearlong remediation programme in the succeeding year.
xiii	State will explore the mechanisms for convergence with other departments especially with the department of Panchayati Raj for maintenance of school infrastructure, school sanitation and provisioning of drinking water facilities in schools.	Maintenance of toilet in schools has been entrusted to the Self Help Groups of SERP under the control of DRDA of concerned districts at the approved rates of SSA and the expenditure has been met from School Maintenance Grant. With the convergence of Panchayati Raj and Rural Development Department, some of the toilets have been constructed under MGNREGS Programme monitored by the DRDA / MDOs. The Commissioner of School Education, Govt. of AP has requested the Secretary to Govt., PR & RD to provide the funds for drinking water provision in around 6000 schools and

		works are in progress.
xiv	State should undertake the "Partnership Between Schools" programme which aims to link schools located in rural areas with private, aided or Government schools in urban or semi urban areas. This would be help in bringing all students to one common platform and to share experiences and learn from each other.	<ul> <li>The State has given guidelines to all districts to implement the school Partnership programme.</li> <li>As per the instruction, each district has implemented in identified schools.</li> <li>It is a good platform to bringing the students to one common platform and sharing the best practices from each other.</li> </ul>
xv	The State would ensure the implementation of Public Finance Monitoring System (PFMS) up to the last destination i.e., school.	The PFMS registration process of 13 districts including the State office was completed. But, while logging with any one of the district logins the total State balance and other District balances information are showing on the portal which causes non-transparency in the system.  So, the registration of sub district units and Schools (SMCs) are kept idle for a time. Once misinterpretation is resolved, the State will start the process.
xvi	State will display a gallery of the grade- wise photos of teachers on the school notice board in all elementary schools. The photos would be in a size that is visible and identifiable. This would help in honoring the teachers who are the fulcrum of the education system.	It is being implemented.
xvii	State will complete all the pending civil works in 2017-18.	Timely instructions being issued to the Project Officers / Executive Engineers to motivate the Executive Agency i.e., School Management Committee to complete the spillover as well as fresh works sanctioned during the year 2017-18 by 31-03-2018. In most of the works, release of funds proportionate to work done is pending.  Reasons: Distribution / release of funds to the sanctioned works is less

than the work done value. This is resulting in slow progress at the finishing stages. Hence, it has become inevitable to carry forward the works in progress to the next year spill over programme.  A separate quality control team consisting of EE / DEE has been established to ensure the 100% quality in Civil Works. A team of DEE / AE in co-ordination with Mandal Educational Officer will monitor the works in progress, attending timely inspection in functioning of toilet facilities, drinking water etc., which are prime need of children.  The Central RTE Rules are being amended to include reference to classwise, subject-wise Learning Outcomes for all Elementary classes. Accordingly, once that related guidelines are received by the State, the State would include the Learning Outcomes in its own RTE rules.  The Annual report would be submitted to the Department for laving in the
The Central RTE Rules are being amended to include reference to classwise, subject-wise Learning Outcomes for all Elementary classes. Accordingly, once that related guidelines are received by the State, the State would include the Learning Outcomes in its own RTE rules.  - As per the Central RTE Rules, the State has implemented the learning outcomes in all schools.  - The learning outcomes documents like posters, brochures and handbooks were supplied to all schools.  - Trainings were also provided to all teachers on learning outcomes.  - As per the Central RTE Rules, the State has implemented the learning outcomes in all schools.  - Trainings were also provided to all teachers on learning outcomes in State RTE Rules.
to the Department for laying in the parliament while the Audit Report Submitted to MHRD, GOI would be laid before the State Assembly.
States have a good number of schools under the control of various Departments other than Department of Education such as Municipalities, Panchayat, Tribal Department, Social Welfare etc. To bring these Schools under unified command it is suggested that a Committee should be formed under the chairpersonship of Secretary, Education of the State.
xxii   State Govt. would prioritize filling up   Teacher Recruitment Test is scheduled

	33 4 4 4 5 6 3 4	1 11 1 1 2010 10	
	all existing vacancies of academic posts	in the academic year 2018-19	
	by the next academic session i.e., 2018-		
	19.		
		The State conducted online Computer	
	State Govt. would be conducting the	Based Teacher Eligibility Test (TET)	
	Teacher Eligibility Test (TET) regularly	during January / February. It is again	
	by the next academic session i.e., 2018-	conducting another online CBT for	
xxiii	19 independently of Teacher	TET in June 2018. The Government	
	Recruitment Test (TRT) being	Order indicates that TET will be	
	conducted currently.	conducted twice in a year independent	
		of TRT.	
	State Govt. had committed to start 131	In the year 2017-18, the State Govt.	
xxiv	Girls Hostels w.e.f. 2017-18.	had made 131 Girls Hostels functional.	
	State Govt. was asked to expedite	The State had released the tenders for	
xxv	action for construction work in the	·	
	upgraded schools.	the 54 works as committed.	
	upgraueu schoois.		

#### 4. Appraisal issues- 2018-19

#### **Educational Indicators**

- The GPI in Class II has decreased abnormally from 0.92 in 2016-17 to 0.80 in 2017-18.
- The number of Upper Primary schools/sections (Govt.+Aided) has decreased from 12089 in 2016-17 to 11514 in 2017-18 registering a decrease of 575 (4.76%).
- The number of Teachers in Govt. Schools (Class 1 to XII) has decreased from 190077 in 2016-17 to 181679 in 2017-18 registering a decrease of 8398 (4.42%).
- Number of out of school children have increased abnormally from 34880 in 2016-17 to 105845 in 2017-18 registering an increase of 70965 (203.45%).
- The Annual average Dropout Rate at secondary level as 50% and at Hr. Secondary as 100% is very high and impossible. State was asked to recheck their data and re-submit.
- The percentage of girls of SC, ST and Muslims have decreased from 48.54%, 48.06% and 48.11% respectively in the 2016-17 to 20.06%, 6.55% and 7.79% respectively in 2017-18, which needs to be re-checked.
- State has to redeploy 93 surplus teacher at Primary level and 311 teachers at Upper Primary level.

#### Access and Retention

- State is reporting 103190 Out of School Children (OoSC), while IMRB (2014) estimated 107829 out of school children and census 2011 has reported 1302512 Children being out of school in the age group 6-14 years.
- Schools sanctioned under SSA have not been notified by the State. Consequently, status of schools and teachers remain ad hoc and their continuation is linked to the continuation of central support.
- The State need to notify the area and limits of Neighborhood for Transportation/Escort in its RTE Rules and will categorise it as child entitlement.
- There is a greater need for close monitoring and supervision in the residential schools and hostels as they all are being managed by Non-Governmental organizations.
- State has shifted one hostel sanctioned to the District of Chittoor to the district of Nellore without PAB approval. State was informed that this is not allowed under the Scheme as it has serious repercussions. The district wise information on residential schools and hostels is furnished by MHRD at various levels including to constitutional bodies. Such a unilateral change in the status may lead to furnishing of wrong information at national level. However, ex-post facto approval was given in view of the request of the State. Shifting of one hostel from District Anantpur to the District Chittor was approved, as proposed by the State that it was no longer required in District Anantpur.

#### Quality

- State has to ensure review of Textbooks of elementary classes by NCERT from gender perspective.
- Learning outcomes for class III (Languages 77.82%, Maths 73.06, EVS 72.41) Class V (Languages 66.6%, Maths 64.02%, EVS 63.51%) and Class VIII (Languages 58.01% Maths 49.75%, Science 49.89% and Social Studies 44.22%), shows that there is a sharp decline in Class VIII which requires special focus.
- National Achievement Survey findings shows that 4 districts are low performing districts namely Chittoor, Kurnool, West Godavari and Visakhapatnam
- Rashtriya Aviskhar Abhiyan (RAA) should be implemented in upper primary schools to inculcate the science and maths skills among the children.

#### **Teacher Education**

 As per the scheme, 325 academic posts (@25 per DIET x 13 DIETs) have to be sanctioned. The State Govt. has 340 sanctioned posts, out of which only 66 are filled up i.e. 80% vacancy.

- As per the scheme, 51 academic posts (@17per CTE x 3 CTEs) have to be sanctioned. The State Govt. has sanctioned 51 posts, out of which only 19 are filled up i.e. 62% vacancy.
- As per the scheme, 26 academic posts (@26 per IASE x 1 IASE) have to be sanctioned. The State Govt. has 20 sanctioned posts, out of which only 2 are filled up i.e. 90% vacancy.
- As per the scheme, 45 academic posts have to be sanctioned in SCERT.
   State Govt. has sanctioned only 35 posts, out of which, only 10 are filled up i.e. 78% vacancy.
- State Govt. has conducted the last Teacher Eligibility Test (TET) from 21 February to 2<sup>nd</sup> March, 2018 through online mode. The student pass percentage is 57.88% in Paper-1, 37.26% in paper-2 (Maths and Science), 38.22% in paper-3 (Social science) and 42.60% in paper-4 (Language).
- Status of DIKSHA Implementation State Government of Andhra Pradesh
  has appointed SCERT as the nodal agency and Director, SCERT as the nodal
  officer. State has also formed a steering committee on implementation of
  DIKSHA which will review the work PMU, content and technology related
  activities.
- Status of SCERT Restructuring The proposal on restructuring of SCERT
  has been prepared as suggested by MHRD, Guideline. Five Divisions are
  proposed to be created by the State. In all 15 departments are proposed to
  be clustered under these 5 Divisions. As per the MHRD guidelines, State
  will adopt Model -II. Separate cadre for Teacher Educators has already
  been established.
- Strengthening of DIETs The reconceptualization of DIETs have been done and the State has adopted model- I. State will continue with both the preservice and in-service training in all the DIETs. The State will adopt the five academic branches model, as proposed by the MHRD Guideline. The proposal has been submitted to the State Government for approval. However, the DIETs have huge vacancies and State was advised to fill-up these posts to ensure proper quality of pre-service training.

#### Kasturba Gandhi Balika Vidyalaya (KGBVs):

• State is yet to complete construction of 106 KGBVs (Type IV)/Girls Hostels sanctioned in the year 2011-12.

#### **Teachers Recruitment and Policy:**

- 11576 posts of teacher's are vacant in the State at primary level; while there are no vacant posts of teachers sanctioned under erstwhile SSA.
- 2040 teacher's posts are vacant in the State at upper primary level; while there are no vacant posts of teachers sanctioned under erstwhile SSA.
- 34.52% posts are vacant at Secondary Level.

#### **Vocational Education**

- The State needs to update data on PMS as data on PMS is not matching the data provided in AWP & B.
- Tools & Equipment has been procured partially in the schools. The State need to complete procurement on priority, so that the labs are fully functional.
- Sector specific in service training has been provided to 306 trainers in the last year. State should train all the trainers.

#### 5. COMMITMENTS OF THE STATE FOR 2018-19

- i. State would document their best practices and initiatives and subsequently upload it on the SSA Shagun portal. This would enable the State to showcase its successes and would provide a platform for all States and UTs to learn from each other.
- ii. State will undertake positive consolidation of its schools, within the provisions of the RTE Act, with a view to strengthen primary education and for optimum utilization of resources.
- iii. The State will integrate GIS mapping database of all Schools with the NIC website <a href="http://schoolgis.nic.in/">http://schoolgis.nic.in/</a>.
- iv. State will map all the stand alone Government and Government aided primary schools, develop and finalize specific action plans for improving learning outcomes in these schools.
  - v. The State will rationalize teacher deployment so that there is no single teacher school and all schools have PTR as per norms under the RTE Act, 2009. At the upper primary and secondary level, special emphasis should be laid on maintaining the subject PTR.
- vi. State will recruit headmasters in primary and upper primary schools as per the RTE norms. Given the significant role of a headmaster in school management, direct recruitment (including through limited department exam) of 50% of all headmasters may be considered.
- vii. State should ensure that children with less than grade level learning competencies are identified and provided learning support and in-school reenforcement. Efforts would be made so that that all children reach the desired grade-appropriate competency level.
- viii. State would assess its grading under the Performance Grading Index (PGI) developed by the Department and carry out the required governance reforms to improve the same.

- ix. State would focus on the aspirational districts to achieve significant improvement in the key performance indicators identified for the same.
- x. The guidelines for expenditure on school grant, procurement of sports equipment and library books need to be followed. These need to be kept in mind while utilization of these grants.
- xi. The detailed guidelines on Operation Digital Board need to be followed to utilize the funds approved under the ICT initiatives.
- xii. State will explore the mechanisms for convergence with other departments especially with the Department of Panchayati Raj for maintenance of school infrastructure, school sanitation and provisioning of drinking water facilities in schools.
- xiii. State should undertake the "Partnership Between Schools" Programme which aims to link schools located in rural areas with private, aided or government schools in urban or semi urban areas. This would help in bringing all students to one common platform and to share experiences and learn from each other.
- xiv. State will display a gallery of the grade-wise photos of teachers on the school notice board in all schools. The photos would be in a size that is visible and identifiable. This would help in honouring the teachers who are the fulcrum of the education system. In addition, photo Id cards may be issued to all teachers to be warn during school hours.
- xv. State will complete all the pending civil works in 2018-19.
- xvi. State will ensure inspection and evaluation of all primary and upper primary schools.
- xvii. State would ensure the implementation of Public Finance Monitoring System (PFMS) up to the last destination i.e., school.
- xviii. The Annual Report would be submitted to the Department for laying in the Parliament.
  - xix. State would ensure effective implementation of the RTE Act, 2009.
  - xx. The State will take steps to improve the enrolment of children in Government Schools.
  - xxi. The State will analyse the reasons of declining of transition rate from Upper primary to Secondary level and identify areas for interventions to improve transitions.
- xxii. The State will expedite the process of recruitment of teachers in Government Schools (Class I to XII) in the year 2018-19. State will also maintain an annual calendar for recruitment of teachers.

- xxiii. The State will take necessary steps to improve the Gender Parity Index (GPI) in Class II.
- xxiv. The State will take steps to main stream the Out of School Children (OoSC). The State would also ensure that the release of funds to them should be linked to the actual number of children mainstreamed as tracked in the child-tracking system.
- xxv. State Govt. would implement ICT in 1647 schools in the year 2018-19.
- xxvi. The State will submit a periodical visit report on residential hostels.
- xxvii. State Govt. would prioritize the process of strengthening of DIETs and SCERT, as per MHRD guidelines in the next 3 months.
- xxviii. State Govt. would prioritize filling up all existing vacancies of academic posts in Teacher Education Institutions (TEIs), before the next academic session in the next 6 months.
- xxix. State Govt. would hold TET exams annually on a regular basis and would do the following analysis of the results of the TET:
  - i. Pass percentage of DIET students as against the overall State average.
  - ii. Comparative picture of pass percentage of students in Govt. institutions as against students in Pvt. Institutions.

#### 6. EXPECTED OUTCOMES

In the meeting, the following specific outcomes were agreed to:

- i. State would document their best practices and initiatives and subsequently upload it on the School Education SHAGUN website. This would enable the State to showcase its successes and would provide a platform for all States and UTs to learn from each other.
- ii. For the year 2017-18, State has identified 103190 Out of School Children (OoSC) and it has committed that all children will be enrolled in schools during 2018-19.
- iii. Dropout rate will be reduced at elementary level and secondary level especially for girls.
- iv. The State has committed to complete the civil works of the previously approved whose construction work has yet not started.
- v. The State would fill up the vacancies of teachers and headmasters at all levels.
- vi. The State will share database of all CWSN children on PMS portal of Samagra Shiksha.
- vii. State would integrate their MIS on students, teachers and schools with the Shaala Kosh software developed by the Department.
- viii. The State will ensure that all commitments under RTE Act, 2009 are fulfilled.
- ix. The State will revise the district plans as per the approved AWP&B and share with the Department by 15<sup>th</sup> August, 2018.

- x. NAS results would be thoroughly analyzed and learning gaps identified. Strategic interventions in pedagogic methodologies and teacher training should be devised to improve the learning outcomes.
- xi. State has mostly stand-alone secondary schools, which may be a factor for high drop out at secondary level especially for girls. It will explore a mechanism for smooth administrative transition of students from elementary level to secondary level.

#### 7. TOTAL ESTIMATED BUDGET (2018-19)

The PAB estimates for the AWP&B for 2018-19 is as under: -

(Rs. in lakh)

Head	Spill over	Non- Recurring (Fresh)	Recurring (Fresh)	Total
Elementary	20725.68	4008.00	165382.74	190116.42
Secondary	63955.41	3481.00	17865.18	85301.59
Teacher Education	0.00	187.60	1792.49	1980.09
Total	84681.09	7676.60	185040.40	277398.09

#### 8. ACTUAL RELEASES BY GOI DURING 2018-19

Against the above estimates, Central Government shall provide to the State Government Rs. 1101.73 crore as its share (Rs. 813.08 crore for elementary, Rs. 282.67 crore for secondary & senior secondary and Rs. 5.98 crore for Teacher Education). The State would contribute Rs. 734.48 crore as its State share matching the above Central share as per the existing fund sharing pattern of Samagra Shiksha.

It is recommended that the State should meet the balance amount from its own resources including the additional funds devolved under the 14th Finance Commission. As per Section 7(5) of the RTE Act, 2009, the State Government shall after taking into consideration the sum provided by the Central Government above and the mandatory matching State share, provide the balance funds necessary to fulfill the estimate for the implementation of the Act.

It is likely that additional funds will be received subsequently during the year. A meeting for considering supplementary releases may, therefore, be held in the month of September-October, 2018.

The release of funds under the scheme will be further guided by the following conditions:

- (i) State should release/transfer the central share to State implementing Society within 15 days of its receipt in the State treasury.
- (ii) The State share should be released to the State Implementing Society within one month of the release of the central share.
- (iii) All releases by the Centre would be subject to fulfillment of provisions of GFR by the State.
- (iv) The 1st Installment would be released based on provisional utilization certificate for 2017-18 and subject to full release of proportionate State share.
- (v) The second installment would be released only after (a) the proportionate installment of State/UT share has been released; (b) at least 50% expenditure against available funds has been incurred; (c) utilization certificate has been submitted for funds released in the year 2017-18; (d) Audit report has been submitted for the year 2017-18 and (e) Annual Report upto the year 2016-17 has been submitted.

#### 9. ACTIVITY-WISE DETAILS

#### I. ACCESS AND RETENTION

- (i) **Residential Schools:** Two Residential Schools with capacity of 100 children each are already sanctioned to the State. An outlay of Rs. 84.80 Lakh was estimated for 2 schools.
- (ii) **Residential Hostels:** Thirteen Hostels with capacity of 100 children each are already sanctioned to the State. An outlay of Rs. 441.00 Lakh was estimated for 13 hostels.
- (iii) **Transport and Escort Facilities:** An outlay of Rs. 1965.36 Lakh was estimated for 32756 children in remote habitation.

#### II. RTE ENTITLEMENTS

- (i) **Free Uniforms:** An outlay of Rs. 18008.53 lakh was estimated for free uniforms for 3001422 children at Elementary level.
- (ii) **Free Textbooks:** An outlay of Rs. 9167.99 lakh was estimated for free textbooks for 2938545 children at Elementary level.
- (iii) Special Training for age appropriate admission of out-of-school children (OoSC) at Elementary Level: An outlay of Rs. 7639.40 lakh was estimated for residential/non-residential special trainings, interventions for migrant children and for coverage of religious institutions.
- (iv) **Media and Community Mobilization**: An outlay of Rs. 658.80 lakh was estimated for 37928 Elementary and 5992 Secondary schools for media and community mobilization activities.

(v) **Training of SMC/SDMC:** An outlay of Rs 666.30 lakh was estimated for training of SMCs/SDMCs members in 19214 Elementary and 2996 Secondary schools.

#### III. QUALITY INTERVENTIONS:

(i) Funds for Quality (LEP, Innovation, Guidance, etc): An outlay of Rs. 14019.33 lakh was estimated for different Quality related interventions at Elementary and Secondary level. Programmes approved at Elementary level are Logic Language Life Skills (LLL Programme), Ganitha Kalitha Andolana, Mother tongue based multi lingual education in tribal areas, local dialect programme and Vindam Nerchukundam Programme, Learning Enchancement programme and other innovation programme.

Programmes approved at Secondary and Senior Secondary level are Vidhyarthi Nestham, Career Guidance/ Counseling, Computational Thinking, Social Media Campaigns, Kala Utsav, Learning Enhancement Programme and other innovation programme, etc.

- (ii) **Training of In- Service Teachers, Head Teachers:** A total outlay of Rs. 2224.09 Lakh was estimated for in-service trainings (I to XII Class), out of which
  - a) For In-Service Training (Class I- VIII) an outlay of Rs. 695.70 Lakh was estimated for 10 days training of teachers of Class I-VIII
  - b) For **In-Service Training (Class IX- XII)** an outlay of Rs. 731.66 Lakh was estimated for 10 days Maths, Science & other specific subject trainings and 5 days physical educators training.
  - c) For Induction Training (Elementary and Secondary) an outlay of Rs. 300.00 Lakh was estimated for 5000 primary and Rs. 323.10 Lakh 5385 secondary teachers for 20 days.
  - d) For Resource Persons and Master Trainers training (Elementary and Secondary) an outlay of Rs. 23.40 Lakh was estimated for elementary and Rs. 62.40 Lakh for secondary level resource persons and master trainers for 10 days.
  - e) For School Leadership Training of Head Teachers/Principals/RPs (Elementary and Secondary) an outlay of Rs. 0.21 lakh was estimated for 52 Head teachers at elementary level and Rs. 62.40 Lakh was estimated for 1300 Head teachers at Secondary level. For one month certificate course on School Leadership Training Program, an outlay of Rs. 6.00 Lakh was estimated.
  - f) For **Training of Educational Administrators (Elementary and Secondary)** an outlay of Rs 17.00 Lakh was estimated for elementary level and Rs. 2.22 for Secondary level for 5 days training.
- (iii) **Composite School Grant:** An outlay of Rs 14597.75 lakh was estimated for composite school grant for 44603 schools as per enrolment norms. These funds should be utilized as per the guidelines laid down for utilization of school grant.

(iv) Padhe Bharat Badhe Bharat (Library Grant): - An annual library grant was estimated with the total outlay of Rs 2235.02 lakh for 36354 schools.

The funds for books and libraries need to be utilized in accordance with the detailed guidelines being issued by MHRD. The following points need to be kept in mind:

- a) Age appropriate books published by NCERT, NBT, State Government Publications, SCERT may be procured.
- b) States/UTs may try to set up Readers' Club in schools in a phased manner with the help of National Centre for Children's Literature(NCCL), a wing of National Book Trust.
- c) During the first year, no magazines and newspapers can be procured from the funds meant for library books.
- d) States/UTs may constitute a committee to select age appropriate books from NCERT and NBT and to make guidelines for use of libraries including number of periods in the govt. schools.
- e) The schools may make provision of Reading Room/Reading Corner/Reading space and two periods in a week may be dedicated as reading periods in school time table.
- f) One teacher may be given the additional responsibility of custody of library books, issuing and receiving back of books who in turn may be relaxed from teaching for two periods in a week.
- (v) Rashtriya Avishkar Abhiyan (RAA): An outlay of Rs. 1116.80 lakh was estimated for various activities like Science exhibitions, study trips, quiz Competitions, Science Exhibition / Book Fair, Exposure Visits within and outside State, learning enhancement (remedial teaching), Science and Maths kits etc.
- (vi) ICT and Digital Initiatives:- An outlay of Rs. 3000.00 lakh was estimated for blended learning programme (for digital classrooms) in 1000 Secondary Schools. The blended learning model coupled with the pre-existing infrastructure of the digital classroom will allow tracking of student learning behavior and giving teachers the opportunity to support their classes despite their heterogeneous styles of learning. The list of schools is at Annexure II. For Shaala Kosh, Rs. 480.00 Lakh was estimated to implement 24 modules in all 44781 Government Secondary and Higher Secondary Schools.

The utilization of these funds need to be in accordance of the detailed Guidelines issued under Operation Digital Board. The following need to be kept in mind, specifically, during procurement:

a) Inventory of each item will be maintained and the concerned school Principal will be in-charge of ensuring that all hardware and

- software has been marked as inventory items. The record of ICT inventory, school wise, has to be maintained online and made available to MHRD as and when required.
- b) States and UTs have to ensure that Annual Maintenance Contract (AMC) for each hardware item procured under ICT scheme has been entered into.
- c) In order to ensure that computers installed in the schools are being used, software which indicates when the computers are turned on or off, linked to the State server, must be put in place.
- d) As per IT Act 2000 it has to be ensured that effective firewalls and appropriate control filters and monitoring software mechanism are installed in all computers in schools. Please consult local NIC for installing a government approved, free firewall.
- (vii) **Support to Pre-Primary Level:** An outlay of Rs. 546.43 Lakh was estimated for developing learning infrastructure in the anganwadis and Teaching Learning Material in 1031 schools.
- (viii) Academic support to through BRC/URC/CRC: An outlay of Rs. 9698.85 Lakh was estimated for BRC support and salaries of CWSN Resource persons (1360), MIS Coordinators (680), Data Entry Operators (680) and Accountants (727). For CRC support, an outlay of Rs. 12263.36 Lakh was estimated for the salary of CRC Coordinator (4034), Meeting TA and Contingency, etc.

#### IV. Teacher Education:

- (i) Strengthening of Physical Infrastructure & Establishment of new DIETs: An outlay of Rs. 98.00 Lakh was estimated for equipment for DIETs and SCERT.
- (ii) **DIKSHA (National Teacher Portal):** An outlay of Rs. 246.00 Lakh was estimated for the implementation of DIKSHA activities.
- (iii) Salaries of Teacher Educators: An outlay of Rs. 926.64 Lakh was estimated for salaries of faculty members in 13 DIETs.
- (iv) **Training for Teacher Educators**: An outlay of Rs.1.25 Lakh was estimated for residential training programme for 26 teacher educators.
- (v) Programme & Activities including Faculty Development of Teacher Educators: An outlay of Rs. 355.00 Lakh was estimated for the activities of SCERT, 13 DIETs and 01 IASEs.

Under Program & Activities including faculty development of Teacher Educators of DIETs, Rs. 325 Lakh (Rs.130.00 Lakh for faculty development + Rs. 195.00 Lakh for program & Activities) was estimated. Amount sanctioned under the head is recommended for the activities all the DIETs as well as for the SCERT.

- (vi) **Technology Support to TEIs:** An outlay of Rs. 123.20 Lakh was estimated under non-recurring and recurring technology support for SCERT and 13 DIETs.
- (vii) **Annual Grant for TEIs:** An outlay of Rs. 230.00 Lakh was estimated for annual grants for SCERT and 13 DIETs.
- V. Sports and Physical Education: An outlay of Rs. 79.70 Lakh was estimated for sports and Physical education activities in 7970 primary schools.
  - a) The utilising the funds for sports and physical education, needs to be in accordance with the detailed guidelines being issued by MHRD. The following points needs to be kept in mind:
  - b) Age appropriate sports equipments for government schools may be procured as per the guidelines to be issued by this Department to the States/UTs. The States/UTs may if they so desire, procure items from beyond this list subject to its actual requirement being certified by the head of school.
  - c) Age appropriate sports activities may be organised in the government schools of States/UTs as per the guidelines to be issued by this Department. Schools may include traditional/regional games of the respective State/Region.
  - d) For maintaining workable stock position of sports equipments, periodic record may be maintained including workable equipment, repairable equipment, write-off equipment and new items to be purchased to maintain the required stock position.
  - e) One responsible person/PET/Teacher in-charge may be given the responsibility to take care of the equipments and maintaining the stock position of sports equipments in the school.

#### VI. Teacher Salary (HMs/Teachers):

An Outlay of Rs. 41469.96 lakh was estimated as financial support for teachers as per norms of the Scheme. It was advised to the State, that the State will take care for any additionalities of teachers. Samagra Shiksha receives financial grant on annual basis. Therefore, it is not feasible to carry forward the financial liability of the current financial year (2018-19) to subsequent financial years.

#### VII. GENDER AND EQUITY:

- (i) Kasturba Gandhi Balika Vidyalaya (KGBVs): A total outlay of Rs. 33771.29 Lakh was estimated for 495 KGBVs. List of KGBVs is at Annexure –III. In 2018-19, 31 KGBVs have been upgraded to Class XII and 244 KGBVs have been upgraded to Class X.
- a) An outlay of Rs. 4531.05 Lakh was estimated for 77 Type I KGBVs.
- b) An outlay of Rs. 19216.08 Lakh was estimated for 244 Type II KGBVs.

- c) An outlay of Rs. 6454.88 Lakh was estimated for 31 Type III KGBVs.
- d) An outlay of Rs. 3569.28 Lakh was estimated for 143 Type -IV KGBVs (where hostel building is completed).
- (ii) **Special Projects for Equity:** An outlay of Rs. 8.00 Lakh was estimated for SC/ST activities in 8 special focus districts, Rs. 595.35 Lakh was estimated for training in Martial Arts to 6615 girls in Secondary and Higher Secondary Schools and Rs. 13.00 Lakh was estimated for career guidance programme for girls in 13 districts.
- VIII. Inclusive Education: An outlay of Rs. 3319.72 lakh was estimated for various student oriented interventions like sports and exposure visits, transportation allowance, therapeutic services, sports events, orientation of Principals, Educational administrators, parents, etc.
- IX. Vocational Education at Secondary and Higher Secondary: 50 new schools approved for vocational education. List of Schools is at *Annexure-IV*. An outlay of Rs. 3412.18 Lakh was estimated for various activities as per norms of the scheme.
- X. MIS: An outlay of Rs. 76.91 lakh was estimated for MIS and activities under Shaalakosh.
- XI. **Programme Management:** An outlay of Rs. 9177.00 lakh (5% of the total estimated outlay) was estimated for programme management.
- XII. Spill Over: There is a spillover of Rs. 84681.09 lakh on account of civil interventions estimated under Elementary and Secondary Education programme in previous years. The State was asked to complete these works in 2018-19. The detail on component-wise spillover activities approved under Samagra Shiksha in respect of the State of Andhra Pradesh is attached at *Annexure V*.
- **XIII.** The detailed cost sheet indicating the component wise proposal and approval for the State of Andhra Pradesh is attached at *Annexure VI*.

The meeting ended with a Vote of Thanks to the Chair.

\*\*\*\*

Participants of the Project Approval Board(PAB) meeting held on 9th May, 2018 for approval of Annual Work Plan & Budget 2018-19 of Andhra Pradesh under centrally Sponsored Scheme of the Samagra Shiksha.

#### **List of Participants**

- 1. Shri. Maneesh Garg, Joint Secretary, MHRD
- 2. Ms. Meenakshi Jolly, Director, MHRD
- 3. Ms. Purnima Tudu, Under Secretary, MHRD

#### Representatives from Andhra Pradesh State:

- 1. Shri Adityanath Das, Spl. Chief Secretary (SE)
- 2. Ms. K. Sandhya Rani, Commissioner (SE)
- 3. Shri G. Srinivas, SPD
- 4. Shri P, Prabhakar Rao, Director, RMSA, AP
- 5. Shri G. Vijaya Kumar, State Co-ordinator, IEDSS
- 6. Shri M. Krishna Rao, SCERT
- 7. Smt. Sakunthala, SCERT

#### TSG-Samagra Shiksha:

1. Ms. Swati Chawla, Consultant, State Coordinator

#### TSG Samagra Shiksha:

Consultants of TSG

#### **SMAGRA SHIKSHA**

# ANNUAL WORK PLAN & BUDGET (2018-19) ANDHRA PRADESH ICT & DIGITAL INITIATIVES (SCHOOL APPROVED)

S No	DISTNAME	BLKNAME	SCHCD	SCHNAME	MANAGEMENT	CATEGORY
1	SRIKAKULAM	RAJAM	28110490411	GHS RAJAM	State Govt.	Secondary with grades 6 to 10
2.	SRIKAKULAM	RANASTHALAM	28110700806	ZPHS JR PURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
3.	SRIKAKULAM	ETCHERLA	28110801705	ZPHS ALLINAGARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
4.	SRIKAKULAM	PONDURU	28110901211	GHS PONDURU	State Govt.	Secondary with grades 6 to 10
5.	SRIKAKULAM	SANTHAKAVITI	28111001803	ZPHS SANTHKAVITI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
6.	SRIKAKULAM	SRIKAKULAM	28111901608	ZPHS SINGUPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
7.	SRIKAKULAM	SRIKAKULAM	28111990653	GHS SRIKAKULAM	State Govt.	Secondary with grades 6 to 10
8.	SRIKAKULAM	GARA	28112000404	ZPHS GARA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
9.	SRIKAKULAM	NARASANNAPETA	28112203113	ZPHS NARASANNAPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
10.	SRIKAKULAM	SARAVAKOTA	28112402603	ZPHS SARAVAKOTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
11.	SRIKAKULAM	PATHAPATNAM	28112502212	GHS PATHAPATNAM	State Govt.	Secondary with grades 6 to 10
12.	SRIKAKULAM	TEKKALI	28112704825	GHS_TEKKALI	State Govt.	Secondary with grades 6 to 10
13.	SRIKAKULAM	KOTABOMMALI	28112802413	ZPHS KOTABOMMALI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
14.	SRIKAKULAM	KOTABOMMALI	28112803707	ZPHS NIMMADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
15.	SRIKAKULAM	SOMPETA	28113401308	GHS SOMPETA	State Govt.	Secondary with grades 6 to 10
16.	SRIKAKULAM	SOMPETA	28113402005	GHS BARUVA	State Govt.	Secondary with grades 6 to 10
17.	SRIKAKULAM	KAVITI	28113601419	GHS KAVITI	State Govt.	Secondary with grades 6 to 10
18.	SRIKAKULAM	ICHAPURAM	28113790218	GHS ICHAPURAM	State Govt.	Secondary with grades 6 to 10
19.	VIZIANAGARA					
	M	KOMARADA	28120105409	ZPHS KOMARADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
20.	VIZIANAGARA					
	M	KURUPAM	28120305811	ZPHS KURUPAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
21.	VIZIANAGARA					
	M	GARUGUBILLI	28120502804	ZPHS GARUGUBILLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
22.	VIZIANAGARA					
	M	PARVATHIPURAM	28120604305	ZPHS NARSIPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
23.	VIZIANAGARA	BALIJIPETA	28120901706	ZPHS BALIPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

		•				
	M					
24.	VIZIANAGARA	RAMABHADRAPU		· .		
_	M	RAM	28121300610	ZPHS RB PURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
25.	VIZIANAGARA			_		7
	М	THERLAM	28121502407	ZPHS THERLAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
26.	VIZIANAGARA	MERAKAMUDIDA	_		<u> </u>	, ,
	M	M	28121601205	ZPHS M M DAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
27.	VIZIANAGARA					
	M	MENTADA	28121802902	ZPHS CHALLAPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
28.	VIZIANAGARA					
	M	BONDAPALLI	28122001908	ZPHS BONDAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
29.	VIZIANAGARA					
	M	CHEEPURUPALLI	28122300217	ZPHS CHEEPURUPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
30.	VIZIANAGARA					
	M	CHEEPURUPALLI	28122302103	ZPHS PEDANADIPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
31.	VIZIANAGARA	SRUNGAVARAPU				
	M	KOTA	28123001719	ZPHS (G) SKOTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
32.	VIZIANAGARA	SRUNGAVARAPU	·			
	M	KOTA	28123001720	GHS SKOTA	State Govt.	Secondary with grades 6 to 10
33.	VIZIANAGARA	SRUNGAVARAPU				
		KOTA	28123002106	ZPHS DHARMAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
34.	VIZIANAGARA					
	M	VEPADA	28123101006	ZPHS VEPADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
. 35.	VIZIANAGARA	LAKAVARAPUKOT				
	M	A	28123200202	ZPHS GOLIAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
36.	VIZIANAGARA	LAKAVARAPUKOT				
- 27	M	Α	28123200504	ZPHS KOTYADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
37.	VIZIANAGARA	LAKAVARAPUKOT	2040000000			
20	M	A	28123200705	ZPHS L KOTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
38.	VIZIANAGARA	LAKAVARAPUKOT				
20	M	Α	28123200905	ZPHS CHANDULURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
39.	VIZIANAGARA	LAKAVARAPUKOT	204222222	70116 V D D564		
40	M	A LAKAMARA PLUKOT :	28123202804	ZPHS K P REGA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
40.	VIZIANAGARA	LAKAVARAPUKOT	204222022	7016 64161101101		
41	VIZIANAGARA	Α	28123203204	ZPHS GANGUBUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
41.		IABAL	20122201444	7016 1444	1100 700 60U00: 6	
	M	JAMI	28123301411	ZPHS JAMI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

42.	VIZIANAGARA					
	M	KOTHAVALASA	28123401509	ZPHS VIYYAMPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
43.	VIZIANAGARA					
	M	KOTHAVALASA	28123402202	ZPHS DENDERU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
44.	VIZIANAGARA					
	_ M	KOTHAVALASA	28123490711	ZPHS KOTHAVALASA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
45.	VISAKHAPATN			GOVT HS		
	AM	ARAKUVALLEY	28130590507	KANTABAMSUGUDA	State Govt.	Secondary with grades 6 to 10
46.	VISAKHAPATN					
	AM	DEVARAPALLI	28130700404	GOVT HS Devarapalli	State Govt.	Secondary with grades 6 to 10
47.	VISAKHAPATN			,		
	AM	CHEEDIKADA	28130801102	ZPHS Turuvolu	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
48.	VISAKHAPATN					
	AM	V.MADUGULA	28130900502	ZPHS M. KODURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
49.	VISAKHAPATN					
	AM	V.MADUGULA	28130900605	ZPHS(B) MADUGULA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
50.	VISAKHAPATN					
	AM	V.MADUGULA	28130902302	ZPHS VOMMALI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
51.	VISAKHAPATN					
	AM	V.MADUGULA	28130902803	ZPHS K.J.PURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
52.	VISAKHAPATN					
	AM	V.MADUGULA	28130903702	ZPHS VERANARAYANAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
53.	VISAKHAPATN	WAAA DUGUUA	20420004400	70.16.101.71.1.1	****	
	AM	V.MADUGULA	28130904102	ZPHS KINTHALI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
54.	VISAKHAPATN	DADEDII	20121002706	COVITAIN De de	Charles Care A	5 1 11 1 5 10
	VISAKHAPATN	PADERU	28131003706	GOVT HS Paderu	State Govt.	Secondary with grades 6 to 10
55.	AM	COLLICONDA	20121500402	ZPHS AGENCY	MADD ZDD CCUCOLC	Sacradaministra I. Ct. 40
56.	VISAKHAPATN	GOLUGONDA	28131500403	LAXMIPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
50.	AM	GOLUGONDA	20121501005	ZDUS IOCANADETA	MDD 7DD CCUOOLS	Sacandan with and a Ct 12
57.	VISAKHAPATN	GOLOGOINDA	28131501005	ZPHS JOGAMPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
3/.	AM	COLLICONDA	20121502201	7DUS CUEEDIGLINANAALA	MDD 7DD CCHOOLS	Sacandam with ared a C to 10
58.	VISAKHAPATN	GOLUGONDA	28131502301	ZPHS CHEEDIGUMMALA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
30.	AM	NATHAVARAM	28131600508	70UCD Vorrouges	MDD 7DD CCUCOLS	Secondary with grades 6 to 40
59 <i>.</i>	VISAKHAPATN	INATHAVARAIVI	20131000300	ZPHS D. Yerravaram	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
J9.	AM	NATHAVARAM	28131601205	ZPHS Nathavaram	MPP ZPP SCHOOLS	Socondon, with grades C to 10
60.	VISAKHAPATN		28131700710	·	<del></del>	Secondary with grades 6 to 10
<u> </u>	VIDANHAPATN	NARASIPATNAM	7912T/00/10	ZPHS (G), NRPM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

			<del>-</del>			
	AM					
61.	VISAKHAPATN					
	AM	NARASIPATNAM	28131700711	ZPHS NARSIPATNAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
62.	VISAKHAPATN					
	AM	NARASIPATNAM	28131700812	ZPHS P.B. PALLLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
63.	VISAKHAPATN					
	AM	NARASIPATNAM	28131701212	ZPHS (G), VEMULAPDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
64.	VISAKHAPATN					<u> </u>
	AM	NARASIPATNAM	28131701213	ZPHS VEMULAPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
65.	VISAKHAPATN					
	AM	ROLUGUNTA	28131802405	ZPHS Rolugunta	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
66.	VISAKHAPATN					
	AM	ROLUGUNTA	28131802704	ZPHS J. Naidupalem	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
67.	VISAKHAPATN					
	AM	RAVIKAMATHAM	28131900603	ZPHS T. ARJAPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
68.	VISAKHAPATN					
	AM	RAVIKAMATHAM	28131901302	ZPHS CHINAPACHILA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
69.	VISAKHAPATN	DANGKARATIKARA				
 70.	AM	RAVIKAMATHAM	28131901905	ZPHS RAVIKAMATHAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
70.	VISAKHAPATN AM	DAMIZABAATILABA	20424000000	70.10.1.70.1.70		
71.	VISAKHAPATN	RAVIKAMATHAM	28131902203	ZPHS MEDIVADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
/ 1.	AM	RAVIKAMATHAM	20121002010	ZDUC KOZUAKOTA		
72.	VISAKHAPATN	NAVIKAIVIA I HAIVI	28131902810	ZPHS KOTHAKOTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
,	AM	BUTCHIAHPETA	28132000505	7DUC VADDADI	MADD TRR SOLICOLS	
 73.	VISAKHAPATN	BOTCHIAHFLIA	28132000303	ZPHS VADDADI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	AM	BUTCHIAHPETA	28132000802	ZPHS DIBBIDI	MDD ZDD CCUOOLC	Consorder with and do C to 10
74.	VISAKHAPATN	BOTCHIII ETA	20132000802	ZF113 DIBBIDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	AM	BUTCHIAHPETA	28132002503	ZPHS SEETHAYYAPETA	MPP_ZPP SCHOOLS	Socondary with grades 6 to 10
75.	VISAKHAPATN		20202002	ZI 113 SEETIIATTAI ETA	WIFF_ZFF 3CHOOL3	Secondary with grades 6 to 10
	AM	ВИТСНІАНРЕТА	28132003102	ZPHS RAJAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
76.	VISAKHAPATN			21710 10 0710	WITT_ZIT SCHOOLS	Secondary with grades 0 to 10
	AM	CHODAVARAM	28132100202	ZPHS LAXMIPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
77.	VISAKHAPATN					Secondary with grades o to to
	AM	CHODAVARAM	28132100504	ZPHS LAKKAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
78.	VISAKHAPATN				14111 _211 3011000	Secondary with grades o to to
	AM	CHODAVARAM	28132101611	ZPHS (G) CDM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

79.	VISAKHAPATN					·
	AM	CHODAVARAM	28132101612	GOVTHS GANDHIGRAM	State Govt.	Secondary with grades 6 to 10
80.	VISAKHAPATN					
	AM	CHODAVARAM	28132102102	ZPHS GOVADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
81.	VISAKHAPATN					
_	AM	K.KOTAPADU	28132201706	ZPHS Alamanda Koduru	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
82.	VISAKHAPATN					
	AM	K.KOTAPADU	28132202004	ZPHS K KOTAPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
83.	VISAKHAPATN					
	AM	K.KOTAPADU	28132203104	ZPHS Chowduvada	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
84.				ZPHS		
	VISAKHAPATN			MALLUNAIDUPALEM(PA		
	AM	SABBAVARAM	28132301002	RT	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
85.	VISAKHAPATN	CADDAVADANA	20422204200	COLUMNIC CARRANA		
<u> </u>	VISAKHAPATN	SABBAVARAM_	28132301308	GOVTHS SABBAVARAM	State Govt.	Secondary with grades 6 to 10
86.		CADDAVADARA	20122201704	ZDUC ADIDAKA	MADD ZDD CCUCOLC	Sd
87.	VISAKHAPATN	SABBAVARAM	28132301704	ZPHS ARIPAKA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
07.	AM	SABBAVARAM	28132303102	ZPHS NANGINARAPADU	MADD 7DD CCUCOLC	Secondary with grades 6 to 10
88.	VISAKHAPATN	JADDAVARAIVI	20152505102	ZPHS NANGINAKAPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
00.	AM	PENDURTHY	28132400902	ZPHS V Juthada	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
89.	VISAKHAPATN	TENDORITH	20132400302	Zi i i i v Jutilada	WIT _ZIT SCHOOLS	Secondary with grades o to 10
05.	AM	PENDURTHY	28132401114	GOVT HS Pendurthi (PT)	State Govt.	Secondary with grades 6 to 10
90.	VISAKHAPATN	7 2.100 0111111	20102 101111	- COVITION CHARLET (1 1)	State Cort.	Secondary With Braces of to 10
	AM	PENDURTHY	28132401708	ZPHS Narava	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
91.	VISAKHAPATN			ZPHS Chinthala		,
	AM	PENDURTHY	28132401903	Agraharam	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
92.	VISAKHAPATN			<u>.                                    </u>	_	, , , , , , , , , , , , , , , , , , , ,
	AM	PENDURTHY	28132402312	ZPHS Vepagunta (PT)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
93.	VISAKHAPATN			ZPHS SIRLAPALEM		
	AM	ANANDAPURAM	28132500202	SRLAPLM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
94.	VISAKHAPATN		_			
	AM	ANANDAPURAM	28132501505	ZPHS GIDIJALA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
95.	VISAKHAPATN			,		
<u>.</u>	AM	ANANDAPURAM	28132502007	ZPHS ANANDAPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
96.	VISAKHAPATN					
	AM	ANANDAPURAM	28132502405	ZPHS BOYIPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

97.	VISAKHAPATN			T		
L_	AM	ANANDAPURAM	28132502605	ZPHS SONTYAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
98.	VISAKHAPATN				<u>.</u>	Secondary With Brades o to 10
<u> </u>	AM	PADMANABHAM	28132600504	ZPHS B.R.TALLAVALASA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
99.	VISAKHAPATN					
	AM	PADMANABHAM	28132601106	ZPHS REDDIPALLI AGRM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
100.	VISAKHAPATN					,
	AM	PADMANABHAM	28132602105	ZPHS PADMANBHAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
101.	VISAKHAPATN					
	<u>AM</u>	PADMANABHAM	28132602403	ZPHS REVIDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
102.	VISAKHAPATN	BHEEMUNIPATN				7 9
	AM	AM	28132700506	ZPHS Laxmipuram	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
103.	VISAKHAPATN	BHEEMUNIPATN				
	AM	AM	28132700603	ZPHS Tatituru	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
104.	VISAKHAPATN	BHEEMUNIPATN				
	AM	AM	28132790234	ZPHS 02ND WARD	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
105.	VISAKHAPATN	BHEEMUNIPATN				
	AM	AM	28132790235	ZPHS TALLAVALASA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
106.	VISAKHAPATN					
	AM	CHINAGADILA	28132801006	ZPHS ADAVIVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
107.	VISAKHAPATN	<b></b>				
400	AM	CHINAĠADILA	28132890937	ZPHS THOTAGARUVU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
108.	VISAKHAPATN			ZPHS (G)		
100	AM	CHINAGADILA	28132890939	GOPALAPATNAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
109.	VISAKHAPATN	CHALAGADUA				
110.	AM VISAKHAPATN	CHINAGADILA	28132890940	ZPHS GOPALAPATNAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
110.	AM	VISAKHAPATNAM URBAN	20122001001	GOVT. QUEEN MARYS		
111.	VISAKHAPATN	URDAN	28132991081	HS	State Govt.	Secondary with grades 6 to 10
111.	AM	GAJUWAKA	20122001204	70UC A CANANADUDI		
112.	VISAKHAPATN	GAJUVVAKA	28133001304	ZPHS AGANAMPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	AM	GAJUWAKA	20122000261	ZDLIC alden delte etc	14DD 7DD 66U 66U	
113.	VISAKHAPATN	GAJUWAKA	_28133090361	ZPHS akkireddipalem	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
<u></u>	AM	GAJUWAKA	28133090362	7DHC MINIDI	MDD 700 COUCOUS	Granden v. Mr. v. J. Gr. 43
114.	VISAKHAPATN	CHOWANA		ZPHS MINDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	AM	GAJUWAKA	28133090363	ZPHS Gajuwaka	MADD ZDD CCUCOLC	Conseder with an 1 51 40
115.	VISAKHAPATN	GAJUWAKA	28133090364	<del></del>	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	TION IN IN IN	OWOWAKA	20133090304	ZPHS KANITHI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

.

	AM					
116.	VISAKHAPATN	PEDAGANTAYAD				
	AM	A	28133190339	ZPHS NADUPURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
117.	VISAKHAPATN	PEDAGANTAYAD			1	
	AM	Α	28133190340	ZPHS ISLAM PETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
118.	VISAKHAPATN	PEDAGANTAYAD				
	AM	Α	28133190344	ZPHS GANGAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
119.	VISAKHAPATN					
	AM	PARAWADA	28133200605	ZPHS LANKELAPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
120.	VISAKHAPATN				,	
-	AM	PARAWADA	28133201806	ZPHS PARAVADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
121.	VISAKHAPATN					
	AM	PARAWADA	28133201807	ZPHS (G) PARAVADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
122.	VISAKHAPATN					
400	AM	PARAWADA	28133202310	ZPHS OCPALLI WEST	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
123.	VISAKHAPATN	40101/4004111	0040000000			
124	VISAKHAPATN	ANAKAPALLI	28133300603	ZPHS Mamidipalem	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
124.	AM	ANIAKADALLI	20122201502	7011616	MADD TOD COLLOGIA	
125.	VISAKHAPATN	ANAKAPALLI	28133301602	ZPHS Kundram	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
123.	AM	ANAKAPALLI	28133302113	ZPHS Thummapala	MPP_ZPP SCHOOLS	Secondary with grades C to 10
126.	VISAKHAPATN	ANANAFALLI	28133302113	ZETIS (Huminapaia	WIPP_ZPP 3CHOOL3	Secondary with grades 6 to 10
120,	AM	ANAKAPALLI	28133303302	ZPHS K.Koppaka	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
127.	VISAKHAPATN	111111111111111111111111111111111111111	202000000	Li 110 Kinoppuna	1411 1 20110 0L3	Secondary with grades o to 10
	AM	MUNAGAPAKA	28133400404	ZPHS THOTADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
128.	VISAKHAPATN					Secondary With Brades o to 10
	AM	MUNAGAPAKA	28133401407	ZPHS MUNAGAPAKA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
129.	VISAKHAPATN					, , , , , , , , , , , , , , , , , , , ,
	AM	MUNAGAPAKA	28133402202	ZPHS GANAPARTHI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
130.	VISAKHAPATN					
	AM	KASIMKOTA	28133500808	ZPHS KASIMKOTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
131.	VISAKHAPATN					
	AM	KASIMKOTA	28133500809	ZPHS (G), KASIMKOTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
132.	VISAKHAPATN					
	AM	KASIMKOTA	28133501406	ZPHS THALLAPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
133.	VISAKHAPATN					
L	AM	KASIMKOTA	28133501804	ZPHS E.CHODAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

134.	VISAKHAPATN					
	AM	KASIMKOTA	28133502002	ZPHS NARASINGABILLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
135.	VISAKHAPATN	MAKAVARAPALE				
	AM	M	28133600507	ZPHS BURUGUPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
136.	VISAKHAPATN	MAKAVARAPALE				
	AM	M .	28133601302	ZPHS GIDUTHURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
137.	VIŠAKHAPATN	MAKAVARAPALE				
	AM	M	28133601606	ZPHS MAKAVARAPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
138.	VISAKHAPATN	MAKAVARAPALE				
	AM	М	28133602506	ZPHS G. KODURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
139.	VISAKHAPATN					
	AM	KOTAURATLA	28133700103	ZPHS PAMULAVAKA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
140.	VISAKHAPATN					
	AM	KOTAURATLA	28133701103	ZPHS JALLURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
141.	VISAKHAPATN			ZPHS	•	
110	AM	KOTAURATLA	28133701508	KOTAURATLA(GIRLS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
142.	VISAKHAPATN					
442	AM	KOTAURATLA	28133701509	GOVTHS KOTAURATLA	State Govt.	Secondary with grades 6 to 10
143.	VISAKHAPATN	D4V4V4D40D5=1				
144	AM	PAYAKARAOPETA	28133800115	GOVTHS P.R.PETA	State Govt.	Secondary with grades 6 to 10
144.	VISAKHAPATN	DAVAKADAODETA	20422000405	70.10 (2)		
145.	VISAKHAPATN	PAYAKARAOPETA	28133800126	ZPHS (G) P.R.PETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
145.	AM	DAVAKADAODETA	20422000502	70.15.14.116.11.41		
146.	VISAKHAPATN	PAYAKARAOPETA	28133800503	ZPHS MANGAVAMRAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
140.	AM	DAVAKADAODETA	20122200004	ADJR ZPHS		
147.	VIŠAKHAPATN	PAYAKARAOPETA	28133800804	SATYAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
14/.	AM	PAYAKARAOPETA	28133801304	7DUC DATAMACADARA	MADD 7DD COULOUS	
148.	VISAKHAPATN	FATAKARAOFETA	20133001304	ZPHS RAJANAGARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
140.	I AM	PAYAKARAOPETA	28133801502	ZPHS S. NARASAPURAM	MDD 7DD CCHOOLC	
149.	VISAKHAPATN	TATAMANAOTETA	20133801302	ZPTIS S. IVANASAPUNAIVI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	AM	PAYAKARAOPETA	28133801603	ZPHS PALTERU	MDD ZDD SCHOOLS	Sagandam with and a C to 10
150.	VISAKHAPATN	·	20133001003	ZPHS	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	AM	NAKKAPALLI	28133900803	CHINADODDIGALLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
151.	VISAKHAPATN			CHIRADODDIOALLO	MIT_ZEE SCHOOLS	accountary with grades 6 to 10
	AM	NAKKAPALLI	28133901604	ZPHS GODICHERLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
152.	VISAKHAPATN	NAKKAPALLI	28133902003	ZPHS D.L PURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
L					Little Later Schools	Decourally Mitti Rigges o to To

.

	AM					
153.	VISAKHAPATN					
	AM	NAKKAPALLI	28133902106	ZPHS VEMPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
154.	VISAKHAPATN		•			
	AM	NAKKAPALLI	28133902306	ZPHS (G) NAKKAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
155.	VISAKHAPATN					
	AM	NAKKAPALLI	28133902307	ZPHS NAKKAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
156.	VISAKHAPATN	ALAKKABALLI	,	Z.P.H.SCHOOL	AADD ZDD CCUOOLC	Samuel and the second of the 10
4 2 2	AM	NAKKAPALLI	28133902505	JANAKAYYAPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
157.	VISAKHAPATN	C DAYAYADARA	20124000202	ZDUC DARI ADUDI	MDD 7DD CCUOOLC	Secondary with grades 6 to 10
150	VISAKHAPATN	S.RAYAVARAM	28134000307	ZPHS DARLAPUDI ZPHS DH.	MPP_ZPP_SCHOOLS	Secondary with grades 6 to 10
158.	AM	S.RAYAVARAM	28134000602	AGHRAHARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
159.	VISAKHAPATN	J.RATAVARAIVI	26134000002	AGRIARANI	IVIEF_ZEF SCHOOLS	Secondary with grades 0 to 10
133.	AM	S.RAYAVARAM	28134000706	ZPHS S. RAYAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
160.	VISAKHAPATN	3.1\A\A\A\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	20134000700	LI 110 St INTINVALINI	I WILL TELL TOCHOOLS	Secondary with grades 5 to 15
100.	AM	S.RAYAVARAM	28134001904	ZPHS KORUPROLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
161.	VISAKHAPATN				<b>_</b>	, <u></u>
	AM	YELLAMANCHILI	28134100402	ZPHS SOMILINGAPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
162.	VISAKHAPATN	-				
	AM	YELLAMANCHILI	28134100819	ZPHS (GIRLS) YLM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
163.	VISAKHAPATN				1	
	AM	YELLAMANCHILI_	28134100910	ZPHS, KOTHAPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
164.	VISAKHAPATN					
	AM	YELLAMANCHILI	28134101007	ZPHS K P PURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
165.	VISAKHAPATN					
	AM	YELLAMANCHILI	28134101302	ZPHS ETI KOPPAKA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
166.	VISAKHAPATN	DANADULI	20124202202	ZDUC DIMILI	MADD ZDD CCUOOLC	Secondary with grades 5 to 10
1.07	AM	RAMBILLI	28134202202	ZPHS DIMILI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
167.	VISAKHAPATN AM	RAMBILLI	28134202809	ZPHS RAMBILLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
168.	VISAKHAPATN	RAIVIDILLI	28134202809	ZFH3 RAIVIDILLI	NIFF_ZFF 3CHOOL3	Secondary with grades 0 to 10
TOO.	AM	ATCHUTAPURAM	28134300602	ZPHS M.J. PURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
169.	VISAKHAPATN	A CHOIAI ONAM	20104300002	E 110 MIST ORNIN		Secondary With Braces of to 20
100.	AM	ATCHUTAPURAM	28134302807	ZPHS ATCHUTHAPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
170.	VISAKHAPATN	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		=:		
_, _,	AM	ATCHUTAPURAM	28134303104	ZPHS PUDIMADAKA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

.

GODAVARI   RAJAVOMMANGI   28140402   172.   EAST   GODAVARI   KOTANANDURU   28140501   173.   EAST   GODAVARI   KOTANANDURU   28140501   174.   EAST   CODAVARI   CODA	106 ZPHS KOTANANDURU ZPHS	MPP_ZPP SCHOOLS  MPP_ZPP SCHOOLS  MPP_ZPP SCHOOLS	Secondary with grades 6 to 10  Secondary with grades 6 to 10
GODAVARI KOTANANDURU 28140501 173. EAST GODAVARI KOTANANDURU 28140501	ZPHS		
173. EAST GODAVARI KOTANANDURU 28140501	ZPHS		Secondary with grades 6 to 10
GODAVARI KOTANANDURU 28140501		MPP 7PP SCHOOLS	
	BO3 BHIMAVARAPUKOTA	MPP ZPP SCHOOLS	
		11111_211 30110023	Secondary with grades 6 to 10
174. EAST KOTANANDURU 28140502			
GODAVARI KOTANANDURU 28140502	206 ZPHS PATHA KOTTAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	7015 4 0 1441 1445 144		
GODAVARI TUNI 28140600   176. EAST	102 ZPHS K O MALLAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
GODAVARI TUNI 28140600	705   ZPHS D POLAVARAM	MADD 7DD COULOUIC	S
177. EAST	703   ZPH3 D POLAVARAIVI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
GODAVARI TUNI 28140601	511 ZPHS V KOTHURU	MPP_ZPP SCHOOLS	Socondom with grades C to 10
178. EAST	ZI ZI IIS V KOTI OKO	MFF_ZFF 3CHOOLS	Secondary with grades 6 to 10
GODAVARI TUNI 28140601	511 ZPHS S ANNAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
179. EAST	21110071111117117117117	WIT_ZIT SCHOOLS	Secondary with grades 0 to 10
GODAVARI TUNI 28140601	701 ZPHS (G) TUNI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
180. EAST			Secondary With Brudes & to 18
GODAVARI TUNI . 28140602	.07 ZPHS TETAGUNTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
181. EAST		_	
GODAVARI TUNI 28140602	05 ZPHS HAMSAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
182. EAST			_
GODAVARI TUNI 281406914	30 SRGHS TUNI	State Govt.	Secondary with grades 6 to 10
183. EAST			
GODAVARI THONDANGI 281407003	.07 ZPHS BENDAPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
184. EAST			<u> </u>
GODAVARI THONDANGI 281407002	12 ZPHS THONDANGI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	13 70110 0 4 11 2 12 12 12 12		
GODAVARI THONDANGI 281407004	13 ZPHS DANAVAIPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
GODAVARI THONDANGI 281407009	12 7DUC ADDADIDETA	MADD 700 COULDOLG	
187. EAST	13 ZPHS ADDARIPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
GODAVARI THONDANGI 281407013	05 ZPHS A KOTHAPALLI	MDD 7DD COLOOLS	Socondany with grades C to 10
188.	ZPHS A KOTHAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
EAST	KOTHAPERUMALAPURA		
GODAVARI THONDANGI 281407015	I	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

÷

189.	EAST					
	GODAVARI	GOLLAPROLU	28140800306	ZPHS DURGADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
190.	EAST					
	GODAVARI	GOLLAPROLU	28140800506	ZPHS CHEBROLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
191.				ZPHS		
	EAST			GAJJALAMMAGUDI		
405	GODAVARI	GOLLAPROLU	28140800804	TATIPARTH	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
192.	EAST	COLLABBOLL	204 40000042	ZDUG (D) COLLADDOLLI	MADD 7DD COUGOLC	C
402	GODAVARI	GOLLAPROLU	28140800913	ZPHS (B) GOLLAPROLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
193.	EAST	COLLABBOLL	20140000014	ZDUC (C) COLLADDOLLI	MADD ZDD CCHOOLS	Secondary with grades 6 to 10
194.	GODAVARI EAST	GOLLAPROLU .	28140800914	ZPHS (G) GOLLAPROLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
194.	GODAVARI	SANKAVARAM	28140903004	ZPHS SANKHAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
195.	EAST	SAINKAVAKAIVI	28140903004	ZPDS SAINKHAVAKAIVI	IMPP_ZPP SCHOOLS	Secondary with grades 6 to 10
195.	GODAVARI	SANKAVARAM	28140904305	ZPHS KATHIPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
196.	EAST	SAINIAVAINAIVI	28140904303	ZFIIS KATIIII ODI	1411 1 3C1100L3	Secondary with grades o to 10
130.	GODAVARI	PRATIPADU	28141003104	ZPHS VOMMANGI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
197.	EAST	11000	20212000201	2.7.5 (5//////////	11111_ <u></u>	occontail, intil grades a to 10
	GODAVARI	PRATIPADU	28141003203	ZPHS LAMPAKALOVA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
198.	EAST					· · · · · · · · · · · · · · · · · · ·
	GODAVARI	PRATIPADU	28141003707	ZPHS PRATHIPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
199.	EAST		-			
	GODAVARI	PRATIPADU	28141004006	ZPHS DHARMAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
200.	EAST				•	
	GODAVARI	YELESWARAM	28141100606	ZPHS LINGAMPARTHI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
201.	EAST				,	
	GODAVARI	YELESWARAM	28141100714	ZPHS (G) YELESWARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
202.	EAST					
	GODAVARI	YELESWARAM	28141100715	GHS YELESWARAM	State Govt.	Secondary with grades 6 to 10
203.	EAST					
	GODAVARI	YELESWARAM	28141101103	ZPHS SIRIPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
204.	EAST	RAMPACHODAVA	0044400445	GHS		Granden W. S. L. Ct. 40
	GODAVARI	RAM	28141391110	RAMPACHODAVARAM	State Govt.	Secondary with grades 6 to 10
205.	EAST	SEETHANAGARA	204 44 500 700	CHC CETTUALL CARACA	Chata Caut	G
	GODAVARI	M	28141500708	GHS SEETHANAGARAM	State Govt.	Secondary with grades 6 to 10
206.	EAST	SEETHANAGARA	20141500007	ZPHS	MADD ZDD CCUCOLC	Coondon, with out to Cha 10
	GODAVARI	M	28141500807	RAGHUDEVAPURAM GP	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

				STREET		
207.	EAST	SEETHANAGARA			-	
<del></del>	GODAVARI	M	28141501105	ZPHS VEDULLA PALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
208.	EAST	SEETHANAGARA				
	GODAVARI	<u>M</u>	28141501502	ZPHS MIRTHIPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
209.	EAST			ZPHS		
	GODAVARI	KORUKONDA	28141600503	SRIRANGAPATNAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
210.	EAST GODAVARI	KOBLIKONDA	20444600640	6116 146 B 1 14 B 1 1 1		
211.	EAST	KORUKONDA	28141600610	GHS KORUKONDA	State Govt.	Secondary with grades 6 to 10
411.	GODAVARI	KORUKONDA	28141601004	ZPHS GADARADA	MADD 700 COURSE	
212.	EAST	KONOKONDA	28141001004	ZPHS DOSAKAYALA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
,	GODAVARI	KORUKONDA	28141601203	PALLI	MDD 7DD SCHOOLS	Sagandam with and day 6 to 10
213.	EAST	NO NO NO NO NO	20141001203	TALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	GODAVARI	KORUKONDA	28141601903	ZPHS GADALA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
214.	EAST			LI TIO GREATER	WITI_ZEFF SCHOOLS	Secondary with grades 6 to 10
	GODAVARI	GOKAVARAM	28141700211	ZPHS KAMARAJUPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
215.	EAST					occordary mangrades o to to
	GODAVARI	GOKAVARAM	28141700315	ZPHS GOKAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
216.	EAST		-	ZPHS RAMPA		,
	GODAVARI	GOKAVARAM	28141701105	YERRAMPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
217.	EAST					
	GODAVARI	JAGGAMPETA	28141800603	ZPHS MALLISALA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
218.	EAST					"
210	GODAVARI	JAGGAMPETA	28141800706	ZPHS RAJAPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
219.	EAST GODAVARI	IACCANADETA	204 44 004 000	7016 604 44 4 64		
220.	EAST	JAGGAMPETA	28141801002	ZPHS GOLLALAGUNTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
220.	GODAVARI	JAGGAMPETA	28141801611	CUC IACCANADETA	<u> </u>	
221.	EAST	JAGGAWIFETA	20141001011	GHS JAGGAMPETA	State Govt.	Secondary with grades 6 to 10
	GODAVARI	JAGGAMPETA	28141801906	ZPHS KATRAVULAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
222.	EAST			EI 110 KATIKATOEAI ALLI	WFF_ZFF 3CHOOLS	Secondary with grades 6 to 10
	GODAVARI	KIRLAMPUDI	28141900403	ZPHS GEDDANAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
223.	EAST					· · · · · · · · · · · · · · · · · · ·
<u> </u>	GODAVARI	KIRLAMPUDI	28141901005	ZPHS BURUGUPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
224.	EAST	,				
	GODAVARI	KIRLAMPUDI	28141901203	ZPHS THAMARADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

225.	EAST		<del></del>	<del></del>		
223.	GODAVARI	KIRLAMPUDI	28141901303	ZPHS VEERAVARAM	MARD 700 SCHOOLS	Salandam with grades 6 to 10
226.	EAST	KIKLAIVIFODI	20141901303	ZPIIS VEERAVARAIVI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
220.	GODAVARI	KIRLAMPUDI	28141901606	GHS KIRLAMPUDI	State Govt.	Secondary with grades 6 to 10
227.	EAST			ZPHS		, , , , , , , , , , , , , , , , , , , ,
•	GODAVARI	PEDDAPURAM	28142000302	CHANDRAMAMPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
228.	EAST	_				
	GODAVARI	PEDDAPURAM	28142000805	ZPHS KANDRAKOTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
229.	EAST		-			
	GODAVARI	PEDDAPURAM	28142001004	ZPHS KATTAMURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
230.	EAST			ZPHS		
	GODAVARI	PEDDAPURAM	28142002104	RAYABHUPALAPATNAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
231.	EAST				:	
	GODAVARI	PITHAPURAM	28142100703	ZPHS RAPARTHI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
232.	EAST					
	GODAVARI	PITHAPURAM	28142101103	ZPHS VIRAVA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
233.	EAST					
	GODAVARI	PITHAPURAM	28142101804	ZPHS VIRAWADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
234.	EAST					
	GODAVARI	PITHAPURAM	28142101903	ZPHS MALLAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
235.	EAST					
	GODAVARI	PITHAPURAM	28142102604	ZPHS CHITRADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
236.	EAST			SBMR GOVT (G) HS		
	GODAVARI	PITHAPURAM	28142190740	JAGGAYYA CHERUVU	State Govt.	Secondary with grades 6 to 10
237.	EAST			R R BH R GOVT HS OLD		
	GODAVARI	PITHAPURAM	28142190741	BUS STAND STREET	State Govt.	Secondary with grades 6 to 10
238.	EAST				·	
	GODAVARI	U.KOTHAPALLI	28142200411	ZPHS KONAPAPAPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
239.	EAST				r	
	GODAVARI	U.KOTHAPALLI	28142200505	ZPHS MULAPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
240.	EAST					
	GODAVARI	U.KOTHAPALLI	28142200905	ZPHS KONDEVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
241.	EAST	II KOTILA DALII	204 42204 4 22	70.15.14.14.77.77.7		
	GODAVARI	U.KOTHAPALLI	28142201103	ZPHS VAKATIPPA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
242.	EAST	LLKOTILABALLI	204 4222426	ZDUG VOTUA SALL	1400 HDD 45::	
242	GODAVARI	U.KOTHAPALLI	28142201205	ZPHS KOTHAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
243.	EAST	U.KOTHAPALLI	28142201510	ZPHS KOMARAGIRI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

	GODAVARI					<del></del>
244.	EAST	KAKINADA(RURAL				
	GODAVARI		28142300206	ZPHS PANDURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
245.	EAST	KAKINADA(RURAL				
	GODAVARI		28142300612	ZPHS VAKALAPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
246.	EAST	KAKINADA(RURAL				
	GODAVARI		28142300621	ZPHS SURYARARAOPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
247.	EAST	KAKINADA(RURAL				•
	GODAVARI		28142300809	ZPHS SARPAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
248.	EAST	KAKINADA(RURAL				
	GODAVARI	)	28142301206	ZPHS KOVVADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
249.	EAST	KAKINADA(RURAL				
250	GODAVARI	)	28142301513	ZPHS TOORANGI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
250.	EAST	KAKINADA(RURAL		ZPHS APSP QUARTERS		
251	GODAVARI EAST	VALUE A DA (DUDA)	28142391022	KKD	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
251.		KAKINADA(RURAL	00440004000			
252.	GODAVARI EAST	<del>                                     </del>	28142391322	ZPHS INDRAPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
232.	GODAVARI	VAVINDA/LIDDANI)	201 42 405 470	CHC KAKINADA		
253.	EAST	KAKINDA(URBAN)	28142495470	GHS KAKINADA	State Govt.	Secondary with grades 6 to 10
233.	GODAVARI	SAMALKOTA	28142500207	ZDUC C MEDADADII	MADD 700 CCUOOLC	
254.	EAST	JAMALKOTA	28142300207	ZPHS G MEDAPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
234.	GODAVARI	SAMALKOTA	28142500311	ZPHS VETLAPALEM	MDD ZDD CCUOOLC	Cinandan with and a CA 40
255.	EAST	37 IVIAERO IA	20142300311	ZFTIS VETLAFALCIVI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	GODAVARI	SAMALKOTA	28142500903	ZPHS NAVARA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
256.	EAST	O, III II I	20142300303	ZI IIS NAVANA	I WIFF_ZFF 3CHOOLS	Secondary with grades 6 to 10
	GODAVARI	SAMALKOTA	28142501103	ZPHS UNDURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
257.	EAST			ZPHS VENKATA	IVIT_ZIT SCHOOLS	Secondary with grades 0 to 10
	GODAVARI	SAMALKOTA	28142501704	KRISHNARAYAPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
258.	EAST				WIT _ZIT SCHOOLS	Secondary with grades o to 10
	GODAVARI	SAMALKOTA	28142591222	ZPHS (G) SAMALKOTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
259.	EAST					Secondary With Braces o to 20
	GODAVARI	RANGAMPETA	28142600205	ZPHS VADISALERU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
260.	EAST					
	GODAVARI	RANGAMPETA	28142600306	ZPHS RANGAMPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
261.	EAST					/
	GODAVARI	RANGAMPETA	28142601004	ZPHS DODDIGUNTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

-

EAST					
f <del></del>	RANGAMPETA	28142601203	ZPHS SINGAMPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
GODAVARI	GANDEPALLI	28142700304	ZPHS GANDEPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
EAST					•
GODAVARI	GANDEPALLI	28142700508	ZPHS MALLEPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
EAST					•
<del> </del>	GANDEPALLI	28142700703	ZPHS TALLURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
<del>                                       </del>	RAJANAGARAM	28142800303	ZPHS NARENDRAPURAM	MPP_ZPP_SCHOOLS .	Secondary with grades 6 to 10
ļ	RAJANAGARAM	28142800405	ZPHS RAJANAGARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	RAJANAGARAM	28142800810		MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
		1			
GODAVARI	RAJANAGARAM	28142801306		MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
EAST					
		28142801605	SAMPATHANAGARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	•				
<del> </del>	VARAM(RURAL)	28142900103	ZPHS TORREDU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	RAJAMAHENDRA				
<del>,</del>	VARAM(RURAL)	28142900310		MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	RAJAMAHENDRA				
GODAVARI	VARAM(RURAL)	28142900508	BLOCK)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
EAST	RAJAMAHENDRA				
GODAVARI	VARAM(RURAL)	28142900605	ZPHS HUKUMPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
EAST	RAJAMAHENDRA				
GODAVARI	VARAM(RURAL)	28142900708	GPR ZPHS BOMMURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
EAST	RAJAMAHENDRA		ZPHS (G)		
GODAVARI	VARAM(RURAL)	28142990321	DOWLESWARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
EAST .	RAJAMAHENDRA	•			
GODAVARI	VARAM(RURAL)	28142990322	ZPHS DOWLESWARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
EAST	RAJAMAHENDRA			_	
GODAVARI	VARAM(URBAN)	28143095620	GOVT HS (G) INNESPETA	State Govt.	Secondary with grades 6 to 10
EAST	RAJAMAHENDRA				
GODAVARI	VARAM(URBAN)	28143095621	GOVT HS INNESPETA	State Govt.	Secondary with grades 6 to 10
EAST	KADIAM	28143100107	ZPHS VEMAGIRI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	GODAVARI EAST GODAVARI	GODAVARI RANGAMPETA  EAST GODAVARI GANDEPALLI EAST GODAVARI GANDEPALLI EAST GODAVARI GANDEPALLI EAST GODAVARI RAJANAGARAM EAST GODAVARI VARAM(RURAL) EAST RAJAMAHENDRA GODAVARI VARAM(RURAL) EAST GODAVARI VARAM(RURAL) EAST RAJAMAHENDRA VARAM(RURAL) EAST RAJAMAHENDRA VARAM(RURAL)	GODAVARI         RANGAMPETA         28142601203           EAST         GODAVARI         GANDEPALLI         28142700304           EAST         GODAVARI         GANDEPALLI         28142700508           EAST         GODAVARI         GANDEPALLI         28142700703           EAST         GODAVARI         RAJANAGARAM         28142800303           EAST         GODAVARI         RAJANAGARAM         28142800405           EAST         GODAVARI         RAJANAGARAM         28142800810           EAST         GODAVARI         RAJANAGARAM         28142801306           EAST         GODAVARI         RAJANAGARAM         28142801306           EAST         GODAVARI         RAJANAGARAM         28142801306           EAST         RAJAMAHENDRA         28142900103           EAST         RAJAMAHENDRA         28142900103           EAST         RAJAMAHENDRA         28142900310           EAST         RAJAMAHENDRA         28142900508           EAST         RAJAMAHENDRA         28142900508           EAST         RAJAMAHENDRA         28142900708           EAST         RAJAMAHENDRA         28142990321           EAST         RAJAMAHENDRA         28142990322 <td< td=""><td>GODAVARI         RANGAMPETA         28142601203         ZPHS SINGAMPALLI           EAST         GANDEPALLI         28142700304         ZPHS GANDEPALLI           EAST         GODAVARI         GANDEPALLI         28142700508         ZPHS MALLEPALLI           EAST         GODAVARI         GANDEPALLI         28142700703         ZPHS TALLURU           EAST         GODAVARI         RAJANAGARAM         28142800303         ZPHS NARENDRAPURAM           EAST         GODAVARI         RAJANAGARAM         28142800405         ZPHS RAJANAGARAM           EAST         GODAVARI         RAJANAGARAM         28142800810         ZPHS DIWANACHERUVU           EAST         ZPHS PATHA         ZPHS PATHA         THUNGAPADU           EAST         ZPHS PATHA         ZPHS PATHA         ZPHS PATHA           GODAVARI         RAJANAGARAM         28142801306         THUNGAPADU           EAST         ZPHS SAMPATHANAGARAM         ZPHS PATHA         ZPHS SAMPATHANAGARAM           EAST         RAJAMAHENDRA         ZPHS TORREDU         ZPHS TORREDU           EAST         RAJAMAHENDRA         ZPHS SATELLITE CITY( B-         ZPHS SATELLITE CITY( B-           GODAVARI         VARAM(RURAL)         28142900508         BLOCK)           EAST         RAJA</td><td>GODAVARI         RANGAMPETA         28142601203         ZPHS SINGAMPALLI         MPP_ZPP SCHOOLS           EAST GODAVARI         GANDEPALLI         28142700304         ZPHS GANDEPALLI         MPP_ZPP SCHOOLS           EAST GODAVARI         GANDEPALLI         28142700508         ZPHS MALLEPALLI         MPP_ZPP SCHOOLS           EAST GODAVARI         GANDEPALLI         28142700703         ZPHS TALLURU         MPP_ZPP SCHOOLS           EAST GODAVARI         RAJANAGARAM         28142800303         ZPHS NARENDRAPURAM         MPP_ZPP SCHOOLS           EAST GODAVARI         RAJANAGARAM         28142800405         ZPHS RAJANAGARAM         MPP_ZPP SCHOOLS           EAST GODAVARI         RAJANAGARAM         28142800303         ZPHS DIWANACHERUVU         MPP_ZPP SCHOOLS           EAST GODAVARI         RAJANAGARAM         28142800306         ZPHS DIWANACHERUVU         MPP_ZPP SCHOOLS           EAST GODAVARI         RAJANAGARAM         28142801306         THUNGAPADU         MPP_ZPP SCHOOLS           EAST GODAVARI         RAJAMAHENDRA         28142801605         SAMPATHANAGARAM         MPP_ZPP SCHOOLS           EAST GODAVARI         VARAM(RURAL)         28142900103         ZPHS TORREDU         MPP_ZPP SCHOOLS           EAST GODAVARI         VARAM(RURAL)         28142900508         BLOCK)         MP</td></td<>	GODAVARI         RANGAMPETA         28142601203         ZPHS SINGAMPALLI           EAST         GANDEPALLI         28142700304         ZPHS GANDEPALLI           EAST         GODAVARI         GANDEPALLI         28142700508         ZPHS MALLEPALLI           EAST         GODAVARI         GANDEPALLI         28142700703         ZPHS TALLURU           EAST         GODAVARI         RAJANAGARAM         28142800303         ZPHS NARENDRAPURAM           EAST         GODAVARI         RAJANAGARAM         28142800405         ZPHS RAJANAGARAM           EAST         GODAVARI         RAJANAGARAM         28142800810         ZPHS DIWANACHERUVU           EAST         ZPHS PATHA         ZPHS PATHA         THUNGAPADU           EAST         ZPHS PATHA         ZPHS PATHA         ZPHS PATHA           GODAVARI         RAJANAGARAM         28142801306         THUNGAPADU           EAST         ZPHS SAMPATHANAGARAM         ZPHS PATHA         ZPHS SAMPATHANAGARAM           EAST         RAJAMAHENDRA         ZPHS TORREDU         ZPHS TORREDU           EAST         RAJAMAHENDRA         ZPHS SATELLITE CITY( B-         ZPHS SATELLITE CITY( B-           GODAVARI         VARAM(RURAL)         28142900508         BLOCK)           EAST         RAJA	GODAVARI         RANGAMPETA         28142601203         ZPHS SINGAMPALLI         MPP_ZPP SCHOOLS           EAST GODAVARI         GANDEPALLI         28142700304         ZPHS GANDEPALLI         MPP_ZPP SCHOOLS           EAST GODAVARI         GANDEPALLI         28142700508         ZPHS MALLEPALLI         MPP_ZPP SCHOOLS           EAST GODAVARI         GANDEPALLI         28142700703         ZPHS TALLURU         MPP_ZPP SCHOOLS           EAST GODAVARI         RAJANAGARAM         28142800303         ZPHS NARENDRAPURAM         MPP_ZPP SCHOOLS           EAST GODAVARI         RAJANAGARAM         28142800405         ZPHS RAJANAGARAM         MPP_ZPP SCHOOLS           EAST GODAVARI         RAJANAGARAM         28142800303         ZPHS DIWANACHERUVU         MPP_ZPP SCHOOLS           EAST GODAVARI         RAJANAGARAM         28142800306         ZPHS DIWANACHERUVU         MPP_ZPP SCHOOLS           EAST GODAVARI         RAJANAGARAM         28142801306         THUNGAPADU         MPP_ZPP SCHOOLS           EAST GODAVARI         RAJAMAHENDRA         28142801605         SAMPATHANAGARAM         MPP_ZPP SCHOOLS           EAST GODAVARI         VARAM(RURAL)         28142900103         ZPHS TORREDU         MPP_ZPP SCHOOLS           EAST GODAVARI         VARAM(RURAL)         28142900508         BLOCK)         MP

	GODAVARI				<u> </u>	
281.	EAST					
	GODAVARI	KADIAM	28143100217	ZPHS KADIAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
282.	EAST					
	GODAVARI	KADIAM	28143100218	ZPHS KADIYAPULANKA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
283.	EAST					
	GODAVARI	KADIAM	28143100308	ZPHS JEGURUPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
284.	EAST	LA DIANA				
205	GODAVARI	KADIAM	28143100505	ZPHS VEERAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
285.	EAST					
	GODAVARI EAST	KADIAM	28143100608	ZPHS MURAMANDA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
200.	GODAVARI	KADIAM	204 424 00704	ZDUC DIVIA	1	
287.	EAST	KADIAW	28143100704	ZPHS DULLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
207.	GODAVARI	MANDAPETA	28143200105	70UC 1/CCA)/ADABA	MADD TOD COLLOGIC	
288.	EAST	WANDAFLIA	20143200103	ZPHS KESAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
200.	GODAVARI	MANDAPETA	28143200402	ZPHS (G) DWARAPUDI	MDD 7DD CCHOOLC	Sacardam with and do S to 10
289.	EAST	TWATE AT ETA	20143200402	ZPTIS (G) DWARAPODI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	GODAVARI	MANDAPETA	28143200403	ZPHS (B) DWARAPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
290.	EAST			Li Tio (b) Divinia Obi	INIT_ZEFF SCHOOLS	Secondary with grades 6 to 10
	GODAVARI	MANDAPETA	28143201008	ZPHS TAPESWARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
291.	EAST	1			WitLi	Secondary with grades o to 10
	GODAVARI	MANDAPETA	28143201408	ZPHS YEDITHA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
292.	EAST					and the second s
	GODAVARI	MANDAPETA	28143290530	ZPHS (G) MANDAPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
293.	EAST		_			<u> </u>
	GODAVARI	MANDAPETA	28143290531	GHS MANDAPETA	State Govt.	Secondary with grades 6 to 10
294.	EAST					
	GODAVARI	ANAPARTHI	28143300215	ZPHS (B) ANAPARTHI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
295.	EAST			ZPHS OLD TOWN		
	GODAVARI	ANAPARTHI	28143300217	ANAPARTHI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
296.	EAST					
207	GODAVARI	ANAPARTHI	28143300707	ZPHS KUTUKULURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
297.	EAST	DICCANONIC	204454555	==		
298.	GODAVARI EAST	BICCAVOLU	28143400204	ZPHS ILLAPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
238.	GODAVARI	BICCAVOLL	30143400544	7DUC BLOCALCOLL		
	T GODAVAKI	BICCAVOLU	28143400511	ZPHS BICCAVOLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

299.	EAST			ZPHS		
	GODAVARI	BICCAVOLU	28143400605	BALABHADRAPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
300.	EAST					
	GODAVARI	BICCAVOLU	28143401006	ZPHS PANDALAPAKA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
301.	EAST					
	GODAVARI	BICCAVOLU	28143401106	ZPHS VOOLAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
302.	EAST					1
	GODAVARI	PEDAPUDI	28143500111	ZPHS (B) G MAMIDADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
303.	EAST					
	GODAVARI	PEDAPUDI	28143500205	ZPHS PEDDADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
304.	EAST	Ì		GM GOVT HIGH SCHOOL		
	GODAVARI	PEDAPUDI	28143500306	PEDAPUDII	State Govt.	Secondary with grades 6 to 10
305.	EAST					
	GODAVARI	PEDAPUDI	28143501504	ZPHS SAMPARA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
306.	EAST					•
	GODAVARI	KARAPA	28143600105	ZPHS ARATLAKATTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
307.	EAST	KADADA	204 42 500 500	7016 640404	1400 700 66110016	
200	GODAVARI	KARAPA	28143600609	ZPHS KARAPA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
308.	EAST GODAVARI	VADADA	20142500000	ZDUC CORDIDUDI	MARR ZRR COLLOGIC	
309.	EAST	KARAPA	28143600808	ZPHS GORRIPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
309.	GODAVARI	KARAPA	28143601408	ZPHS VELANGI	MDD 7DD CCUCOLC	Socondom with grades CA- 10
310.	EAST	NANAFA	20143001400	ZPHS	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
310.	GODAVARI	KARAPA	28143601805	PEDDAPURAPPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
311.	EAST	IONALA	20143001803	FEDDAFORAFFADO	WIFF_ZFF 3CHOOLS	Secondary with grades 0 to 10
<i>-</i>	GODAVARI	KARAPA	28143601909	ZPHS GURAJANAPALLI .	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
312.	EAST		202-10002505	ZI TIO GOTIFOTH THE T		Secondary with Brades o to 10
, Jan.	GODAVARI	THALLAREVU	28143700104	ZPHS CHOLLANGI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
313.	EAST					
	GODAVARI	THALLAREVU	28143700407	ZPHS PATAVALA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
314.	EAST			-		
	GODAVARI	THALLAREVU	28143700619	ZPHS TALLAREVU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
315.	EAST					
	GODAVARI	THALLAREVU	28143700706	ZPHS (P) MALLAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
316.	EAST					
	GODAVARI	THALLAREVU	28143701006	ZPHS NEELAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
317.	EAST	THALLAREVU	28143701208	ZPHS INJARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

	GODAVARI		<u> </u>			
318.	EAST					
	GODAVARI	KAJULURU	28143800606	ZPHS GOLLAPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
319.	EAST					
	GODAVARI	KAJULURU	28143801012	ZPHS KAJULURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
320.	EAST					
	GODAVARI	KAJULURU	28143801606	ZPHS KUYYERU	MPP_ZPP.SCHOOLS	Secondary with grades 6 to 10
321.	EAST	RAMACHANDRAP				
	GODAVARI	URAM	28143901006	ZPHS VELLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
322.	EAST	RAMACHANDRAP	_	"		
	GODAVARI	URAM	28143901610	ZPHS DRAKSHARAMA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
323.	EAST	RAMACHANDRAP				
<u> </u>	GODAVARI	URAM	28143901802	ZPHS HASANBADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
324.	EAST	RAMACHANDRAP		SKPGN GOVT HS		
	GODAVARI	URAM	28143990935	RAMACHANDRAPURAM	State Govt.	Secondary with grades 6 to 10
325.	EAST					
	GODAVARI	RAYAVARAM	28144000211	ZPHS RAYAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
326.	EAST					
	GODAVARI	RAYAVARAM	28144000408	ZPHS PASALAPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
327.	EAST	1	_			
	GODAVARI	RAYAVARAM	28144000506	ZPHS SOMESWARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
328.	EAST					
220	GODAVARI	RAYAVARAM	28144000605	ZPHS MACHAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
329.	EAST	KAPILESWARAPU				
	GODAVARI	RAM	28144100204	ZPHS VALLURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
330.	EAST	KAPILESWARAPU				
224	GODAVARI	RAM	28144100805	ZPHS ANGARA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
331.	EAST	KAPILESWARAPU	20444424	ZPHS		
332.	GODAVARI EAST	RAM	28144101209	KAPILESWARAPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
334.		KAPILESWARAPU				
222	GODAVARI	RAM	28144101305	ZPHS MACHARA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
333.	EAST	ALABAHDU	204 4400000	<b>55.16 6.15 1.</b>		
224	GODAVARI EAST	ALAMURU	28144200309	ZPHS CHEMUDULANKA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
334.		ALABAUS	00444555	=======================================		
335.	GODAVARI EAST	ALAMURU	28144200404	ZPHS NARSIPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
555.	GODAVARI	ALABALIDU	2014422224	70110 4414 46-444-4	<b></b>	
	GODAVAKI	ALAMURU	28144200811	ZPHS MULASTANAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

336.	EAST		<del>-</del> -			<del>,</del>
550.	GODAVARI	ALAMURU	20144201110	ZOUC (C) MANDDICA	MADD 7DD CCUCOLC	
337.	EAST	ALAWONO	28144201110	ZPHS (G) KANDRIGA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
337.	GODAVARI	ALAMURU	28144201111	GHS ALAMURU	State Govt.	Secondary with grades 6 to 10
338.	EAST	ALAWONO	20144201111	dis ALAWOKO	State GOVI.	Secondary with grades 6 to 10
0001	GODAVARI	ATREYAPURAM	28144300104	ZPHS PERAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
339.	EAST					Secondary with grades o to 10
	GODAVARI	ATREYAPURAM	28144300310	ZPHS VELICHERU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
340.	EAST	-				
	GODAVARI	ATREYAPURAM	28144301106	ZPHS ANKAMPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
341.	EAST			<u> </u>		, , , , , , , , , , , , , , , , , , , ,
	GODAVARI	ATREYAPURAM	28144301509	ZPHS RYALI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
342.	EAST		,		1	
	GODAVARI	RAVULAPALEM	28144400106	ZPHS UBALANKA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
343.	EAST				:	
	GODAVARI	RAVULAPALEM	28144400213	ZPHS (B) RAVULAPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
344.	EAST					
	GODAVARI	RAVULAPALEM	28144400214	ZPHS (G) RAVULAPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
345.	EAST				-	
	GODAVARI	RAVULAPALEM	28144400508	ZPHS VEDIRESWARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
346.	EAST				·	
2.17	GODAVARI	RAVULAPALEM	28144400608	ZPHS BALAYOGI PETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
347.	EAST	DANGUADALEAA	2014110100	ZPHS (B)		
348.	GODAVARI EAST	RAVULAPALEM	28144401006	GOPALAPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
546.	GODAVARI	K.GANGAVARAM	20144500205	7DUC DANAADDU	MADD 7DD CCUCOLC	
349.	EAST	R.GANGAVARAIVI	28144500205	ZPHS PAMARRU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
343.	GODAVARI	K.GANGAVARAM	28144501511	ZPHS DANGERU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
350.	EAST	1110/11/0/11/11/11/11	20171301311	ZI 115 DAITGERO	THE PLANT SCHOOLS	Secondary with grades 6 to 10
550.	GODAVARI	КОТНАРЕТА	28144600204	ZPHS VADAPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
351.	EAST				<u></u>	Secondary With Brades 0 to 10
	GODAVARI	KOTHAPETA	28144600326	ZPHS (G) KOTHA PETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
352.	EAST				;	
	GODAVARI	КОТНАРЕТА	28144600327	GHS KOTHAPETA	State Govt.	Secondary with grades 6 to 10
353.	EAST			ZPHS CHAPPIDIVARI		
	GODAVARI	KOTHAPETA	28144600611	PALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
354.	EAST	KOTHAPETA	28144600917	ZPHS VANAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

	GODAVARI					
355.	EAST					
	GODAVARI	P.GANNAVARAM	28144700412	ZPHS NARENDRAPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
356.	EAST			ZPHS		
	GODAVARI	P.GANNAVARAM	28144700709	PATHAGANNAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
357.	EAST			-		
	GODAVARI	P.GANNAVARAM	28144700906	ZPHS MUNGANDA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
358.	EAST					· · · · · · · · · · · · · · · · · · ·
	GODAVARI	P.GANNAVARAM	28144701606	ZPHS R YENUGUPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
359.	EAST					
	GODAVARI	P.GANNAVARAM	28144701714	ZPHS NAGULLANKA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
360.	EAST		-			
	GODAVARI	AMBAJIPETA	28144800510	ZPHS PULLETIKURRU	MPP_ZPP.SCHOOLS	Secondary with grades 6 to 10
361.	EAST					
	GODAVARI	AINAVILLI	28144900204	ZPHS VEERAVALLIPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
362.	EAST					
_	GODAVARI	AINAVILLI	28144900803	ZPHS KONDUKUDURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
363.	EAST					
	GODAVARI	Ainavilli	28144901104	ZPHS SIRIPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
364.	EAST				_	
	GODAVARI	AINAVILLI	28144901313	ZPHS NEDUNURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
365.	EAST	MUMMIDIVARA				
	GODAVARI	<u>M</u>	28145000725	ZPHS MUMMIDIVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
366.	EAST	MUMMIDIVARA		ZPHS (G)		
	GODAVARI	<u>M</u> .	28145000726	MUMMIDIVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
367.	EAST	MUMMIDIVARA				
	GODAVARI	M	28145000908	GHS ANANTHAVARAM	State Govt.	Secondary with grades 6 to 10
368.	EAST	MUMMIDIVARA				
	GODAVARI	<u>M</u>	28145001112	ZPHS AINAPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
369.	EAST					, ,
	GODAVARI	I.POLAVARAM	28145100609	ZPHS (G) VEMAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
370.	EAST					
	GODAVARI	I.POLAVARAM	28145100709	ZPHS (T) KOTHAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
371.	EAST	1				
	GODAVARI	I.POLAVARAM	28145100808	ZPHS I POLAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
372.	EAST					
	GODAVARI	I.POLAVARAM	28145100905	ZPHS MURAMALLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

373.	EAST			ZPHS		
	GODAVARI	I.POLAVARAM	28145101017	KESANAKURRUPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
374.	EAST					
	GODAVARI	KATRENIKONA	28145200108	ZPHS CHEYYERU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
375.	EAST					
	GODAVARI	KATRENIKONA	28145200615	ZPHS KATRENIKONA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
376.	EAST					
	GODAVARI	KATRENIKONA	28145201109	ZPHS KANDIKUPPA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
377.	EAST	WATOFAHKOALA	20445204440	ZDUC DALLANA	MADD 7DD CCUCOLC	Caran damanish madaa C ta 10
270	GODAVARI	KATRENIKONA	28145201110	ZPHS PALLAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
378.	EAST GODAVARI	UPPALAGUPTAM	28145300212	ZPHS BHEEMANAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
379.	GODAVARI	UPPALAGUPTAM	20145500212	ZPHS DREEMANAPALLI	WIFF_ZFF 3CHOOLS	Secondary with grades 0 to 10
5/9.	EAST			NIMMAKAYALAKOTHAP	•	
	GODAVARI	UPPALAGUPTAM	28145300807	ALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
380.	EAST	- OTTABLEOTTALVI	20213300007	7 Shelid	1111	Secondary with grades a to 20
500.	GODAVARI	UPPALAGUPTAM	28145301007	ZPHS GOLLAVILLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
381.	EAST				<del>-</del>	, , , , , , , , , , , , , , , , , , , ,
	GODAVARI	UPPALAGUPTAM	28145301313	ZPHS T CHALLAPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
382.	EAST					
	GODAVARI	AMALAPURAM	28145401318	ZPHS PERURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
383.	EAST				1	
	GODAVARI	AMALAPURAM	28145401709	ZPHS SAMANASA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
384.	EAST				,	
	GODAVARI	AMALAPURAM	28145490149	ZPHS (G) SURYA NAGAR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
385.	EAST <sub>.</sub>					
	GODAVARI	AMALAPURAM	28145490150	ZPHS SURYA NAGAR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
386.	EAST	A A A A L A DI ID A A A	20145400211	ZPHS PANCHAYATH	MADD 7DD COUCOLS	Secondary with grades 6 to 10
207	GODAVARI	AMALAPURAM	28145490211	OFFICE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
387.	EAST GODAVARI	ALLAVARAM	28145500212	ZPHS ALLAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
388.	EAST	ALLAVARAIVI	20145500212	ZFII3 ALLAVANAIVI	WIFF_ZFF 3CHOOL3	Secondary with grades 0 to 10
300.	GODAVARI	ALLAVARAM	28145501111	ZPHS DEVAGUPTAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
389.	EAST	VEFTA CITALIA	20140301111	ZPHS		
565.	GODAVARI	ALLAVARAM	28145501316	KOMARAGIRIPATNAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
390.	EAST			ZPHS PEDAPATNAM		, and grades a
	GODAVARI	MAMIDIKUDURU	28145600107	LANKA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

391.	EAST		<del></del>		<del>7</del>	<del></del>
	GODAVARI	MAMIDIKUDURU	28145600510	ZPHS MAMIDIKUDURU	MPP_ZPP SCHOOLS	Socondamy with grades C to 10
392.	EAST	1 100	20143000310	ZI TIS IVIAIVIIDIKODORO	WIFF_ZPF 3CHOOLS	Secondary with grades 6 to 10
	GODAVARI	MAMIDIKUDURU	28145600804	ZPHS MOGALIKUDURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
393.	EAST					Secondary with Brades o to 10
	GODAVARI	RAZOLE	28145700106	ZPHS TATIPAKA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
394.	EAST					Secondary mangiodes of to 20
	GODAVARI	RAZOLE	28145700412	ZPHS (B) RAZOLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
395.	EAST					,
	GODAVARI	RAZOLE	28145700413	ZPHS (G) RAZOLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
396.	EAST				-	
	GODAVARI	RAZOLE	28145700827	ZPHS KADALI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
397.	EAST					
700	GODAVARI	RAZOLE	28145701209	ZPHS PONNAMANDA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
398.	EAST					
100	GODAVARI	MALIKIPURAM	28145800305	ZPHS RAMARAJULANKA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
399.	EAST GODAVARI	A A A L IVIDI ID A A A	204 45 202			
400.	EAST	MALIKIPURAM	28145800705	ZPHS BATTELANKA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
400.	GODAVARI	MALIKIPURAM	20145001045	7DUC VECANADALLI		
401.	EAST	IVIALIKIPUKAIVI	28145801015	ZPHS KESANAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
701.	GODAVARI	MALIKIPURAM	28145801016	7DUC DADAMATI DALEMA	NADD ZDD COUGOLG	
402.	EAST	WIALKII OTAWI	20143801010	ZPHS PADAMATI PALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	GODAVARI	SAKHINETIPALLI	28145900308	ZPHS RAMESWARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
403.	EAST		20213300300	EL LIO IVVIAIEDAAVIVAIAI	WIFF_ZFF SCHOOLS	Secondary with grades 6 to 10
	GODAVARI	SAKHINETIPALLI	28145900611	ZPHS MORI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
404.	EAST				1411 _211 3C1100LD	Secondary with grades 0 to 10
	GODAVARI	ROWTULAPUDI	28146001508	ZPHS ROWTHULAPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
405.	EAST		<del></del>			occonduty with grades o to 10
	GODAVARI	ROWTULAPUDI	28146003503	ZPHS MULAGAPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
406.				ZPHS		
	EAST			VARARAMACHANDRAPU		
	GODAVARI	V.R.PURAM	28146103808	RAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
407.	EAST					· · ·
	GODAVARI	CHINTUR	28146205308	ZPHS CHINTURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
408.	WEST			ZPHS,		
	GODAVARI	TALLAPUDI	28150400906	ANNADEVARAPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

EST	TALLAPUDI	28150401804	ZPHS, MALAKAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
EST	TALLAPUDI	28150401804	ZPHS, MALAKAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	I				
DDAVARI I					
	GOPALAPURAM	28150500311	ZPHS, RAJAMPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
EST					
	GOPALAPURAM	28150500702	ZPHS, KOVVURUPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
		22452524525	70116 6004140110444	1400 700 600 601	
	GOPALAPURAIVI	28150501507	ZPHS, GOPALAPUKAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
1	CODAL ADUDAM	20150501702	ZDLIC CLUTYALA	MDD 7DD CCUCOLC	Consider with sender C to 10
	GUPALAPURAIVI	28150501703	ZPHS, CHII YALA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	KOVVALAGIIDEM	20150600416	CHC KOANT VCTIDEM	State Govt	Secondary with grades 6 to 10
	KOTTALAGODLIVI	28130000410	dris, Kottaladoblivi	Jtate Covt.	Secondary with grades 0 to 10
	KOVYALAGUDEM	28150600905	7PHS RAVVANAGUDEM	MPP 7PP SCHOOLS	Secondary with grades 6 to 10
EST	KOTTABAGGBERT	20130000303	El 110, Ditt I TUTTO DE ITI		Secondary with grades of to 10
	KOYYALAGUDEM	28150601303	ZPHS. GAVARAVARAM	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
					,,
	DEM	28150701422	JANGAREDDEGUDEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
EST					
DDAVARI	CHINTALAPUDI	28150901107	ZPHS, ERRAGUNTAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
EST	_		ZPHS,		
	LINGAPALEM	28151002307	DHARMAJIGUDEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	DWARAKATIRUM				
	ALA	28151202406	ZPHS, PANGIDIGUDEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
EST					
	NALLAJERLA	28151300307	ZPHS, ANANTHAPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
Į.		20454222244	7016 11111115014	700 66116616	
	NALLAJEKLA	28151300911		MPP_ZPP_SCHOOLS	Secondary with grades 6 to 10
	NALLATERIA	20151201202		MADD 7DD CCHOOLS	Secondary with grader 6 to 10
	NALLAJEKLA	28151301302	PRAKASAKAUPALEIVI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	DEVARADALLI	28151/00205	7DHS CHIMNIAVAGIIDEM	MDD 7DD SCHOOLS	Secondary with grades 6 to 10
	DEVANAFALLI	20131400203	ZETIO, CHIMNATAGODEIVI	WIFF_ZFF 3CHOOL3	Secondary with grades o to 10
	DEVARAPALLI	28151400309	ZPHS DEVARAPALIE	MPP 7PP SCHOOLS	Secondary with grades 6 to 10
EST	DETRINAL ALL	20202-100000	er 110) DETRIMINGE		Constitution Blades o to to
L	DEVARAPALLI	28151400503	ZPHS, DUDDUKURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
DDAVARI	~~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~				
	ST DAVARI	DAVARI GOPALAPURAM  ST DAVARI KOYYALAGUDEM  ST DAVARI DEM  ST DAVARI CHINTALAPUDI  ST DAVARI LINGAPALEM  ST DAVARI ALA  ST DAVARI NALLAJERLA  ST DAVARI NALLAJERLA  ST DAVARI NALLAJERLA  ST DAVARI DEVARAPALLI  ST DAVARI DEVARAPALLI	DAVARI         GOPALAPURAM         28150501507           IST         GOPALAPURAM         28150501703           IST         DAVARI         KOYYALAGUDEM         28150600416           IST         DAVARI         KOYYALAGUDEM         28150600905           IST         DAVARI         KOYYALAGUDEM         28150601303           IST         JANGAREDDYGU         DAVARI         DEM         28150701422           IST         DAVARI         CHINTALAPUDI         28150901107           IST         DAVARI         LINGAPALEM         28151002307           IST         DAVARI         ALA         28151202406           IST         DAVARI         NALLAJERLA         28151300307           IST         DAVARI         NALLAJERLA         28151300911           IST         DAVARI         NALLAJERLA         28151301302           IST         DAVARI         DEVARAPALLI         28151400205           IST         DAVARI         DEVARAPALLI         28151400309	DAVARI GOPALAPURAM 28150501507 ZPHS, GOPALAPURAM ST DAVARI GOPALAPURAM 28150501703 ZPHS, CHITYALA ST DAVARI KOYYALAGUDEM 28150600416 GHS, KOYYALAGUDEM ST DAVARI KOYYALAGUDEM 28150600905 ZPHS, BAYYANAGUDEM ST DAVARI KOYYALAGUDEM 28150601303 ZPHS, GAVARAVARAM ST JANGAREDDYGU ZPHS (B), DAVARI DEM 28150701422 JANGAREDDEGUDEM ST DAVARI CHINTALAPUDI 28150901107 ZPHS, ERRAGUNTAPALLI ST ZPHS, DAVARI LINGAPALEM 28151002307 DHARMAJIGUDEM ST DWARAKATIRUM DAVARI ALA 28151202406 ZPHS, PANGIDIGUDEM ST DAVARI NALLAJERLA 28151300307 ZPHS, ANANTHAPALLE ST DAVARI NALLAJERLA 28151300911 ZPHS, NALLAJERLA ST DAVARI NALLAJERLA 2815130091 ZPHS, NALLAJERLA ST DAVARI NALLAJERLA 28151301302 PRAKASARAOPALEM ST DAVARI DEVARAPALLI 28151400205 ZPHS, CHINNAYAGUDEM ST DAVARI DEVARAPALLI 28151400309 ZPHS, DEVARAPALLE	DAVARI GOPALAPURAM 28150501507 ZPHS, GOPALAPURAM MPP_ZPP SCHOOLS  ST DAVARI GOPALAPURAM 28150501703 ZPHS, CHITYALA MPP_ZPP SCHOOLS  ST DAVARI KOYYALAGUDEM 28150600416 GHS, KOYYALAGUDEM State Govt.  ST DAVARI KOYYALAGUDEM 28150600905 ZPHS, BAYYANAGUDEM MPP_ZPP SCHOOLS  ST DAVARI KOYYALAGUDEM 28150601303 ZPHS, GAVARAVARAM MPP_ZPP SCHOOLS  ST DAVARI KOYYALAGUDEM 28150601303 ZPHS, GAVARAVARAM MPP_ZPP SCHOOLS  ST DAVARI DEM 28150701422 JANGAREDDEGUDEM MPP_ZPP SCHOOLS  ST DAVARI LINGAPALEM 2815002307 DHARMAJIGUDEM MPP_ZPP SCHOOLS  ST DAVARI LINGAPALEM 28151002307 DHARMAJIGUDEM MPP_ZPP SCHOOLS  ST DAVARI ALA 28151202406 ZPHS, PANGIDIGUDEM MPP_ZPP SCHOOLS  ST DAVARI NALLAJERLA 28151300307 ZPHS, ANANTHAPALLE MPP_ZPP SCHOOLS  ST DAVARI NALLAJERLA 28151300307 ZPHS, NALLAJERLA MPP_ZPP SCHOOLS  ST DAVARI DEVARAPALLI 28151400205 ZPHS, CHINNAYAGUDEM MPP_ZPP SCHOOLS  ST DAVARI DEVARAPALLI 28151400309 ZPHS, DEVARAPALLE MPP_ZPP SCHOOLS

	GODAVARI				<del></del>	
428.	WEST		<del>-</del>		<del> </del>	
	GODAVARI	DEVARAPALLI	28151401009	ZPHS, YERNAGUDEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
429.	WEST			,		occondary with grades o to 10
	GODAVARI	CHAGALLU	28151500104	ZPHS, CHIKKALA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
430.	WEST					occordary with grades o to 10
	GODAVAR!	CHAGALLU	28151500208	ZPHS, CHAGALLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
431.	WEST				_ <u> </u>	
- <u>-</u> -	GODAVARI	CHAGALLU	28151500604	ZPHS, UNAGATLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
432.	WEST			ZPHS,	<del>-</del>	grade a to 20
	GODAVARI	CHAGALLU	28151500904	BRAHMANAGUDEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
433.	WEST				<del> </del>	and the second s
	GODAVARI	CHAGALLU	28151501007	ZPHS, MARKONDAPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
434.	WEST	1		ZPHS,		,
	GODAVARI	KOVVUR	28151600702	ISUKAPATLAPANGIDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
435.	WEST					, ,
	GODAVARI	KOVVUR	28151601404	ZPHS, VADAPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
436.	WEST					<u> </u>
	GODAVARI	KOVVUR	28151601504	ZPHS, MADDURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
437.	WEST			GHS, 8TH WARD,		
420	GODAVARI	KOVVUR	28151690317	KOVVUR	State Govt.	Secondary with grades 6 to 10
438.	WEST					
430	GODAVARI	NIDADAVOLE	28151700306	ZPHS, KORUMAMIDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
439.	WEST		1	,		
440.	GODAVARI	NIDADAVOLE	28151700504	ZPHS, TADIMALLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
440.	WEST	AUDASANGA		ZPHS,		
441.	GODAVARI WEST	NIDADAVOLE	28151701403	PURUSHOTHAPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
441.	GODAVARI	AUDADANOLE				
442.	WEST	NIDADAVOLE	28151790522	ZPHS (G), NIDADAVOLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
442.		TADEPALLI				
443.	GODAVARI WEST	GUDEM	28151800607	ZPHS, PEDATADEPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
445.	GODAVARI	TADEPALLI				
444.	WEST	GUDEM	28151801507	ZPHS, ARUGOLANU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
<del></del>	GODAVARI	TADEPALLI	20454000740	ZPHS,		
445.	WEST	GUDEM	28151890740	TADEPALLIGUDEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
443.	GODAVARI	INCUTURE	20154000440	70.10		
	GODAVAKI	UNGUTURU	28151900410	ZPHS, UNGUTURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

446.	WEST			ZPHS,		
	GODAVARI	UNGUTURU	28151901014	NARAYANAPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
447.	WEST					
	GODAVARI	UNGUTURU	28151901211	ZPHS, KAIKARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
448.	WEST					
	GODAVARI	BHIMADOLE	28152000308	ZPHS, BHIMADOLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
449.	WEST					
	GODAVARI	BHIMADOLE	28152000712	ZPHS, PULLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
450.	WEST				,	
	GODAVARI	BHIMADOLE	28152000808	ZPHS, GUNDUGOLANU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
451.	WEST					
	GODAVARI	PEDAVEGI	28152102410	ZPHS, KOPPAKA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
452.	WEST					
	GODAVARI	PEDAPADU	28152200916	ZPHS, PEDAPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
453.	WEST					
	GODAVARI	PEDAPADU	28152201302	ZPHS, KALAPARRU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
454.	WEST	250 40 40 11		70116 400 410 470		
455	GODAVARI	PEDAPADU	28152202003	ZPHS, APPANAVEEDU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
455.	WEST GODAVARI	ELURU	20152200207	ZDUC CANILANADI IDETA	MADD 7DD CCUCOLC	Sacardam with and a Sta 10
456.	WEST	ELUKU	28152300307	ZPHS, SANIVARAPUPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
450.	GODAVARI	ELURU	28152300404	ZPHS, SATRAMPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
457.	WEST	ELUKU	28132300404	ZPH3, 3ATRAIVIPADU	IVIPP_ZPP 3CHOOL3	Secondary with grades 6 to 10
437.	GODAVARI	ELURU	28152301205	ZPHS, MADEPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
458.	WEST	ZEORO	20132301203	ZI IIS, WINDLI ALLI	WIT _ZIT SCHOOLS	Secondary with grades 0 to 10
-150.	GODAVARI	DENDULURU	28152401302	GHS, GOPANNAPALEM	State Govt.	Secondary with grades 6 to 10
459.	WEST					e de de la company de la compa
	GODAVARI	DENDULURU	28152402606	ZPHS, KOVVALI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
460.	WEST			ZPHS (BOYS),	_	
	GODAVARI	GANAPAVARAM	28152600407	GANAPAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
461.	WEST			ZPHS (GIRLS),		
	GODAVARI	GANAPAVARAM	28152600408	GANAPAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
462.	WEST					
	GODAVARI	GANAPAVARAM	28152601706	ZPHS, PIPPARA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
463.	WEST			GHS (POST BASIC),		
	GODAVARI	PENTAPADU	28152700409	PENTAPADU	State Govt.	Secondary with grades 6 to 10
464.	WEST	PENTAPADU	28152700904	ZPHS, ALAMPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

465. WEST GODAVARI 466. WEST GODAVARI 467. WEST GODAVARI 468. WEST GODAVARI 469. WEST GODAVARI 470. WEST GODAVARI 471. WEST GODAVARI 472. WEST GODAVARI 473. WEST GODAVARI 474. WEST GODAVARI 475. WEST GODAVARI 476. WEST GODAVARI 477. WEST GODAVARI 478. WEST GODAVARI 479. PERAVALI 48153001305  ZPHS, MALLESWARAM 479. WPP_ZPP SCHOOLS  Secondary with grades	
466. WEST GODAVARI TANUKU 28152801009 ZPHS, VELPUR MPP_ZPP SCHOOLS Secondary with grades  467. WEST GODAVARI TANUKU 28152890825 ZPHS (B), TANUKU MPP_ZPP SCHOOLS Secondary with grades  468. WEST GODAVARI TANUKU 28152890825 ZPHS (B), TANUKU MPP_ZPP SCHOOLS Secondary with grades  469. WEST GODAVARI UNDRAJAVARAM 28152900103 ZPHS, VELIVENNU MPP_ZPP SCHOOLS Secondary with grades  470. WEST GODAVARI UNDRAJAVARAM 28152900103 ZPHS, WELIVENNU MPP_ZPP SCHOOLS Secondary with grades  471. WEST GODAVARI UNDRAJAVARAM 28152900405 ZPHS, MORTHA MPP_ZPP SCHOOLS Secondary with grades  472. WEST GODAVARI UNDRAJAVARAM 2815290105 ZPHS, SATYAWADA MPP_ZPP SCHOOLS Secondary with grades  473. WEST GODAVARI UNDRAJAVARAM 28152901105 ZPHS, UNDRAJAVARAM MPP_ZPP SCHOOLS Secondary with grades  474. WEST GODAVARI PERAVALI 28153000205 ZPHS, KANURU MPP_ZPP SCHOOLS Secondary with grades  475. WEST GODAVARI PERAVALI 2815300104 ZPHS, KAKARAPARRU MPP_ZPP SCHOOLS Secondary with grades  476. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  477. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001305 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades	
466. WEST GODAVARI TANUKU 28152801009 ZPHS, VELPUR MPP_ZPP SCHOOLS Secondary with grades  467. WEST GODAVARI TANUKU 28152890825 ZPHS (B), TANUKU MPP_ZPP SCHOOLS Secondary with grades  468. WEST GODAVARI TANUKU 28152890826 ZPHS (G), TANUKU MPP_ZPP SCHOOLS Secondary with grades  469. WEST GODAVARI UNDRAJAVARAM 28152900103 ZPHS, VELIVENNU MPP_ZPP SCHOOLS Secondary with grades  470. WEST GODAVARI UNDRAJAVARAM 28152900405 ZPHS, MORTHA MPP_ZPP SCHOOLS Secondary with grades  471. WEST GODAVARI UNDRAJAVARAM 28152900903 ZPHS, SATYAWADA MPP_ZPP SCHOOLS Secondary with grades  472. WEST GODAVARI UNDRAJAVARAM 28152901105 ZPHS, UNDRAJAVARAM MPP_ZPP SCHOOLS Secondary with grades  473. WEST GODAVARI PERAVALI 28153000205 ZPHS, KANURU MPP_ZPP SCHOOLS Secondary with grades  474. WEST GODAVARI PERAVALI 2815300104 ZPHS, KANURU MPP_ZPP SCHOOLS Secondary with grades  475. WEST GODAVARI PERAVALI 2815300104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  476. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  477. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001305 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001305 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades	5 to 10
467. WEST GODAVARI TANUKU 28152890825 ZPHS (B), TANUKU MPP_ZPP SCHOOLS Secondary with grades  468. WEST GODAVARI TANUKU 28152890826 ZPHS (G), TANUKU MPP_ZPP SCHOOLS Secondary with grades  469. WEST GODAVARI UNDRAJAVARAM 28152900103 ZPHS, VELIVENNU MPP_ZPP SCHOOLS Secondary with grades  470. WEST GODAVARI UNDRAJAVARAM 28152900405 ZPHS, MORTHA MPP_ZPP SCHOOLS Secondary with grades  471. WEST GODAVARI UNDRAJAVARAM 28152900903 ZPHS, SATYAWADA MPP_ZPP SCHOOLS Secondary with grades  472. WEST GODAVARI UNDRAJAVARAM 28152901105 ZPHS, UNDRAJAVARAM MPP_ZPP SCHOOLS Secondary with grades  473. WEST GODAVARI UNDRAJAVARAM 28152901105 ZPHS, UNDRAJAVARAM MPP_ZPP SCHOOLS Secondary with grades  474. WEST GODAVARI PERAVALI 28153000205 ZPHS, KANURU MPP_ZPP SCHOOLS Secondary with grades  475. WEST GODAVARI PERAVALI 2815300104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  476. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  477. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  479. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  479. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  479. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  479. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  479. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades	
467. WEST GODAVARI TANUKU 28152890825 ZPHS (B), TANUKU MPP_ZPP SCHOOLS Secondary with grades  468. WEST GODAVARI TANUKU 28152890826 ZPHS (G), TANUKU MPP_ZPP SCHOOLS Secondary with grades  469. WEST GODAVARI UNDRAJAVARAM 28152900103 ZPHS, VELIVENNU MPP_ZPP SCHOOLS Secondary with grades  470. WEST GODAVARI UNDRAJAVARAM 28152900405 ZPHS, MORTHA MPP_ZPP SCHOOLS Secondary with grades  471. WEST GODAVARI UNDRAJAVARAM 28152900903 ZPHS, SATYAWADA MPP_ZPP SCHOOLS Secondary with grades  472. WEST GODAVARI UNDRAJAVARAM 28152901105 ZPHS, UNDRAJAVARAM MPP_ZPP SCHOOLS Secondary with grades  473. WEST GODAVARI PERAVALI 28153000205 ZPHS, KANURU MPP_ZPP SCHOOLS Secondary with grades  474. WEST GODAVARI PERAVALI 2815300104 ZPHS, KAKARAPARRU MPP_ZPP SCHOOLS Secondary with grades  475. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  476. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  477. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001305 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades	5 to 10
468. WEST GODAVARI TANUKU 28152890826 ZPHS (G), TANUKU MPP_ZPP SCHOOLS Secondary with grades  469. WEST GODAVARI UNDRAJAVARAM 28152900103 ZPHS, VELIVENNU MPP_ZPP SCHOOLS Secondary with grades  470. WEST GODAVARI UNDRAJAVARAM 28152900405 ZPHS, MORTHA MPP_ZPP SCHOOLS Secondary with grades  471. WEST GODAVARI UNDRAJAVARAM 28152900903 ZPHS, SATYAWADA MPP_ZPP SCHOOLS Secondary with grades  472. WEST GODAVARI UNDRAJAVARAM 28152901105 ZPHS, UNDRAJAVARAM MPP_ZPP SCHOOLS Secondary with grades  473. WEST GODAVARI FERAVALI 28153000205 ZPHS, KANURU MPP_ZPP SCHOOLS Secondary with grades  474. WEST GODAVARI PERAVALI 28153001005 ZPHS, KAKARAPARRU MPP_ZPP SCHOOLS Secondary with grades  475. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  476. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  477. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades	_
468. WEST GODAVARI TANUKU 28152890826 ZPHS (G), TANUKU MPP_ZPP SCHOOLS Secondary with grades  469. WEST GODAVARI UNDRAJAVARAM 28152900103 ZPHS, VELIVENNU MPP_ZPP SCHOOLS Secondary with grades  470. WEST GODAVARI UNDRAJAVARAM 28152900405 ZPHS, MORTHA MPP_ZPP SCHOOLS Secondary with grades  471. WEST GODAVARI UNDRAJAVARAM 28152900903 ZPHS, SATYAWADA MPP_ZPP SCHOOLS Secondary with grades  472. WEST GODAVARI UNDRAJAVARAM 28152901105 ZPHS, UNDRAJAVARAM MPP_ZPP SCHOOLS Secondary with grades  473. WEST GODAVARI PERAVALI 28153000205 ZPHS, KANURU MPP_ZPP SCHOOLS Secondary with grades  474. WEST GODAVARI PERAVALI 28153001005 ZPHS, KAKARAPARRU MPP_ZPP SCHOOLS Secondary with grades  475. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  476. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  477. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001305 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades	5 to 10
469. WEST GODAVARI UNDRAJAVARAM 28152900103 ZPHS, VELIVENNU MPP_ZPP SCHOOLS Secondary with grades 470. WEST GODAVARI UNDRAJAVARAM 28152900405 ZPHS, MORTHA MPP_ZPP SCHOOLS Secondary with grades 471. WEST GODAVARI UNDRAJAVARAM 28152900903 ZPHS, SATYAWADA MPP_ZPP SCHOOLS Secondary with grades 472. WEST GODAVARI UNDRAJAVARAM 28152901105 ZPHS, UNDRAJAVARAM MPP_ZPP SCHOOLS Secondary with grades 473. WEST GODAVARI PERAVALI 28153000205 ZPHS, KANURU MPP_ZPP SCHOOLS Secondary with grades 474. WEST GODAVARI PERAVALI 28153000605 ZPHS, KAKARAPARRU MPP_ZPP SCHOOLS Secondary with grades 475. WEST GODAVARI GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades 476. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades 477. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades 478. WEST GODAVARI PERAVALI 28153001305 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades	
469. WEST GODAVARI UNDRAJAVARAM 28152900103 ZPHS, VELIVENNU MPP_ZPP SCHOOLS Secondary with grades 470. WEST GODAVARI UNDRAJAVARAM 28152900405 ZPHS, MORTHA MPP_ZPP SCHOOLS Secondary with grades 471. WEST GODAVARI UNDRAJAVARAM 28152900903 ZPHS, SATYAWADA MPP_ZPP SCHOOLS Secondary with grades 472. WEST GODAVARI UNDRAJAVARAM 28152901105 ZPHS, UNDRAJAVARAM MPP_ZPP SCHOOLS Secondary with grades 473. WEST GODAVARI PERAVALI 28153000205 ZPHS, KANURU MPP_ZPP SCHOOLS Secondary with grades 474. WEST GODAVARI FERAVALI 28153000605 ZPHS, KAKARAPARRU MPP_ZPP SCHOOLS Secondary with grades 475. WEST GODAVARI FERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades 476. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades 477. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades 478. WEST GODAVARI PERAVALI 28153001305 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades 56000478 WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades 578. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades 578. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades	5 to 10
470. WEST GODAVARI UNDRAJAVARAM 28152900405 ZPHS, MORTHA MPP_ZPP SCHOOLS Secondary with grades 471. WEST GODAVARI UNDRAJAVARAM 28152900903 ZPHS, SATYAWADA MPP_ZPP SCHOOLS Secondary with grades 472. WEST GODAVARI UNDRAJAVARAM 28152901105 ZPHS, UNDRAJAVARAM MPP_ZPP SCHOOLS Secondary with grades 473. WEST GODAVARI PERAVALI 28153000205 ZPHS, KANURU MPP_ZPP SCHOOLS Secondary with grades 474. WEST GODAVARI PERAVALI 28153000605 ZPHS, KAKARAPARRU MPP_ZPP SCHOOLS Secondary with grades 475. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades 476. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades 477. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades 478. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades	
GODAVARI UNDRAJAVARAM 28152900405 ZPHS, MORTHA MPP_ZPP SCHOOLS Secondary with grades  471. WEST GODAVARI UNDRAJAVARAM 28152900903 ZPHS, SATYAWADA MPP_ZPP SCHOOLS Secondary with grades  472. WEST GODAVARI UNDRAJAVARAM 28152901105 ZPHS, UNDRAJAVARAM MPP_ZPP SCHOOLS Secondary with grades  473. WEST GODAVARI PERAVALI 28153000205 ZPHS, KANURU MPP_ZPP SCHOOLS Secondary with grades  474. WEST GODAVARI PERAVALI 2815300104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  475. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  476. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  477. WEST GODAVARI PERAVALI 28153001305 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades	i to 10
471. WEST GODAVARI UNDRAJAVARAM 28152900903 ZPHS, SATYAWADA MPP_ZPP SCHOOLS Secondary with grades 472. WEST GODAVARI UNDRAJAVARAM 28152901105 ZPHS, UNDRAJAVARAM MPP_ZPP SCHOOLS Secondary with grades 473. WEST GODAVARI PERAVALI 28153000205 ZPHS, KANURU MPP_ZPP SCHOOLS Secondary with grades 474. WEST GODAVARI PERAVALI 28153000605 ZPHS, KAKARAPARRU MPP_ZPP SCHOOLS Secondary with grades 475. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades 476. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades 477. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades 478. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades	
GODAVARI UNDRAJAVARAM 28152900903 ZPHS, SATYAWADA MPP_ZPP SCHOOLS Secondary with grades  472. WEST GODAVARI UNDRAJAVARAM 28152901105 ZPHS, UNDRAJAVARAM MPP_ZPP SCHOOLS Secondary with grades  473. WEST GODAVARI PERAVALI 28153000205 ZPHS, KANURU MPP_ZPP SCHOOLS Secondary with grades  474. WEST GODAVARI PERAVALI 28153000605 ZPHS, KAKARAPARRU MPP_ZPP SCHOOLS Secondary with grades  475. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  476. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  477. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades	i to 10
472. WEST GODAVARI UNDRAJAVARAM 28152901105 ZPHS, UNDRAJAVARAM MPP_ZPP SCHOOLS Secondary with grades 473. WEST GODAVARI PERAVALI 28153000205 ZPHS, KANURU MPP_ZPP SCHOOLS Secondary with grades 474. WEST GODAVARI PERAVALI 28153000605 ZPHS, KAKARAPARRU MPP_ZPP SCHOOLS Secondary with grades 475. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades 476. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades 477. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades 478. WEST	
GODAVARI UNDRAJAVARAM 28152901105 ZPHS, UNDRAJAVARAM MPP_ZPP SCHOOLS Secondary with grades  473. WEST GODAVARI PERAVALI 28153000205 ZPHS, KANURU MPP_ZPP SCHOOLS Secondary with grades  474. WEST GODAVARI PERAVALI 28153000605 ZPHS, KAKARAPARRU MPP_ZPP SCHOOLS Secondary with grades  475. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  476. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  477. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades	i to 10
473. WEST GODAVARI PERAVALI 28153000205 ZPHS, KANURU MPP_ZPP SCHOOLS Secondary with grades  474. WEST GODAVARI PERAVALI 28153000605 ZPHS, KAKARAPARRU MPP_ZPP SCHOOLS Secondary with grades  475. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  476. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  477. WEST GODAVARI PERAVALI 28153001305 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades	
GODAVARI PERAVALI 28153000205 ZPHS, KANURU MPP_ZPP SCHOOLS Secondary with grades  474. WEST GODAVARI PERAVALI 28153000605 ZPHS, KAKARAPARRU MPP_ZPP SCHOOLS Secondary with grades  475. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  476. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  477. WEST GODAVARI PERAVALI 28153001305 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades	i to 10
474. WEST GODAVARI PERAVALI 28153000605 ZPHS, KAKARAPARRU MPP_ZPP SCHOOLS Secondary with grades 475. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades 476. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades 477. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades 478. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades	
GODAVARI PERAVALI 28153000605 ZPHS, KAKARAPARRU MPP_ZPP SCHOOLS Secondary with grades  WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  476. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  477. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades	i to 10_
475. WEST GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  476. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  477. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades  478. WEST	
GODAVARI PERAVALI 28153001104 ZPHS, MUKKAMALA MPP_ZPP SCHOOLS Secondary with grades  WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  477. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades  478. WEST	i to 10
476. WEST GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  477. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades	
GODAVARI PERAVALI 28153001208 ZPHS, KHANDAVALLI MPP_ZPP SCHOOLS Secondary with grades  477. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades  478. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades	i to 10
477. WEST GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades 478. WEST	
GODAVARI PERAVALI 28153001305 ZPHS, MALLESWARAM MPP_ZPP SCHOOLS Secondary with grades  478. WEST	to 10
478. WEST Secondary with grades	
CODAVARY	i to 10
GODAVARI IRAGAVARAM 28153100112 ZPHS, RELANGI MPP ZPP SCHOOLS Secondary with grades	
GODAVARI IRAGAVARAM 28153100112 ZPHS, RELANGI MPP_ZPP SCHOOLS Secondary with grades 479. WEST	to 10
CODAMANI	
480. WEST 28153100504 ZPHS, EAST VIPPARRU MPP_ZPP SCHOOLS Secondary with grades	to 10
CODAVADI	. h = 40
481. WEST RAGAVARAM 28153101104 ZPHS, ELETIPADU MPP_ZPP SCHOOLS Secondary with grades	10 10
CODAVADI	: to 10
482. WEST 28153200514 ZPHS (G), ATTILI MPP_ZPP SCHOOLS Secondary with grades	1 10 10
GODAVARI UNDI 28153301106 ZPHS, CHERUKUWADA MPP_ZPP SCHOOLS Secondary with grades	: +o 10

483.	WEST			ZPHS,		
100.	GODAVARI	UNDI	28153301607	MAHADEVAPATNAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
484.	WEST					
	GODAVARI	AKIVEEDU	28153401018	ZPHS (BOYS), AKIVIDU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
485.	WEST		-			
	GODAVARI	AKIVEEDU	28153401019	ZPHS (GIRLS), AKIVIDU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
486.	WEST					
	GODAVARI	KALLA	28153500803	ZPHS, KOPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
487.	WEST				+	
	GODAVARI	BHIMAVARAM	28153600407	ZPHS, CHINAMIRAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
488.	WEST					
	GODAVARI	PALAKODERU	28153700406	ZPHS, MÖGALLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
489.	WEST					
	GODAVARI	PALAKODERU	28153700703	ZPHS, VENDRA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
490.	WEST					
	GODAVARI	PALAKODERU	28153700805	ZPHS, PALAKODERU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
491.	WEST			ZPHS,	1100 700 COLLOGIC	S
	GODAVARI	PALAKODERU	28153701406	SRUNGAVRUKSHAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
492.	WEST	\\====\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	20452000544	ZDUC DAVAVUDUDU	MADD 700 CCUCOLC	Secondary with grades C to 10
407	GODAVARI	VEERAVASARAM	28153800611	ZPHS, RAYAKUDURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
493.	WEST	VEEDAVACADAAA	20152001010	ZDLIC VEEDAVACADAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
494.	GODAVARI WEST	VEERAVASARAM_	28153801019	ZPHS, VEERAVASARAM	WIFF_ZFF SCHOOLS	Secondary with grades 0 to 10
494.	GODAVARI -	VEERAVASARAM	28153801104	ZPHS, MASTYAPURI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
495.	WEST	VELIKAVASARAIVI _	20155001104	21113, 141731 171 0111	14111_211 30110013	Secondary Willingrades o to 10
455.	GODAVARI	PENUGONDA	28154000815	ZPHS, CHERUKUWADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
496.	WEST		10000100000			,
.50.	GODAVARI	PENUGONDA	28154001105	ZPHS, DEVA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
497.	WEST		_			-
	GODAVARI	ACHANTA	28154100120	GHS, ACHANTA	State Govt.	Secondary with grades 6 to 10
498.	WEST			-		
	GODAVARI	ACHANTA	28154100812	ZPHS, A VEMAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
499.	WEST				1	
	GODAVARI	ACHANTA	28154100910	ZPHS, MP PALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
500.	WEST			ZPHS,	·	
	GODAVARI	PODURU	28154200510	CHANDRAJUCHERUVU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
501.	WEST	PODURU	28154200908	ZPHS, JINNURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

	GODAVARI				T	
502.	WEST					<del>-  </del>
	GODAVARI	PALACOLE	28154300302	ZPHS, CHINTAPARRU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
503.	WEST				1111	Secondary With grades 6 to 10
	GODAVARI	PALACOLE	28154300706	ZPHS, LANKALAKODERU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
504.	WEST			ZPHS, SIVADEVUNI		Secondary With grades 0 to 10
	GODAVARI	PALACOLE	28154301103	CHIKKALA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
505.	WEST					
	GODAVARI	ELAMANCHILI	28154400516	ZPHS, DODDIPATLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
506.	WEST					
	GODAVARI	ELAMANCHILI	28154401212	ZPHS, ELAMANCHILI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
507.	WEST					
	GODAVARI	ELAMANCHILI	28154401508	ZPHS, YV LANKA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
508.	WEST	Nangara				
509.	GODAVARI WEST	NARSAPURAM	28154501513	ZPHS, LB CHERLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
509.	ſ	MAGGALTUR				
510.	GODAVARI WEST	MOGALTUR	28154600237	ZPHS, MOGALTHUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
510.	GODAVARI	MOCALTUD	004-14			
511.	GODAVARI	MOGALTUR	28154600304	ZPHS, MUTHYALAPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
J11.	WEST			ZPHS,		
	GODAVARI	MOGALTUR	30154500507	KUMMARAPURUGUPAL		
512.	GODAVAIL	PENUGANCHIPRO	28154600607	EM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	KRISHNA	LU	28160300207	KVR ZPHS (B)		
513.	KRISHNA	NANDIGAMA		PENUGANCHIPROLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
514.	KRISHNA	NANDIGAMA	28160400523	ZPHS NANDIGAMA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
515.	THUS THE	KANCHIKACHERL	28160402203	ZPHS LINGALAPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	KRISHNA	A	28160601204	7 D UC DADITALA		
516.	KRISHNA	IBRAHIMPATNAM		Z P HS PARITALA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
517.	KRISHNA	G.KONDURU	28160801216	ZPHS IBRAHIMPATNAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
518.	KRISHNA	MYLAVARAM	28160902404	ZPHS VELAGALERU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
519.	Idiorita	IVITLAVARAIVI	28161000211	SASR ZPHSCH.GUDEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	KRISHNA	MYLAVARAM	28161000915	MBM ZPHS(Girls		
520.	KRISHNA	MYLAVARAM		MYLAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
521.	KRISHNA	MYLAVARAM	28161000917	GovtHS MYLAVARAM	State Govt.	Secondary with grades 6 to 10
522.	KRISHNA		28161001104	ZPHS VELVADAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	1011011117	A.KONDURU	28161100504	ZPHS KAMBAMPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

523.		GAMPALAGUDE				
	KRISHNA	M	28161201710	ZPHS GAMPALAGUDEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
524.	KRISHNA	VISSANNAPET	28161400917	ZPHS VISSANNAPET	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
525.		VIJAYAWADA				
	KRISHNA	RURAL	28161601308	ZPHS NUNNA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
526.		VIJAYAWADA			- "	
	KRISHNA	RURAL	28161601404	ZPHS RAMAVARAPPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
527.		VIJAYAWADA				
	KRISHNA	RURAL	28161601705	ZPHS NIDAMANURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
528.		VIJAYAWADA		K.B.C ZP HS (B),		
	KRISHNA	URBAN	28161790952	PATAMATA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
529.	KRISHNA	KANKIPADU	28162000704	ZPHS EDUPUGALLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
530.	KRISHNA	GANNAVARAM	28162100503	ZPHS GOLLANAPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
531.				ZPHS		
	KRISHNA	GANNAVARAM	28162101407	VEDURUPAVULURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
532.				ZPHS(BOYS)	_	
	KRISHNA	GANNAVARAM	28162102010	GANNAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
533.				ZPHS(GIRLS)		
	KRISHNA	GANNAVARAM	28162102011	GANNAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
534.	KRISHNA	GANNAVARAM	28162102305	ZPHS DAVAJIGUDEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
535.	KRISHNA	NUZVID	28162302204	ZPHS MEERJAPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
536.	KRISHNA	MUSUNURU	28162500507	ZPHS CHAKKAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
537.	KRISHNA	MUSUNURU	28162501009	ZPHS MUSUNURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
538.	KRISHNA	BAPULAPADU	28162600904	ZPHS REMALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
539.	KRISHNA	UNGUTURU	28162700204	ZPHS ATKURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
540.	KRISHNA	UNGUTURU	28162700408	ZPHS TELAPAROLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
541.	KRISHNA	VUYYURU	28162800423	ZPHS VUYYURU (PT)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
542.	KRISHNA	PAMIDIMUKKALA	28162900402	ZPHS TADANKI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
543.	KRISHNA	MOVVA	28163001409	SMK ZPHS MOVVA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
544.				ZPHS		
	KRISHNA	KODURU	28163600618	SWATANTRAPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
545.	KRISHNA	MACHILIPATNAM	28163702204	ZPHS CHINNAPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
546.	KRISHNA	GUDURU	28163801208	ZPHS GUDURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
547.	KRISHNA	GUDURU	28163802208	ZPHS MALLAVOLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
548.	KRISHNA	PAMARRU	28163901117	ZPHS (SKRR) PAMARRU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
549.	KRISHNA	NANDIVADA	28164102106	ZPHS (PVCM)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

			T	DUDBARAGA	<del> </del>	<del></del>
550.	KRISHNA	CLIDIAVALIEDU	2045400474	RUDRAPAKA		
551.	KRISHNA	GUDLAVALLERU	28164301711	ZPHS KOWTARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
552.	<del></del>	BANTUMILLI	28164500612	ZPHS BANTUMILLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	KRISHNA	MUDINEPALLI	28164601809	ZPHS MUDINEPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
553.	GUNTUR	MACHERLA	28170100705	ZPHS KAMBHAMAPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
554.	GUNTUR	MACHERLA	28170190426	ZPHS (G) NEAR R.W .G	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
555.				ZPHS PWD COLONY		
	GUNTUR	MACHERLA	28170190437	MACHERLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
556.	GUNTUR	GURAZALA	28170300302	ZPHS TELUKUTLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
557.	GUNTUR	GURAZALA	28170300404	ZPHS PULIPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
558.	GUNTUR	GURAZALA	28170300815	GOVHS GURAZALA	State Govt.	Secondary with grades 6 to 10
559 <u>.</u>	GUNTUR	DACHEPALLE	28170400808	ZPHS DACHEPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
560	GUNTUR_	MACHAVARAM	28170500807	ZPHS MACHAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
<u>5</u> 61.	GUNTUR	BELLAMKONDA	28170600109	ZPHS BELLAMKONDA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
562.	GUNTUR	BELLAMKONDA	28170601309	ZPHS PAPAYAPALEM	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
563.	GUNTUR	KROSURU	28170800108	ZPHS DODLERU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
564.	GUNTUR	KROSURU	28170800703	ZPHS BAYYAVARAM	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
565	GUNTUR	THULLUR	28171000303	ZPHS ANANTHAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
566.	GUNTUR	THULLUR	28171000608	KVR ZPHS THULLUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
567.	GUNTUR	THULLUR	28171001106	SKD ZPHS RAYAPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
568.	GUNTUR	THULLUR	28171002005	ZPHS MANDADAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
569.	GUNTUR	THADEPALLE	28171100320	Z.PHS TADEPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
570.	GUNTUR	THADEPALLE	28171100604	ZPHS VADDESWARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
571.	GUNTUR	MANGALAGIRI	28171200408	ZPHS ATMAKUR	MPP_ZPP SCHOOLS	
572.	GUNTUR	MANGALAGIRI	28171200601	ZPHS NIDAMARRU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
573.	GUNTUR	MANGALAGIRI	28171201106	ZPHS NUTHAKKI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
574.	GUNTUR	PEDAKURAPADU	28171401309	ZPHS PEDAKURAPADU	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
575 <i>.</i>	GUNTUR	SATTENAPALLE	28171500104	ZPHS BHRUGUBANDA	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
576.	GUNTUR	SATTENAPALLE	28171500706	ZPHS PHANIDEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
577.	GUNTUR	SATTENAPALLE	28171590931	ZPHS (G) SATTENAPALLI		Secondary with grades 6 to 10
 578.	GUNTUR	RAJUPALEM	28171600212	ZPHS KUBADPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
579.	GUNTUR	RAJUPALEM	28171600404	ZPHS RAJUPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
580.	GUNTUR	RAJUPALEM	28171600404		MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
581.	GUNTUR	PIDUGURALLA		ZPHS GANAPAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
582.	GUNTUR	PIDUGURALLA	28171700206	ZPHS BRAHMANAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	CONTON	TEIDOGOKALLA	28171700321	ZPHS PIDUGURALLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

	<del>,                                      </del>					
583.	GUNTUR	PIDUGURALLA	28171700506	ZPHS JANAPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
584.	GUNTUR	PIDUGURALLA	28171700905	ZPHS JULAKALLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
585.				ZPHS		
	GUNTUR	KAREMPUDI	28171800206	PEDAKODAMAGUNDLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
586.	GUNTUR	KAREMPUDI	28171801008	B ZPHS KAREMPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
587.	GUNTUR	DURGI	28171900704	ZPHS OBULESUNIPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
588.	GUNTUR	DURGI	28171900807	ZPHS DURGI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
589.	GUNTUR	DURGI	28171901007	ZPHS MUTUKURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
590.	GUNTUR	VELDURTHI	28172000705	ZPHS VELDURTHI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
591.	GUNTUR	BOLLAPALLE	28172100908	ZPHS BANDLAMOTHU	MPP_ZPP.SCHOOLS	Secondary with grades 6 to 10
592.	GUNTUR	NAKARIKALLU	28172200106	ZPHS GUNDLAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
593.				SVVR ZPHS		
	GUNTUR	NAKARIKALLU	28172200410	NEKARIKALLLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
594.	GUNTUR	NAKARIKALLU	28172200705	ZPHS KANDLAGUNTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
595.	GUNTUR	MUPPALLA	28172300608	ZPHS MUPPALLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
596.	GUNTUR	MEDIKONDURU	28172500810	ZPHS MEDIKONDUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
597.	GUNTUR	GUNTUR	28172601009	ZPHS NALLAPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
598.	GUNTUR	GUNTUR	28172691263	GOVT HS P V THOTA	State Govt.	Secondary with grades 6 to 10
599.	GUNTUR	PEDAKAKANI	28172700103	ZPHS KOPPURAVURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
600.	GUNTUR	PEDAKAKANI	28172700212	SPV ZPHS NAMBUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
601.	GUNTUR	PEDAKAKANI	28172700311	ZPHS PEDAKAKANI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
602.	GUNTUR	PEDAKAKANI	28172700406	ZPHS VENIGANDLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
603.	GUNTUR	DUGGIRALA	28172800208	ZPHS REVENDRAPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
604.	GUNTUR	DUGGIRALA	28172801110	NF ZPHS DUGGIRALA(B)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
605.	GUNTUR	DUGGIRALA	28172801111	ZPHS (G) DUGGIRALA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
606.	GUNTUR	DUGGIRALA	28172801207	ZPHS EMANI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
607.	GUNTUR	KOLLIPARA	28172900910	ZPHS KOLLIPARA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
608.	GUNTUR	KOLLURU	28173000619	ZPHS(GIRLS) KOLLUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
609.	GUNTUR	KOLLURU	28173001105	ZPHS DONEPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
610.	GUNTUR	VEMURU	28173100611	GHS VEMURU	State Govt.	Secondary with grades 6 to 10
611.	GUNTUR	VEMURU	28173100904	ZPHS PERAVALI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
612.	GUNTUR	TENALI	28173200112	ZPHS KOLAKALURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
613.				ZPHS SANGAM		
	GUNTUR	TENALI	28173200606	JAGARLAMUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
614.	GUNTUR	TENALI	28173200708	ZPHS ANGALAKUDURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

615.	GUNTUR	TENALI	28173201206	ZPHS PEDARAVURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
616.	GUNTUR	TSUNDUR	28173300109	ZPHSEDLAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
617.	GUNTUR	CHEBROLU	28173400204	ZPHS, NARAKODURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
618.	GUNTUR	CHEBROLU	28173400307	ZPHS, VEJENDLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
619.		VATTICHERUKUR	_			
	GUNTUR	U	28173501206	ZPHS MUTLURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
620.		,		ZPHS		
	GUNTUR	PRATHIPADU	28173600609	CHINKONDRUPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
621.	GUNTUR	PRATHIPADU	28173600707	ZPHS GOTTIPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
622.	GUNTUR	EDLAPADU	28173700305	ZPHS LINGARAOPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
623.	GUNTUR	EDLAPADU	28173700605	ZPHS UNNAVA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
624.	GUNTUR	NADENDLA	28173800107	ZPHS SATULURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
625.	1			SNRR ZPHS		
	GUNTUR	NADENDLA	28173800505	CHIRUMAMILLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
626.	GUNTUR	EPURU	28174100205	ZPHS INUMELLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
627.	GUNTUR	EPURU	28174100507	ZPHS IPURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
628.	GUNTUR	SAVALYAPURAM	28174200306	ZPHS VELPURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
629.				DR BODIPUDI		
				HANUMAYYA AND		
				SUPRABHATH ZP HIGH		
620	GUNTUR	VINUKONDA	28174300106	SCHOOL	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
630.	GUNTUR	VINUKONDA	28174301607	Z.PHS P KANCHARLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
631.	GUNTUR	NUZENDLA	28174401806	ZPHS NUJENDLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
632.	CUNTUS	CHILAKALURIPET				
633.	GUNTUR	A	28174501405	SKSZPHS MURIKIPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	GUNTUR	PEDANANDIPADU	28174600805	ZPHS PEDANANDIPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
634.	GUNTUR	PONNURU	28174890726	ZPHS PONNUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
635.	GUNTUR	AMRUTHALURU	28174900708	ZPHS AMRUTHALURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
636.	GUNTUR	CHERUKUPALLE	28175000321	ZPHS CHERUKUPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
637.	GUNTUR	BATTIPROLU	28175100207	ZPHS ILAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
638.	GUNTUR	BATTIPROLU	28175100405	ZPHS VELLATURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
639.	GUNTUR	REPALLE	28175200407	ZPHS PETERU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
640.	GUNTUR	NAGARAM	28175301404	ZPHS VULLIPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
641.	GUNTUR	NIZAMPATNAM	28175400719	ZPHS ADAVULADEEVI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
642.		PITTALAVANIPAL	'			
	GUNTUR	EM	28175500314	ZPHS CHANDOLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

643.	GUNTUR	KARLAPALEM	28175600111	ZPHS YAZALI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
644.	GUNTUR	KARLAPALEM	28175600320	ZPHS CHINTAYAPAELM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
645.	GUNTUR	KARLAPALEM	28175600415	ZPHS GANAPAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
646.		YERRAGONDAPAL		Govt.HS YERRAGONDA		
	PRAKASAM	EM	28180101717	PALEM	State Govt.	Secondary with grades 6 to 10
647.		PULLALACHERUV				
	PRAKASAM	U	28180201210	ZPHS PIDIKITIVARI PALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
648.		TRIPURANTHAKA				
	PRAKASAM	M	-28180300610	ZPHS MEDAPI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
649.		TRIPURANTHAKA		ZPHS	ŧ	
	PRAKASAM	М	28180300908	TRIPURANTHAKAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
650.	PRAKASAM	KURICHEDU	28180401111	Y.R,Z.P.H.S,KURICHEDU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
651.	PRAKASAM	DONAKONDA	28180500705	ZPHS DONAKONDA (RS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
652.	PRAKASAM	DONAKONDA	28180501506	ZPHS MALLAM PETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
653.	PRAKASAM	DONAKONDA	28180502902	ZPHS TELLA PADU	MPP_ZPP SCHOOLS .	Secondary with grades 6 to 10
654.	PRAKASAM	PEDARAVEEDU	28180600109	ZPHS SANIKAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
655.	PRAKASAM	P.DORNALA	28180700712	Govt.H S DORNALA	State Govt.	Secondary with grades 6 to 10
656.	PRAKASAM	MARKAPUR	28180900707	ZPHS RAYAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
657.	PRAKASAM	MARKAPUR	28180990425	ZPHS(GIRLS) 6TH WARD	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
658.				ZPHS		,
1	PRAKASAM	TARLUPADU	28181000905	KALUZUVVALAPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
659.	PRAKASAM	TARLUPADU	28181001410	ZPHS TARLUPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
660.	PRAKASAM	KONAKANAMITLA	28181102907	ZPHS GOTLAGATTU	MPP_ZPP SCHOOLS .	Secondary with grades 6 to 10
661.	PRAKASAM	KONAKANAMITLA	28181103406	ZPHS PEDARIKATLA	MPP_ZPP_SCHOOLS ,	Secondary with grades 6 to 10
662.	PRAKASAM	PODILI	28181202235	ZPHS PODILI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
663.	PRAKASAM	PODILI	28181202236	Govt.HS PODILI	State Govt	Secondary with grades 6 to 10
664.	PRAKASAM	PODILI	28181202237	Govt.HS(GIRLS)	State Govt.	Secondary with grades 6 to 10
665.	PRAKASAM	DARSI	28181301118	Govt.HS DARSI	State Govt.	Secondary with grades 6 to 10
666.	PRAKASAM	DARSI	28181301132	Z.P.GIRLS H S	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
667.	PRAKASAM	DARSI	28181302102	ZPHS RAJAM PALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
668.	PRAKASAM	DARSI	28181302708	ZPHS POTHA KAMURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
669.				VK GOVT HIGH SCHOOL		
	PRAKASAM	TALLURU	28181500509	TALLUR	State Govt.	Secondary with grades 6 to 10
670.	PRAKASAM	TALLURU	28181501210	ZPHS BODDIKURA PADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
671.				ZPHS EAST		
	PRAKASAM	TALLURU	28181501408	GANGAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

672.	PRAKASAM	ADDANKI	28181601204	ZPHS THIMMAYAPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
673.	PRAKASAM	BALLIKURAVA	28181700505	ZPHS BALLIKURAVA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
674.	PRAKASAM	BALLIKURAVA	28181700906	ZPHS PEDA AMBATIPUDI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
675.		SANTHAMAGULU		Govt.HS	<del></del>	
	PRAKASAM	RU	28181800409	SANTHAMAGULUR	State Govt.	Secondary with grades 6 to 10
676.		SANTHAMAGULU				
	PRAKASAM	RU	28181800807	ZPHS ELCHUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
677.		SANTHAMAGULU		ZPHS		
	PRAKASAM	RU ,	28181801107	MAKKENAVARIPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
678.	55444544	SANTHAMAGULU				
670	PRAKASAM	RU	28181801202	ZPHS CHAVITIPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
679.	PRAKASAM	MARTURU	28182000313	ZPHS MARTUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
680.	PRAKASAM	MARTURU	28182000808	ZPHS VALAPARLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
681.	PRAKASAM	MARTURU	28182001104	ZPHS DRONADULA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
682.	PRAKASAM	MARTURU	28182001305	ZPHS BOBBE PALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
683.	PRAKASAM	CHIRALA	28182300230	ZPHS EPURUPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
684.				ZPHS (GIRLS)		January Milling States & Co.
	PRAKASAM	CHIRALA	28182300231	EPURUPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
685.	PRAKASAM	VETAPALEM	28182400202	ZPHS PANDILLA PALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
<u>686.</u>	PRAKASAM	INKOLLU	28182500408	ZPHS PAVULUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
687.	PRAKASAM	INKOLLU	28182500513	ZPHS INKOLLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
688.				SRJRY.ZPHS		
	PRAKASAM	J.PANGULURU	28182600206	KONDAMANJULUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
689.	PRAKASAM	J.PANGULURU	28182600704	ZPHS BUDAWADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
690.	PRAKASAM	J.PANGULURU	28182600805	ZPHS J PANGULURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
691.	PRAKASAM	J.PANGULURU	28182601406	ZPHS CHANDALUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
692.	PRAKASAM	KORISAPADU	28182700213	ZPHS MEDARAMETLA	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
693.	PRAKASAM	KORISAPADU	28182700606	ZPHS RAVINUTHALA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
694.	PRAKASAM	KORISAPADU	28182700810	ZPHS PAMIDI PADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
695.		;		ZPHS KARUMUDIVARI		Secondary with grades 0 to 10
<u> </u>	PRAKASAM	MADDIPADU	28182800403	PALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
696	PRAKASAM	MADDIPADU	28182801105	ZPHS TELLABADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
697	PRAKASAM	MADDIPADU	28182801306	GOVT.HS MADDIPADU	State Govt.	Secondary with grades 6 to 10
698.	PRAKASAM	CHIMAKURTHI	28182900904	ZPHS DEVARAPALEM	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
699.	PRAKASAM	CHIMAKURTHI	28182901213	Govt.HS, CHIMAKURTHY	State Govt.	Secondary with grades 6 to 10
700.	PRAKASAM	MARRIPUDI	28183000508	ZPHS MARRIPUDI	MPP_ZPP SCHOOLS	
					MILT_2FF SCHOOLS	Secondary with grades 6 to 10

	-	·			- (CO   FDD   COL: C   C	1
701.	PRAKASAM	KANIGIRI	28183100403	ZPHS DIRISAVANCHA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
702.				ZPHS(Girls) KANIGIRI		
	PRAKASAM	· KANIGIRI	28183100920	9TH	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
703.	PRAKASAM	KANIGIRI	28183100921	Govt.HS, KANIGIRI	State Govt.	Secondary with grades 6 to 10
704.		HANUMANTHUNI		ZPHS,MAHAMMADA		
	PRAKASAM	PADU	28183200602	PURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
705.	PRAKASAM	BESTAVARIPETA	28183302008	ZPHS,GALIJERUGULLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
706.	PRAKASAM	CUMBUM	28183400914	ZPHS(G),CUMBUM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
707.	PRAKASAM	СИМВИМ	28183400915	Govt H S,CUMBUM (PT)	State Govt.	Secondary with grades 6 to 10
708.	PRAKASAM	GIDDALURU	28183601133	ZPHS(G),GIDDALUR (PT)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
709.	PRAKASAM	GIDDALURU	28183601408	ZPHS,K.S.PALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
710.	PRAKASAM	GIDDALURU	28183601810	ZPHS,MUNDLA PADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
711.				ZPHS,SANJEEVARAOPET		
	PRAKASAM	GIDDALURU	28183602009	Α	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
712.	PRAKASAM	KOMAROLU	28183701313	Govt H S,KOMAROLU	State Govt.	Secondary with grades 6 to 10
713.	PRAKASAM	C.S.PURAM	28183802005	ZPHS,C.S.PURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
714.	PRAKASAM	VELIGANDLA	28183901806	ZPHS,VELIGANDLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
715.			•	ZPHS,PEDACHERLO	-	
	PRAKASAM	P.C.PALLI	28184001011	PALLI .	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
716.	PRAKASAM	KONDAPI	28184201607	Govt.H S,KONDAPI (VILL)	State Govt.	Secondary with grades 6 to 10
717.		SANTHANUTHAL		Govt.H S,MYNAMPADU		
	PRAKASAM	APADU	28184300405	(VILL)	State Govt.	Secondary with grades 6 to 10
718.				SSKCM	·	
		SANTHANUTHAL .		ZPHS,SANTHANUTHALA		
	PRAKASAM	APADU .	28184300712	PADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
719.		SANTHANUTHAL			,	
	PRAKASAM	APADU	28184301402	Z P H.S,CHILAKAPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
720.		NAGULUPPALAPA		ZPHS,NAGULUPPALA		
	PRAKASAM	DU	28184501104	PADU	MPP_ZPP_SCHOOLS	Secondary with grades 6 to 10
721.	PRAKASAM	CHINAGANGAM	28184600615	ZPHS,CHINAGANJAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
722.	PRAKASAM	CHINAGANGAM	28184600712	ZPHS,PEDAGANJAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
723.				ZPHS,ĘTHAMUKKALA		
	PRAKASAM	KOTHAPATNAM	28184700612	(VILL)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
724.	PRAKASAM	TANGUTUR	28184800122	GOVT.H S,TANGUTUR	State Govt.	Secondary with grades 6 to 10
725.	PRAKASAM	ZARUGUMALLI	28184900604	ZPHS,KAMEPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
726.	PRAKASAM	ZARUGUMALLI	28184902007	ZPHS,ZARUGUMALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

727.				ZPHS,KANDUKURU,O.V		
	PRAKASAM	KANDUKURU	28185090337		MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
728.	PRAKASAM	KANDUKURU	28185090338	ZPHS(Girls),KANDUKURU		Secondary with grades 6 to 10
729.		VALETIVARIPALE		ZPHS,VOLETIVARI		Describer y with grades o to 10
	PRAKASAM	M	28185100604	PALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
730.	Brances	VALETIVARIPALE				, man grades o to 10
724	PRAKASAM	M	28185101308	ZPHS, POKURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
731.	DDAKASAAA	LINGASAMUDRA	E	KR		, , , , , , , , , , , , , , , , , , , ,
732.	PRAKASAM	M	28185300809	7	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	PRAKASAM	ULAVAPADU	28185500320	PVSS ZPHS,KAREDU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
733.	DDAKAGARA	SINGARAYAKOND				
734.	PRAKASAM	A	28185600606	ZPHS,WOOLLAPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
754.	DDAKACANA	SINGARAYAKOND				
735.	PRAKASAM	A	28185600714	ZPHS(Girls),S.KONDA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
733.	NELLORE	SEETHARAMAPU				
736.	NELLOKE	RAM	28190101011	ZPHS S R PURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
750.	NELLORE	VARIKUNTAPADU	20400004040	ZPHS		
737.	NELLORE	JALADANKI	28190201210	THIMMAREDDIPALLE	MPP_ZPP SCHOOLS_	Secondary with grades 6 to 10
738.	MELLONE	JALADANKI	28190400513	ZPPHS JALADANKI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
, 50.	NELLORE	JALADANKI	20100404205	ZPRHS		
739.	NELLORE	KAVALI	28190401205	SOMAVARAPPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
740.	NELLORE	KAVALI	28190500505	ZPHS RUDRAKOTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
741.	NELLORE	KAVALI	28190500827	ZPHS OTTURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
742.	NELLORE	KAVALI	28190501006	ZPHS, SARVAYAPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
743.	NELLONE	NAVALI	28190501210	ZPHS MUSUNURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
, 13.	NELLORE	BOGOLE	20100000100	ZPPHS PATHA		
744.	NELLORE	KALIGIRI	28190600106	BITRAGUNTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
745.	HELLONE	KALIGIKI	28190700609	ZPHS KALIGIRI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	NELLORE	KALIGIRI	10100701502	ZPHS SIDDANA		
746.	NELLORE	VINJAMUR	28190701503	KONDURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
747.	NELLORE	DUTTALUR	28190801126	ZPHS VINJAMUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
748.	NELLORE	UDAYAGIRI	28190901507	ZPHS NANDIPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
749.	NELLORE	MARRIPADU	28191001524	GOVT HS UDAYAGIRI	State Govt.	Secondary with grades 6 to 10
750.	NELLORE	<del></del>	28191101011	ZPHS MARRIPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
751.	NELLORE	ATMAKUR	28191202033	ZPPGHS ATMAKUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
,,,,,	IALLIONE	ANUMASAMUDR	28191300907	ZPPHS	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

		AMPET		ANUMASAMUDRA PETA		
752.	NELLORE	DAGADARTHI	28191401607	ZPHS DAGADARTHI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
753.	NELLORE	ALLUR	28191500412	ZPHS ISKAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
754.	NELLORE	ALLUR	28191501005	ZPHS NORTH MOPUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
755.				ZPHS		
	NELLORE	VIDAVALUR	28191600615	RAMATHEERDHAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
756.	NELLORE	VIDAVALUR	28191600711	ZPHS UTUKUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
757.				ZPHS		
	NELLORE	KODAVALUR	28191701406	NORTHRAJUPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
758.		BUCHIREDDIPALE		ZPGHS		
	NELLORE	M	28191800232	BUCHIREDDYPALEM	MPP_ZPP SCHOOLS '	Secondary with grades 6 to 10
759.		BUCHIREDDIPALE				
	NELLORE	M	28191800233	GOVT HS, BUCHI	State Govt.	Secondary with grades 6 to 10
760.		BUCHIREDDIPALE				
	NELLORE	M	28191801407	ZPHS DAMARAMADUGU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
761.	NELLORE	SANGAM	28191900704	ZPPHS MARRIPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
762.	NELLORE	SANGAM	28191901508	ZPPHS DUVVURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
763.	A)ELLORE	61116414	20404004705	ZPPHS	1400 700 COULOOLC	
764	NELLORE	SANGAM	28191901705	ANNAREDDYPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
764.	NELLORE	CHEJERLA	28192000309	ZPHS CHEJERLA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
765.	NELLORE	ANANTHASAGAR		ZPHS REVURU	MDD 7DD CCUOOLC	Secondary with grades 6 to 10
766.	•	RAPUR	28192101906	GOVT HS RAPUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
767.	NELLORE	KAPUK	28192303114	SBT GOVT GIRLS HIGH	State Govt.	Secondary with grades 6 to 10
/6/.	NELLORE	RAPUR	28192303132	SCHOOL RAPUR	State Govt.	Secondary with grades 6 to 10
768.	NELLOKE	NAFUN	28192303132	ZPHS	State Govt.	Secondary with grades 6 to 10
700.	NELLORE	PODALAKUR	28192400905	MAHAMMADAPURAM.	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
769.	NELLORE	PODALAKUR	28192402121	DNR ZPHS PODALAKUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
770.	NELLORE	PODALAKUR	28192402122	DNR ZPHS(G) PODALAKR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
771.	NELLORE	NELLORE	28192500812	ZPHS KOTHURU	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
772.	NELLORE	NELLORE	28192501010	ZPHS ALLIPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
773.	NELLORE	NELLORE	28192501011	ZPHS N V GARDENS	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
774.	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			ZPHS		Total Anti-Blades of to 10
', ''	NELLORE	NELLORE	28192501111	NARAYANREDDYPET	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
775.	NELLORE	NELLORE	28192501504	ZPHS KRISHINAGAR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
776.	NELLORE	NELLORE	28192502405	ZPHS SOUTH MOPUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

_							
	<u>777.</u>	NELLORE	NELLORE	28192502905	ZPHS BB NELLORE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
<u> </u>	778.	NELLORE	NELLORE	28192503104	ZPHS KANUPARTHIPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	779.				ZPHS DARGAMITTA		
 		NELLORE	NELLORE	28192590698	NELLORE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	780.				ZPHS(G) DARGAMITTA		
-		NELLORE	NELLORE	28192590699	NELLOR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	781.				GOVT HS SANTHPET		·
` <b> </b> -	700	NELLORE	NELLORE	28192590702	NELLORE	State Govt.	Secondary with grades 6 to 10
-	782.	NELLORE	KOVUR	28192600523	ZPHS(G) KOVUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	783.				SRI JBR GOVT HS		
-	704	NELLORE	KOVUR	28192600524	KOVUR	State Govt.	Secondary with grades 6 to 10
<u> </u>	784.	NELLORE	KOVUR	28192600909	ZPHS INAMADUGU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	785.	NEW ORE			MVRR ZPP HS		
<u> </u>	706	NELLORE	INDUKURPET	28192700808	NARSAPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	786.	NELLORE			ZPP HS KOTHUR OF I		
-		NELLORE	INDUKURPET	28192701316	PETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	787.	NELLODE	THOTAPALLIGUD		ZPHS CHINNAPALLI		
-	788.	NELLORE	UR	28192801006	PALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	788.	NELLORE	h di deti il indica		ZPHS		
-	789.	NELLORE	MUTHUKUR	28192900406	MUSUNURUVARIPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
-		NELLORE	MUTHUKUR	28192901313	ZPHS MUTHUKUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	790.	NELLODE	VENKATACHALA				
	791.	NELLORE	M	28193000308	ZPHS KASUMURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	791.	MELLODE	VENKATACHALA				
	792.	NELLORE	M	28193001409	ZPHS SURVEPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	752.	NELLORE	VENKATACHALA M	20402004505	ZPHS NIDIGUNTA		
-	793.	NELLORE		28193001606	PALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
-	794.		MANUBOLU	28193101209	ZPHS MANUBOLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
-		NELLORE	MANUBOLU	28193101213	ZP GIRLS HS MANUBOLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	795.	NELLORE	GUDUR	28193200206	ZPHS VINDURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
$\vdash$	796.	NELLORE	GUDUR	28193202104	ZPHS KONDAGUNTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
-	797.	NELLORE	GUDUR	28193290136	ZPGHS GUDUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	798.	NELLORE	SAIDAPURAM	28193302011	ZPHS SYDAPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
_	799.	NELLORE	DAKKILI	28193401404	ZPHS DAKKILI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
_	800.	NELLORE	VENKATAGIRI	28193504209	ZPHS VENKATAGIRI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	801.	NELLORE	BALAYAPALLI	28193601002	ZPHS BALAYAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
							<u></u>

802.				ZPHS		
0021	NELLORE	OZILI	28193702203	CHILLAMANCHENU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
803.	NELLORE	CHILLAKUR	28193801304	ZPHS CHINTHAVARAM	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
804.	NELLORE	KOTA	28193900306	ZPHS CHITTEDU	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
805.	NELLORE	КОТА	28193901217	ZPHS KOTA	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
806.	NELLORE	KOTA	28193901218	ZPGHS KOTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
807.	NELLORE	CHITTAMUR	28194100607	ZPHS GUNAPADU	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
808.	NELLORE	CHITTAMUR	28194100703	ZPHS METTU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
809.	NELLORE	CHITTAMUR	28194100907	ZPHS CHITTAMUR	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
810.	NELLORE	CHITTAMUR	28194101906	ZPHS MALLAM	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
811.	NELLORE	NAIDUPET	28194201303	ZPHS MENAKURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
812.	NELLORE	NAIDUPET	28194202228	ZPPHS NAIDUPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
813.	NELLORE	NAIDUPET	28194202229	ZPGHS NAIDUPET	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
814.		DORAVARISATRA				
	NELLORE	M	28194401706	ZPHS YEKOLLU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
815.				ZPHS(Girls),		
	NELLORE	SULLURPET	28194501322	SULLURUPET	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
816.				GOVT. HIGH SCHOOL,		
	NELLORE	SULLURPET	28194501323	SULLURPET	State Govt.	Secondary with grades 6 to 10
817.	NELLORE	SULLURPET	28194502304	ZPHS MANNAR POLUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
818.	NELLORE	TADA	28194601705	ZPPHS TADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
819.	NELLORE	TADA	28194601708	ZPPGHS TADA	MPP_ZPP SCHOOLS `	Secondary with grades 6 to 10
820.	KADAPA	MYDUKUR	28200601523	ZPHS S.MYDUKUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
821.	KADAPA	BADVEL	28201100317	ZPHS BADVEL	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
822.	KADAPA	KHAJIPET	28201300723	ZPHS KHAJIPETA(GIRLS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
823.	KADAPA	YERRAGUNTLA	28202400606	ZPHS POTLADURTHI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
824.	KADAPA	YERRAGUNTLA	28202401112	ZPHS CHILAMAKUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
825.	KADAPA	CHENNUR	28202700316	ZPHS BOYS CHENNUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
826.	KADAPA	VONTIMITTA	28202901426	ZPHS VONIMITTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
827.				ZPHS		
*	KADAPA	PENDLIMARRY	28203302411	NANDIMANDALAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
828.	KADAPA	VEMPALLI	28203400725	ZPHS (BOYS) VEMPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
829.	KADAPA	RAJAMPET	28203901038	ZPHS RAJAMPET(GIRLS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
830.	KADAPA	RAJAMPET	28203901039	ZPHS MANNUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
831.	KADAPA	RAJAMPET	28203901040	GOVT HS RAJAMPET	State Govt.	Secondary with grades 6 to 10

832.	KADAPA	NANDALUR	28204001909	ZPHS NANDALUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
833.	KADAPA	CHITVEL	28204200715	ZPHS CHITVEL	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
834.	KADAPA	KODUR	28204300944	ZPGHS GIRLS KODUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
835.	KADAPA	OBULAVARIPALLI	28204401018	ZPHS OBULAVARIPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
836.	KADADA	DAVACHOTA		GOVT HS RAYACHOTY		Sectionally with grades 5 to 10
837.	KADAPA	RAYACHOTY	28204991083	·	State Govt.	Secondary with grades 6 to 10
838.	KURNOOL	KOWTHALAM	28210100903	ZPHS HALVI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
839.	KURNOOL	KOSIGI	28210202410	<del></del>	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	KURNOOL	KURNOOL	28210701808	12 21 11 11 11 11 11 11 11 11 11 11 11 1	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
840.	KURNOOL	NANDIKOTKUR	28210800937	GOVT.HS NANDIKOTKUR	State Govt.	Secondary with grades 6 to 10
841.	KURNOOL	ATMAKUR	28211100130	GOVT.HS ATMAKUR	State Govt.	Secondary with grades 6 to 10
842.	KURNOOL	KODUMUR	28211900324	ZPHS(GIRLS) KODUMUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
843.	KURNOOL	VELDURTI	28212901013	ZPHS(BOYS) VELDURTHY	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
844.	KURNOOL	BETHAMCHERLA	28213000905	ZPHS RANGAPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
845.	KURNOOL	GADIVEMULA	28213200307	ZPHS GADIVEMULA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
846	KURNOOL	SIRVEL	28213600611	ZPHS SIRVEL	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
<u>847.</u>	KURNOOL	ALLAGADDA	28213800931	GOVT.HS ALLAGADDA	State Govt.	Secondary with grades 6 to 10
848.	KURNOOL	CHAGALAMARRI	28213901517	ZPHS CHAGLAMARRI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
849.	KURNOOL	DORNIPADU	28214100808	ZPHS DORNIPADU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
<u>850.</u>	KURNOOL	GOSPADU	28214200604	ZPHS DEEBAGUNTLA	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
<u>851.</u>	KURNOOL	BANAGANAPALLI	28214401203	ZPHS NANDAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
<u>852.</u>	KURNOOL	BANAGANAPALLI	28214403121	ZPHS(GIRLS) B.PALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
<u>853.</u>	KURNOOL	DHONE	28214900637	ZPHS(GIRLS) DHONE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
854.				ZPHS(GIRLS)		occordary with grades o to 10
	KURNOOL	PATHIKONDA	28215100725	PATHIKONDA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
855.	ANANTAPUR	VAJRAKARUR	28220400406	ZPHS VAIRAKARUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
856.				SJPGHS 27 TH WARD		The state of the s
	ANANTAPUR	GUNTAKAL	28220590471	GUNTAKAL	State Govt.	Secondary with grades 6 to 10
<u>857.</u>	ANANTAPUR	GOOTY	28220690322	ZPHS (G) GOOTY	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
<u>858.</u>	ANANTAPUR	PEDDAPAPPUR	28221001304	ZPHS PEDDAPAPPUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
<u>859.</u>	ANANTAPUR	PAMIDI	28221202016	T C GOVT.HS PAMIDI	State Govt.	Secondary with grades 6 to 10
860.	ANANTAPUR	KUDAIR	28221400907	ZPHS KUDAIR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
<u>861.</u>	ANANTAPUR	URAVAKONDA	28221501804	ZPHS AMIDYALA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
862.	ANANTAPUR	KANEKAL	28221701019	ZPHS(G) KANEKAL	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
863.	ANANTAPUR	KALYANDRUG	28222390712			account with Elanca o to to

864.		-		ZPHS(NORTH)	,	
	ANANTAPUR	KALYANDRUG	28222390713	KALYANDURG	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
865.	ANANTAPUR	ATMAKUR	28222400414	ZPHS ATMAKUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
866.		CHENNEKOTHAP		ZPHS		
	ANANTAPUR	ALLI	28223600309	CHENNEKOTHAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
867.	ANANTAPUR	TALUPULA	28223900519	GOVT.HS TALUPULA	State Govt.	Secondary with grades 6 to 10
868.	ANANTAPUR	PENUKONDA	28225200928	ZPHS(G) THOTAGERI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
869.	ANANTAPUR	CHILAMATHUR	28225501818	ZPHS CHILAMATHUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
870.		PEDDAMANDYA		ZPHS		
	CHITTOOR	М	28230100620	KALICHERLA(TELUGU)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
871.		THAMBALLAPALL				
	CHITTOOR	E	28230200814	ZPHS THAMBALAPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
872.		MULAKALACHER		ZPHS	,	
	CHITTOOR	UVU	28230300612	MOLAKALACHERUVU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
873.		PEDDATHIPPA			:	
	CHITTOOR	SAMUDRAM	28230400207	ZPHS KANDUKURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
874.				ZPHS	·	
		PEDDATHIPPA		PEDDATHIPPASAMUDRA		
	CHITTOOR	SAMUDRAM	28230401008	M(TELUGU)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
875.	outer on	D WOTH WOTH		ZPHS	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
	CHITTOOR	B.KOTHAKOTA	28230500224	B.KOTHAKOTA(GIRLS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
876.	CUITTOOR	D KOTHAKOTA	20220500225	ZPHS	NADD ZDD SCHOOLS	Carandam, with anadas Carado
077	CHITTOOR	B.KOTHAKOTA	28230500225	B.KOTHAKOTA(BOYS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
877.	CHITTOOR	B.KOTHAKOTA	28230500517	ZPHS GATTU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
878.	CHITTOOR	B.KOTHAKOTA	28230500811	ZPHS GOLLAPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
879.	CHITTOOR	KURABALAKOTA	28230600211	ZPHS MUDIVEDU	MPP_ZPP SCHOOLS .	Secondary with grades 6 to 10
880.	CHITTOOR	GURRAMKONDA	28230700711	ZPHS	MADD 700 CCHOOLS	Secondary with grades 6 to 10
881.	+		<del></del>	GURRAMKONDA(URDU)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
882.	CHITTOOR	GURRAMKONDA	28230701408	ZPHS THARIGONDA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	CHITTOOR	TIRUPATHI(U)	28231190117	ZPHS S.N.PURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
883.	CHITTOOR	TIRUPATHI(U)	28231191583	ZPHS M.R.PALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
884.	CHITTOOR	TIDLIDATUI/LI\	28231191584	ZPHS MANGALAM TRENDS	MPP ZPP SCHOOLS	Secondary with grades 5 to 10
885.	<del></del>	TIRUPATHI(U)	<del></del>	GHS TIRUPATI(GIRLS)	State Govt.	Secondary with grades 6 to 10
	CHITTOOR	TIRUPATHI(U)	28231191818			Secondary with grades 6 to 10
886.	CHITTOOR	RENIGUNTA	28231200311	ZPHS KARAKAMBADI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
887.	CHITTOOR	RENIGUNTA	28231200709	ZPHS R.MALLAVARAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

888.	CHITTOOR	RENIGUNTA	28231291020	ZPHS RENIGUNTA(BOYS)	MPP_ZPP SCHOOLS	Cocondam with grades 6 to 10
889.	CHITTOOR	RENIGUNTA	28231291021	ZPHS RENIGUNTA(GIRLS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
890.	CHITTOOR	YERPEDU	28231300105	ZPHS PALLAM	<del> </del>	Secondary with grades 6 to 10
891.	CHITTOOR	YERPEDU	28231300303	ZPHS PANGURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
892.	CHITTOOR	YERPEDU	28231301305	ZPHS YERPEDU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
893.	CHITTOOR	YERPEDU	28231302903	<del> </del>	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
894.	CHITTOOR	YERPEDU	28231302903	ZPHS MUNAGALAPALEM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
895.	- CHITTOOK	TEM EDO	20231303008	ZPHS PAPANAIDUPET RPBS ZPHS	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	CHITTOOR	SRIKALAHASTI	28231491158	SRIKALAHASTI(BOYS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
896.				ZPHS	IVIT _ZIT SCHOOZS	Secondary with grades 6 to 10
	CHITTOOR	SRIKALAHASTI	28231491159	SRIKALAHASTI(GIRLS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
897.	CHITTOOR	THOTTAMBEDU	28231502408	ZPHS PEDDAKANNALI	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
898.	CHITTOOR	B.N.KANDRIGA	28231601206	ZPHS PALLAMALA	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
899.	CHITTOOR	SATHYAVEDU	28231801203	ZPHS IRUGULAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
900.	CHITTOOR	SATHYAVEDU	28231802105	ZPHS MADANAMBEDU	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
901.	CHITTOOR	NAGALAPURAM	28231900203	ZPHS BEERAKUPPAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
902.	CHITTOOR	NAGALAPURAM	28231900811	GHS NAGALAPURAM	State Govt.	Secondary with grades 6 to 10
903.	CHITTOOR	PITCHATUR	28232001006	ZPHS VENGALATHURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
904.	CHITTOOR	VIJAYAPURAM	28232100606	ZPHS PANNUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
905.	CHITTOOR	NINDRA	28232200706	ZPHS KOTHA ARURU	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
906.	CHITTOOR	K.V.B.PURAM	28232300603	ZPHS ANJURU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
907.	CHITTOOR	K.V.B.PURAM	28232301303	ZPHS RAGIGUNTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
908.	CHITTOOR	TIRUPATHI(R)	28232600107	ZPHS CHERLOPALLI .	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
909.				ZPHS	<u></u>	Secondary with grades 0 to 10
	CHITTOOR	TIRUPATHI(R)	28232601421	PADMAVATHIPURAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
910.				ZPHS		, , , , , , , , , , , , , , , , , , , ,
	CHITTOOR	TIRUPATHI(R)	28232602903	DURGASAMUDRAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
911.	CHITTOOR	TIRUPATHI(R)	28232691225	ZPHS TIRUCHANUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
912.	CHITTOOR	R.C.PURAM	28232701708	ZPHS KUPPAM BADUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
913.	CHITTOOR	CHANDRAGIRI	28232800602	ZPHS A.RANGAM PET	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
914.		1		SP ZPHS		, , ,
	CHITTOOR	CHANDRAGIRI	28232801720	CHANDRAGIRI(GIRLS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10 .
915.		ļ i		GHS		
04.0	CHITTOOR	CHANDRAGIRI	28232801721	CHANDRAGIRI(BOYS)	State Govt.	Secondary with grades 6 to 10
916.	CULTOOS	CHINNAGOTTIGA				
	CHITTOOR	TTO	28232900705	ZPHS BHAKARAPET	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

917.				ZPHS		
	CHITTOOR	ROMPICHERLA	28233000412	ROMPICHERLA(BOYS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
918.	CHITTOOR	PILER _	28233100209	ZPHS TALAPULA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
919.	CHITTOOR	PILER	28233101130	ZPHS PILER(GIRLS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
920.	CHITTOOR	PILER	28233101131	ZPHS KOTAPALLE(BOYS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
921.	CHITTOOR	PILER	28233101134	ZPHS PILER(MAIN)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
922.	CHITTOOR	KALIKIRI	28233200103	ZPHS MAHAL(TELUGU)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
923.	CHITTOOR	KALIKIRI	28233201212	ZPHS KALIKIRI(GIRLS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
924.	CHITTOOR	KALIKIRI	28233201309	GHS KALIKIRI	State Govt.	Secondary with grades 6 to 10
925.	CHITTOOR	VAYALPAD	28233301012	ZPHS CHINTHAPARTHI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
926.				PVC GHS		
	CHITTOOR	VAYALPAD	28233301423	VALMIKIPURAM	State Govt.	Secondary with grades 6 to 10
927.				ZPHS	:	
				NIMMANAPALLE(TELUG	7	
	CHITTOOR	NIMMANAPALLE	28233400811	U)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
928.	CHITTOOR	MADANAPALLE	28233590589	ZPHS MADANAPALLI	MPP_ZPP SCHOOLS .	Secondary with grades 6 to 10
929.				GHS	:	·
	CHITTOOR	MADANAPALLE	28233590590	MADANAPALLE(GIRLS)	State Govt.	Secondary with grades 6 to 10
930.		RAMASAMUDRA				
	CHITTOOR	M	28233600107	ZPHS CHEMBAKUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
931.	ALUTTO OR	RAMASAMUDRA				
022	CHITTOOR	M	28233600407	ZPHS MATLAVARIPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
932.	CUITTOOD	RAMASAMUDRA	2022260200	ZDUC DARAACARAUDDARA	MADD 700 COULOUS	6   11   1   6   40
933.	CHITTOOR	M RAMASAMUDRA	28233600709	ZPHS RAMASAMUDRAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
955.	CHITTOOR	M	28233601505	ZPHS K.C.PALLE	MPP_ZPP SCHOOLS	Sacandam with grades C to 10
934.	CHITTOOR	PUNGANUR	28233701506	ZPHS R.C.PALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10 Secondary with grades 6 to 10
935.	CHITTOOR	PUNGANUR	28233701308			
936.	CHITIOOK	FUNGAINUR	20233730842	ZPHS PUNGANUR(GIRLS) ZPHS	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
330.	CHITTOOR	PUNGANUR	28233790843	PUNGANUR(URDU)	MPP ZPP SCHOOLS	   Secondary with grades 6 to 10
937.	CHITTOOR	PUNGANUR	28233790844	BR GHS PUNGANUR	State Govt.	Secondary with grades 6 to 10
938.	CHITTOOR	CHOWDEPALLE	28233801008	ZPHS PUDIPATLA	MPP ZPP SCHOOLS	Secondary with grades 6 to 10
939.	CHITTOOR	SOMALA	28233900305	<u> </u>	<del>-</del>	
940.	<del>                                     </del>	SOMALA		ZPHS KANDUR ZPHS NANJAMPETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
940.	CHITTOOR	JUIVIALA	28233901106	ZPHS NANJAMPETA ZPHS	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
341.	CHITTOOR	SOMALA	28233901312	PEDDAUPPARAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
	T CULL LOOK	Tagisiyry	20233301312	LEDUNOLLYIVALAFFI	<u> </u>	T account A Mini Riages & fo to

,

942.	CHITTOOR	PULICHERLA	28234100606	ZPHS MANGALAM PETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
943.	CHITTOOR	PULICHERLA	28234101511	ZPHS KALLUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
944.	CHITTOOR	PAKALA	28234200416	ZPHS DAMALCHERUVU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
945	CHITTOOR	VEDURUKUPPAM	28234300807	ZPHS VEDURUKUPPAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
946.	CHITTOOR	VEDURUKUPPAM	28234301011	ZPHS PACHIKAPALLAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
947.				ZPHS		
	CHITTOOR	VEDURUKUPPAM	28234301503	THIRUMALAIAHPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
948.	CHITTOOR	PUTTUR	28234400602	ZPHS GOLLAPALLI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
949.	1		1	ZPHS		
	CHITTOOR			PARAMESWARAMANGA		
050	CHITTOOR	PUTTUR	28234401608	LAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
950.	CHITTOOR	PUTTUR	28234490926	ZPHS PUTTUR(GIRLS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
951.	CUTTOOD	BUITTI ID	1	ZPHS GATE		
052	CHITTOOR	PUTTUR	28234490938	PUTTUR(TELUGU)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
952.	CHITTOOR	NAGARI	28234500503	ZPHS M.KOTHUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
953.	CHITTOOR	NAGARI	28234502701	ZPHS THADUKUPET	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
954.	CHITTOOR	NAGARI	28234590676	ZPHS PUDUPET(TAMIL)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
955.	CHITTOOR	NAGARI	28234590678	ZPHS SATHRAWADA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
956.	011177000			ZPHS		
057	CHITTOOR	NAGARI	28234590679	<u>EKAMBARAKUPPAM</u>	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
957.	CHITTOOR	NAGARI	28234590680	PCN GHS NAGARI	State Govt.	Secondary with grades 6 to 10
958.	CHITTOOR	KARVETINAGAR	28234600605	ZPHS KATHERAPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
959.	SULTE OF			RKSR GHS		
	CHITTOOR	KARVETINAGAR	28234600917	KARVETINAGAR	State Govt.	Secondary with grades 6 to 10
960.	CHITTOOR	S.R.PURAM	28234700504	ZPHS KOTHAPALLIMITTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
961.	CUITTOOR	GANGADHARANE				
962.	CHITTOOR	LLORE	28234900208	ZPHS NELLEPALLE	-MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
902.	CHITTOOR	GANGADHARANE	2022402044	==		
963.	CHITTOOK	LLORE	28234900414	ZPHS MENATAMPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
303.	CHITTOOR	GANGADHARANE	2022400220	TOUG THE STATE OF THE		
964.	CHITTOOR	LLORE	28234902309	ZPHS THUGUNDRAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
965.	CHITTOOR	PENUMUR	28235000510	ZPHS PENUMUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
965. 966.	<del></del>	PUTHALAPATTU	28235101807	ZPHS PUTHALAPATTU	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
<del></del>	CHITTOOR	PUTHALAPATTU	28235102108	ZPHS M.BANDAPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
967.	CHITTOOR	IRALA	28235200314	ZPHS POLAKALA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
968.	CHITTOOR	IRALA	28235201513	ZPHS M.PAIPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

•

969.		THAVANAMPALL				
	CHITTOOR	E	28235301009	ZPHS ARAGONDA(BOYS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
970.		THAVANAMPALL				Joseph January Joseph January Joseph January J
	CHITTOOR	E	28235301010	ZPHS ARAGONDA(GIRLS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
971.	CHITTOOR	CHITTOOR	28235400503	ZPHS DODDIPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
972.	CHITTOOR	CHITTOOR	28235401503	ZPHS B.N.R.PETA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
973.	CHITTOOR	CHITTOOR	28235402506	ZPHS THUMMINDA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
974.	CHITTOOR	CHITTOOR	28235491812	PCR GHS CHITTOOR	State Govt.	Secondary with grades 6 to 10
975.	CHITTOOR	GUDIPALA	28235501702	ZPHS NARAHARI PET	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
976.				GHS		
	CHITTOOR	GUDIPALA	28235502504	BOMMASAMUDRAM	State Govt.	Secondary with grades 6 to 10
977.	CHITTOOR	YADAMARI	28235600713	ZPHS YADAMARI-I	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
978.	CHITTOOR	BANGARUPALEM	28235700504	ZPHS THUMBAKUPPAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
979.				ZPHS GUNDLA		
	CHITTOOR	BANGARUPALEM	28235701305	KATTAMANCHI	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
980.	CHITTOOR	BANGARUPALEM	28235701912	GHS BANGARUPALYAM	State Govt.	Secondary with grades 6 to 10
981.		•		ZPHS EGUVA		
	CHITTOOR	BANGARUPALEM	28235702511	RAGIMANU PENTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
982.	CHITTOOR	PALAMANER	28235800121	GHS PALAMANER	State Govt.	Secondary with grades 6 to 10
983.				ZPHS		,
	CHITTOOR	PALAMANER	28235800314	PALAMANER(GIRLS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
984.	CHITTOOR	PALAMANER	28235800508	ZPHS PENGARAGUNTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
985.	CHITTOOR	PALAMANER	28235800705	ZPHS DODDIPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
986.				ZPHS MANDIPETA		
	CHITTOOR	PALAMANER	28235801002	KOTUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
987.				ZPHS		
	CHITTOOR	PALAMANER	28235801415	KOLAMASANAPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
988.	01177000		20222000404	ZPHS PONNAMAKULA	****	6 1 11 1 5 10
	CHITTOOR	GANGAVARAM	28235900404	PALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
989.	CHITTOOR	GANGAVARAM	28235901506		MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
990.	CHITTOOR	PEDDAPANJANI	28236000802	ZPHS NIDIGUNTA	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
991.	CHITTOOR	PEDDAPANJANI	28236001307	GHS PEDDAPANJANI	State Govt.	Secondary with grades 6 to 10
992.	OLUTTO OO	DAIDEDCIDALLE	20226404266	ZPHS	MADD ZDD CCUCOUS	Canadana de la Caración
	CHITTOOR	BAIREDDIPALLE	28236101309	BAIREDDIPALLE(BOYS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
993.	CHITTOOR	BAIREDDIPALLE	28236101311	ZPHS BAIREDDIPALLE(GIRLS)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10

.

.

•

<u>99</u> 4.	CHITTOOR	BAIREDDIPALLE	28236102305	ZPHS NELLIPATLA	MPP_ZPP SCHOOLS	Socondary with grades 6 to 10
995.	CHITTOOR	V.KOTA		ZPHS KHAZIPET(URDU)	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10 Secondary with grades 6 to 10
996.				ZPHS	WILL THE SCHOOLS	Secondary with grades 6 to 10
	CHITTOOR	V.KOTA	28236201107	GONUMAKULAPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
997.	CHITTOOR	GUDUPALLE	28236501910	ZPHS YAMAGANIPALLE	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
998.	CHITTOOR	KUPPAM		ZPHS DASEGOWNUR	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
999.	CHITTOOR	KUPPAM	28236602707	ZPHS CHANDAM	MPP_ZPP SCHOOLS	Secondary with grades 6 to 10
1000.	CHITTOOR	KUPPAM	28236604504	ZPHS ARIGACHINEPALLE	MPP ZPP SCHOOLS	Secondary with grades 6 to 10

•

·

.

,

## Annexure -III

## List of KGBVs

List of 77 KGBVs (Type I - 120 seats in each KGBV)

SI. No.	GBVs (Type I – 120 seats in each KC District	Block
1	Anantapur	Agali
2	Anantapur	Amarapuram
3	Anantapur	Chennekothapalli
4	Anantapur	Garladinne
5	Anantapur	Gooty
6	Anantapur	Kalyandurg
7	Anantapur	Kanaganapalli
- 8	Anantapur	Nallacheruvu
9	Anantapur	Putlur
10	Anantapur	Puttaparthi
11	Anantapur	Ramagiri
12	Anantapur	Settur
13	Anantapur	Tadipatri (M)
14	Chittoor	Baireddipalli
15	Chittoor	Gudupalli
16	Chittoor	Kalakada
17	Chittoor	Kurabalakota
18	Chittoor	KV Palle
19	Chittoor	KVB Puram
20	Chittoor	Ptm
21	Chittoor	Thamballapalli
22	Chittoor	Yerravaripalem
23	Guntur	Bollapalli
24	Guntur	Karempudi
25	Guntur	Krosuru
26	Guntur	Nuzendla
27	Kadapa	Chinnamandem
28	Kadapa	Khajipet
29	Kadapa	L.R.Palli
30	Kadapa	Penagalur
31	Kadapa	Pullampet
32	Kadapa	Ramapuram
33	Kadapa	Rayachoty
34	Kadapa	Vallur
35	Krishna	Gampalagudem
36	Kurnool	Allagadda
37	Kurnool	Alur
38	Kurnool	Aspari
39	Kurnool	B.Atmakur
40	Kurnool	Banaganapalli
41	Kurnool	C.Belgal
42	Kurnool	Dhone
43	Kurnool	Gadivemula
44	Kurnool	Gospadu
45	Kurnool	J.Bunglow
46	Kurnool	Kolimigundla

Si. No.	District	Block
47	Kurnool	Kosigi
48	Kurnool	Krishnagiri
49	Kurnool	Maddikera
50	Kurnool	Mahanandi
51	Kurnool	Midthur
52	Kurnool	Nandavaram
53	Kurnool	Orvakal
54	Kurnool	Owk .
55	Kurnool	Pagidyala
56	Kurnool	Pamulapadu
57	Kurnool	Panyam
58	Kurnool	Pathikonda
59	Kurnool	Rudravaram
60	Kurnool	Velgode
. 61	Nellore	A.S.Peta
62	Nellore	Kaligiri
63	Nellore	Kondapuram
64	Nellore	S.R.Puram
65	Prakasam	Darsi
66	Prakasam	Mundlamuru
67	Prakasam	Racharla
68	Srikakulam	Bhamini
69	Srikakulam	Burja
70	Srikakulam	Pathapatnam
71	Visakhapatnam	Kasimkota
72	Visakhapatnam	Narsipatnam
73	Vizianagaram	Komarada
74	Vizianagaram	Kurupam
75	Vizianagaram	Lakavarapukota
76	Vizianagaram	Therlam
77	Vizianagaram	Vepada

List of 244upgraded KGBVs in Type II

Sl. No.	District	Block
1.	Anantapur	Amadagur
2.	Anantapur	Ananthapuramu
3	Anantapur	Atmakur
4.	Anantapur	B K Samudram
5.	Anantapur	Battalapalli
6.	Anantapur	Bommanahal
7	Anantapur	BramhaSamudram
8.	Anantapur	Bukkapatnam
9.	Anantapur	Chilamathur
10.	Anantapur	D Hirehal
11.	Anantapur	Dharmavaram
12.	Anantapur	Gandlapenta
13.	Anantapur	Gorantia
14.	Anantapur	Gudibanda
15.	Anantapur	Guntakal (M)
16.	Anantapur	Hindupur (M)
17.	Anantapur	Kadiri (M)

Sl. No.	District	Block
18.	Anantapur	Kambadur
19.	Anantapur	Kanekal
20	Anantapur	Kudair
21.	Anantapur	Kundurpi
22.	Anantapur	Lepakshi
23,	Anantapur	Madakasira
24.	Anantapur	Mudigubba
25.	Anantapur	N P Kunta
26.	Anantapur	Nallamada
27.	Anantapur	Namaia
28,	Anantapur	O D Cheruvu
29.	Anantapur	Pamidi
30.	Anantapur	Peddapappur
31.	Anantapur	Peddavadugur
32.	Anantapur	Rayadurg
33.	Anantapur	Roddam
34.	Anantapur	Rolla
35.	Anantapur	Singanamala
36.	Anantapur	Somandepalli
37.	Anantapur	Tadimami
38.	Anantapur	Tadipatri
39.	Anantapur	Tanaka!
40.	Anantapur	Uravakonda
41.	Anantapur	Vajrakarur
42.	Anantapur	Vijanarur
43.	Anantapur	Yadiki
44.	Anantapur	Yellanur
45.	Chittoor	B.Kothakota
46.	Chittoor	KUPPAM
47.	Chittoor	
48,	Chittoor	Mulakalacheruvu
49.	Chittoor	Nimmanapalle
50,	Chittoor	Peddamandyam
51.	Chittoor	PUNGANUR
52.	Chittoor	Ramasamudram
53,	Chittoor	Rompicherla
54.	East Godavari	Santhipuram
	East Godavari	Chintur
	East Godavari	Gangavaram
	East Godavari	Kotananduru
	East Godavari	Kunavaram
	East Godavari	Mredumilli
	East Godavari	Rampachodavaram
	East Godavari	Thondangi
	East Godavari	Tuni
	East Godavari	VrPuram
		Y Ramavaram
	East Godavari Guntur	Yetapaka
		Atchampet
	Guntur	Chilakaluripet (M)
	Guntur	Dachepalli
68.   (	Guntur	Durgi

Sl. No.	District	Block
69.	Guntur	Guraza!a
70.	Guntur	1puru
71.	Guntur	Machavaram
<u>72.</u>	Guntur	Macherla
<u>73.</u>	Guntur	Muppalla
74.	Guntur	Nakarikallu
75.	Guntur	Narasaraopet (M)
<u>76.</u>	Guntur	Piduguralla
<u>77.</u>	Guntur	Rajupalem
78.	Guntur	Rentachintala
79.	Guntur	Sattenapalli
80.	Guntur	Veldurthy
81.	Guntur .	Vinukonda
82.	Guntur	Romipicherla
83.	Kadapa	Atlur
84.	Kadapa	B.Kodur
85.	Kadapa	B.Mattam (Hi)
86.	Kadapa	Chakrayapet
87.	Kadapa .	Chapadu
88,	Kadapa	Chitvel
89.	Kadapa	Duvvur
90.	Kadapa	Galíveedu
91.	Kadapa	Jammalamadugu
92.	Kadapa	Kalasapadu
93,	Kadapa	Mydukur (St)
94.	Kadapa	Obulavaripalli
95.	Kadapa	Pendlimany
96.	Kadapa	Porumamilla
97.	Kadapa	Sa Kasinayana
98.	Kadapa	Sambepalii
99,	Kadapa	Simhadripuram
100.		T.Sundupalli
101.		Vernula
102.	Krishna	A.Konduru
	Kurnool	Adoni
104,		Adoni (M)
_	Kumool	Atmakur
106.	Kumool	Bethamcherla
	Kumool	Chippagiri
108.	Kumool	Devanakonda
109.	Kurnool	Domipadu
	Kumool	Gonegandia
· 111.	Kurnool	Gudur
112.	Kurnoo!	Halaharvi
113,	Kumool	
114.	Kumool	Holagunda Kathur
	Kumool	Kallur
116.	Kumool	Kodumur
117.	Kumool	Kothapalli
	Kumool	Kowthalam
119.	Kumool	Kumool
117.	Valiloni	Mantralayam

SI. No.	District	Block
120.		Nandyal (M)
	Kurnool.	Nandyal
	Kumool	Pd.Kadabur
	Kumool	Peapuly
124.	Kumool	Sanjamala
125.	Kumool	Sirvel
126.	Kumool	Uyyalawada
127.	Kurnool	Veldurthy
128.	Kurnool	Yemmiganur
129.	Nellore	D.V.Satram
130.	Nellore	Duttaluru
	Nellore	Marripadu
132.		Tada
	Prakasam	Ardhaveedu
134.	Prakasam	Ballikurava
135.	Prakasam	Bestavaripeta
136.	Prakasam	Chinagangam
137.	Prakasam	Chirala
138.	Prakasam	Donakonda
139.	Prakasam	Gudiuru
	Prakasam	Hanumanthunipadu
141,	Prakasam	Kandukuru
142.	Prakasam	Kanigiri
143.	Prakasam	Komarolu
144.	Prakasam	Konakanamitla
145.	Prakasam	Kothapatnam
146.	Prakasam	Kurichedu
147.	Prakasam	Lingasamudram
148.	Prakasam	Markapur
149.	Prakasam	Marripudi
1 <u>50.</u>	Prakasam	P.C.Palli
151.	Prakasam	P.Domala
152.	Prakasam	Pamuru
153.	Prakasam	Pedaraveedu
154.	Prakasam Prakasam	Poditi
1 <u>55.</u>	Prakasam	Ponnaluru
156.	Prakasam_	Pullalacheruvu
157.	Prakasam	Santhamaguluru
158.	Prakasam	Talluru
159.	Prakasam	Tarlupadu
160.	Prakasam	Tripuranthakam
161.	Prakasam	Ulavapadu
162.	Prakasam	Valetivaripalem Veligandia
163.	Prakasam	Voligations
164.	Prakasam	Yerragondapalem Amadalavalasa
165.	Srikakulam	Etcherla
166. 167.	Srikakulam Srikakulam	Gara
168.	Srikakulam	Hiramandalam
169.	Srikakulam	Ichapuram
170.	Srikakulam	Jalumuru
170.	Silvavalati	J Salumuru

SI. No.	District	Block
171.	Srikakulam	Kanchili
172.	Srikakulam	Kaviti
173.	Srikakulam	Kotturu
174.	Srikakulam	L.N.Peta
175.	Srikakulam	Laveru
176.	Srikakulam	Mandasa
177.	Srikakulam	Meliaputti
178.	Srikakulam	Nandigam
179.	Srikakulam	Polaki
180.	Srikakulam	Ponduru
181.	Srikakulam	R.Amadalavalasa
182.	Srikakulam	Rajam
183.	Srikakulam	Ranasthalam
184.	Srikakulam	Santhabommali
185.	Srikakulam	Santhakaviti
186.	Srikakulam	Saravakota
187.	Srikakulam	Seethampeta
188.	Srikakulam	Sompeta
189.	Srikakulam	Srikakulam
190.	Srikakulam	Vangara
191.	Srikakulam	Veeraaghattam
192.	Visakhapatnam	Ananthagiri
193.	Visakhapatnam	Araku
194.	Visakhapatnam	Atchtapuram
195.	Visakhapatnam	Butchayyapeta
196.	Visakhapatnam	Cheedikada
197.	Visakhapatnam	Chintapalli
198.	Visakhapatnam	Chodavaram
199.	Visakhapatnam	Deverapalli
200.	Visakhapatnam	Dumbriguda
201.	Visakhapatnam	G. Madugula
202.	Visakhapatnam	G.K. Veedhi
203.	Visakhapatnam	Golugonda
204.	Visakhapatnam	Hukumpeta
205.	Visakhapatnam	K Kotapadu
206.	Visakhapatnam	Kotauratia
207.	Visakhapatnam	Koyyuru
208.	Visakhapatnam	Makavarapalem
209. 210.	Visakhapatnam	Munchingput Nathavaram
210.	Visakhapatnam Visakhapatnam	Paderu
211.	Visakhapatnam	Pedabayalu
213.	Visakhapatnam	Rambilli
214.	Visakhapatnam	Ravikamatham
215.	Visakhapatnam	Rolugunta
216.	Visakhapatnam	S.Rayavaram
217.	Visakhapatnam	V.Madugula
218.	Vizianagaram	Badangi
219.	Vizianagaram	Balijipeta
220.	Vizianagaram	Bhogapuram
221.	Vizianagaram	Bobbili
222.	Vizianagaram	Bondapalli
Let.	1 1000000000000	1 - ovide point

SI. No.	District	Block
223.	Vizianagaram	Dathirajeru
224,	Vizianagaram	Denkada
225.	Vizianagaram	G.L.Puram
226.	Vizianagaram	Gantyada
227.	Vizianagaram	Garividi
228.	Vizianagaram	Garugubilli
229.	Vizianagaram	Gurla
230.	Vizianagaram	Jami
231.	Vizianagaram	Jiyyammavalasa
232	Vizianagaram	. Kothavalasa
233.	Vizianagaram	Makkuva
234.	Vizianagaram	Mentada
235.	Vizianagaram	Merakamudidam
236.	Vizianagaram	Nellimarla
237.	Vizianagaram	Pachipenta
238.	Vizianagaram	Parvathipuram
239.	Vizianagaram	Pusapatirega
240.	Vizianagaram	Ramabhadrapuram
241.	Vizianagaram	Saluru
242,	Vizianagaram	Seethanagaram
243.	West Godavari	Kukunnuru
244.	West Godavari	Velairpadu

List of 31 KGBVs upgraded in Type III

SI. No.	District	Block
<u>          1                          </u>	Anantapur	Dolumen
2	Anantapur	Gummagatta
3	Anantapur	Parigi
4	Anantapur	Rapthadu
5	Anantapur	Talupula
6	Chittoor	Gangavaram
7	Chittoor	Ramakuppam
8	East Godavari	Sankhavaram
9	Guntur	Bellamkonda
10	Guntur !	Nadendla
11	Kadapa	Peddamudium
12	Kadapa	Veeraballi
13	Krishna	Reddigudem
14	Kumool	Chagalamarri
<u>1</u> 5	Kurnool	Tuggali
16	Nellore !	Kavali
17	Nellore	Venkatagiri
18	Prakasam	C.S.Puram
19	Prakasam	Zarugumalli
20	Srikakularn	G.Sigadam
21	Srikakulam	Kotabommali
22	Visakhapatnam	Anadapuram
23	Visakhapatnam	Bheemunipatnam
24	Visakhapatnam	Munagapaka
25	Visakhapatnam	Nakkapalli
26	Visakhapatnam	Padmanabham

Sl. No.	District	Block
27	Visakhapatnam	Sabbavaram
28	Vizianagaram	Cheepurupalli -
29	Vizianagaram	Gajapathinagaram
30	Vizianagaram	Vizianagaram
31	West Godavari	Kukunnuru

List of 143 KGBVs (Type -IV)

Sl. No.	District	Block
1	Ananthapur	Puttaparthi
2	Ananthapur	Rayadurg
3	Ananthapur	Kalyandurg
4	Ananthapur	Rapthadu
5	Ananthapur	Gooty
6	Ananthapur	Ramagiri
7	Ananthapur	Ammadagur
8	Ananthapur	Nallacheruvu
9	Ananthapur	Agali
10	Ananthapur	Kanaganapalli
11	Ananthapur	Amarapuram
12	Ananthapur	C.K. Palli
13	Ananthapur	Yadiki
14	Ananthapur	Dharmavaram
15	Ananthapur	Yellanur
16	Ananthapur	Vidapanakal
17	Ananthapur	Kanekal
18	Ananthapur	Putlur
19	Ananthapur	Garladinne
20	Ananthapur	Hindupur
21	Ananthapur	Vajrakarur
22	Ananthapur	Settur
23	Ananthapur	Pamidi
24	Ananthapur	Tadipatri
25	Ananthapur	Uravakonda
26	Chittoor	Peddamandyam
27	Chittoor	B. Kothakota
28	Chittoor	PTM
29	Chittoor	Rompicherla
30	Chittoor	Kalakada
31	Chittoor	Gudupalle
32	Chittoor	Dinnepalli (Rama samudram)
33	Chittoor	Nadimuru (Kuppam)
34	Chittoor	Yerrvaripalem
35	Chittoor	AdavinaduniGunta (Punganoor)
36	Chittoor	Mudivadu (Kurabalakota)
37	Chittoor	Santhipuram
38	Chittoor	Kammanapalle (Baireddypally)
39	Chittoor	K.V.Palli
40	Chittoor	Nimmanapalli
41	Chittoor	K.V.B. Puram
42	Chittoor	Molakalacheruvu
43	Chittoor	Thamballapalli

Sl. No		Block
44	East Godavari	Sankavaram
<u>45</u>	East Godavari	Hamsavaram
46	Guntur	Krosuru
47	Guntur	Karempudi
48	Guntur	Gurazala/ Pallegunta
49	Guntur	Dachavaram
50	Guntur	Nuzendla
51	Guntur	Chikatigalapalem
52	Guntur	Dachepalli
53	Guntur	Bollapalli
54	Guntur	Chirumamilla
<u>55</u>	Guntur	Vipparlareddypalem
56_	Kadapa	Khajipet
_ 57	Kadapa	L.R.Palli
58	Kadapa	SA Kasinayana
59	Kadapa	Chinnamandem
60	Kadapa	Pullampet
61	Kadapa	Ramapúram
62	Kadapa	Rayachoty
63	Kadapa	Valluru
64	Krishna	Peddakomera (Gampalagudem)
65	Krishna	Maddulaparva (Reddygudem)
66	Kurnool	Rudravaram
67	Kurnool	Orvakal
68	Kurnool	Kallur (Pedapadu)
69	Kurnool	Gadivemula
70	Kurnool	BandiAthmakur
71	Kurnool	Pamulapadu
72	Kurnool	Veighna die CV - 1 1
73	Kurnool	Krishnagiri (Kambalapadu) Gospadu
74	Kurnool	PeddaKabadur
75	Kurnool	Yemmignur
76	Kurnool	
77	Kurnool	Gonegandla
78	Kurnool	Gudur (Julakal)
79	Kurnool	Dhone Velgode
80	Kurnool	
81	Kurnool	Nandavaram Valiminum II
82	Kurnool	Kolimigundla
83	Kurnool	Uyyalawada
84	Kurnool	C.Belgal
85	Kurnool	Aspari
86	Kurnool	Mahanandi (Thimmapuram)
87	Kurnool	Manthralayam
88	Kurnool	Panyam
89	Kurnool	Allur
90	Kurnool	Pathikonda
91	Kurnool	Banganapalli
92	Kurnool	Midthur
93	Kurnool	Sirvel
94		Owk
74	Kurnool	Kodumur

	SI. No.	District	Block
	95	Kurnool	Allagadda
- 1	96	Kurnool	Kosigi
	97	Kurnool	Maddikera (East)
ŀ	98	Kurnool	Jupadu Bungalow
-	99	Nellore	Kaligiri
Į.	100	Nellore	Sitarampuram
-	101	Nellore	Duttalur
	102	Nellore	Ottur
}	103	Nellore	Kondapuram
-	104	Nellore	Tada
}	105	Nellore	A.S.peta
	106	Nellore	Marripadu(Nandavaram)
<u>_</u>	107	Prakasam	Santhinagar (Darsi)
-	108	Prakasam	Mittamidipalli
-	109	Prakasam	Mallikarjunapuram
-	110	Prakasam	Racherla
-	111	Prakasam	Kanigiri
	112	Prakasam	Chirala
	113	Srikakulam	Karavanja
	_114_	Srikakulam	Rajapuram
-	115	Srikakulam	Edulavalasa
	116	Srikakulam	M.S.Palli
-	117	Srikakulam	Rattakanna (purushotapuram)
<b>⊢</b>	118	Srikakulam	Palavalasa (Sompeta)
$\vdash$	119	Srikakulam ,	Bhamini
-	120 121	Srikakulam	O.V. Peta
·  -		Srikakulam	Pathapatnam
<u> </u> -	122 123	Srikakulam	Kuppili
	124	Srikakulam	Tamada (Laveru)
	125	Srikakulam S-il-lad	Ponduru
	126	Srikakulam Srikakulam	Kondamulugu
<u></u> ⊢	127	Srikakulam	G.Singdam
<b>⊢</b>	128	Visakhapatnam	Vemulapudi
<u> </u>	129	Visakhapatnam Visakhapatnam	Cheedikada (Machala)
<del> </del>	130		Tegada
<u> </u>	131	Vizianagaram	Sathivada
<u> </u> -	132	<u>vizianagar</u> am	Budatanapalli/ Madanapuram
<b>⊢</b>	133	Vizianagaram Vizianagaram	L. Kota
-	134	Vizianagaram	Garbham
<b>├</b>	135	Vizianagaram	Bakkunaidupeta
<u></u> ⊢	136	Vizianagaram	Perumali
<u> </u>	137	Vizianagaram	Purohitunivalasa
-		Vizianagaram	Mulaikkayavalasa
	139	Vizianagaram	Shikarugangi
<u> </u>		Vizianagaram	Akkivaram (Gollapeta)
-	141	Vizianagaram	Kurupam
<u> </u>		Vizianagaram	Dallipeta
⊢		Vizianagaram Vizianagaram	Korukondapalem
<u> </u>	A 7.J	Vizianagaram	Arthanapalem

#### Annexure IV

### List of 50 schools approved in 2018-19 Under Vocational Component

S. No.	UDISE	School Name	District	Sector 1	Job Role 1	QP Code 1	Sector 2	Job Role 2	QP Code 2
1	28133201305	MJPAPBCWR SCHOOL THANAM	VISAKH APATNA M	APPAREL & MADE-UPS	SEWING MACHINE OPERATOR	AMH/Q0301	RETAIL	STORE OPERATIONS ASSISTANT	RAS/Q0101
2	28140601701	ZPHS (G) TUNI	EAST GODAV ARI	TOURISM & HOSPITALITY	FOOD AND BEVERAGE SERVICE TRAINEE	THC/Q0307	RETAIL	STORE OPERATIONS ASSISTANT	RAS/Q0101
3	28141700315	ZPHS GOKAVARAM	EAST GODAV ARI	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		AGRICU LTURE	Animal Health Worker	AGR/Q4804
4	28171300615	APRES HS TADIKONDA	GUNTUR	IT/ITES	DOMESTIC DATA ENTRY OPERATOR	SSC/Q2212	AGRICU LTURE	Solanaceous Crop Cultivator	AGR/Q0402
5	28171801009	APSWRS(B) KAREMPUDI	GUNTUR	ELECTRONICS AND HARDWARE	FIELD TECHNICIAN - OTHER HOME APPLIANCES	ELE/Q3104	BEAUT Y & WELLN ESS	ASSISTANT BEAUTY THERAPIST	BWS/Q0101
6	28110490411	GHS RAJAM	SRIKAK ULAM	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		AGRICU LTURE	Animal Health Worker	AGR/Q4804
7	28113290339	ZPHS KASIBUGGA	SRIKAK ULAM	IT/ITES	DOMESTIC DATA ENTRY OPERATOR	SSC/Q2212	RETAIL	STORE OPERATIONS ASSISTANT	RAS/Q0101
8	28122501306	ZPHS P P REGA	VIZIANA GARAM	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		AGRICU LTURE	Solanaceous Crop Cultivator	AGR/Q0402
9	28130590509	APTWRS(B), Arakuvalley	VISAKH APATNA M	TOURISM & HOSPITALITY	FOOD AND BEVERAGE SERVICE TRAINEE	THC/Q0307	AGRICU LTURE	Animal Health Worker	AGR/Q4804
10	28132401114	GOVT HS Pendurthi (PT)	VISAKH APATNA M	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		ELECTR ONICS AND HARDW ARE	FIELD TECHNICIAN - OTHER HOME APPLIANCES	ELE/Q3104

S. No.	UDISE	School Name	District	Sector 1	Job Role 1	QP Code 1	Sector 2	Job Role 2	QP Code 2
11	28210791176	GOVT.HS B.CAMP, KURNOOL	KURNO OL	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		AGRICU LTURE	Solanaceous Crop Cultivator	AGR/Q0402
12	28211890451	ZPHS KALLUR	KURNO OL	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		AGRICU LTURE	Animal Health Worker	AGR/Q4804
13	28215100728	APRS PATHIKONDA	KURNO OL	IT/ITES	DOMESTIC DATA ENTRY OPERATOR	SSC/Q2212	CONST RUCTIO N	ASSISTANT MASON	CON/Q0102
14	28112002012	APRS (BOYS)CBSE	SRIKAK ULAM	APPAREL & MADE-UPS	SEWING MACHINE OPERATOR	AMH/Q0301	BEAUT Y & WELLN ESS	ASSISTANT BEAUTY THERAPIST	BWS/Q0101
15	28112404004	ZPHS BUDITHI	SRIKAK ULAM	MULTI SKILLING	Multi Skill Foundation Course	0	Agricultu re	Solanaceous Crop Cultivator	AGR/Q0402
16	28141100715	GHS YELESWARAM	EAST GODAV ARI	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		AGRICU LTURE	Animal Health Worker	AGR/Q4804
17	28141801906	ZPHS KATRAVULAPALLI	EAST GODAV ARI	MULTI SKILLING	Multi Skill Foundation Course	0	Agricultu re	Solanaceous Crop Cultivator	AGR/Q0402
18	28141303611	APTWRS SEETHAPALLI	EAST GODAV ARI	APPAREL & MADE-UPS	SEWING MACHINE OPERATOR	AMH/Q0301	BEAUT Y & WELLN ESS	ASSISTANT BEAUTY THERAPIST	BWS/Q0101
19	28181900508	APSWRS (RPRP) Y.PUDI	PRAKAS AM	APPARĖL & MADE-UPS	SEWING MACHINE OPERATOR	AMH/Q0301	BEAUT Y & WELLN ESS	ASSISTANT BEAUTY THERAPIST	BWS/Q0101
20	28215100727	GOVT.HS PATHIKONDA	KURNO OL	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		AGRICU LTURE	_	AGR/Q4804
21	28112704826	MJPAPBCWRSCHO OL(G) TEKKALI	SRIKAK ULAM	APPAREL & MADE-UPS	SEWING MACHINE OPERATOR	AMH/Q0301	RETAIL	Animal Health Worker STORE OPERATIONS ASSISTANT	RAS/Q0101
22	28113290341	GHS PALASA	SRIKAK ULAM	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		AGRICU LTURE	Solanaceous Crop Cultivator	AGR/Q0402
23	28122300217	ZPHS	VIZIANA	ELECTRONICS	FIELD TECHNICIAN -	ELE/Q3104	RETAIL	STORE OPERATIONS	RAS/Q0101

ŝ

S. No.	UDISE	School Name	District	Sector 1	Job Role 1	QP Code 1	Sector 2	Job Role 2	QP Code 2
No.		CHEEPURUPALLI	GARAM	AND HARDWARE	OTHER HOME APPLIANCES			ASSISTANT	
24	28131390704	APTWRS(B), U.SILERU	VISAKH APATNA M	IT/ITES	DOMESTIC DATA ENTRY OPERATOR	SSC/Q2212	ELECTR ONICS AND HARDW ARE	FIELD TECHNICIAN OTHER HOME APPLIANCES	ELE/Q3104
25	28132401903	ZPHS Chinthala Agraharam	VISAKH APATNA M	TOURISM & HOSPITALITY	FOOD AND BEVERAGE SERVICE TRAINEE	THC/Q0307	ELECTR ONICS AND HARDW ARE	FIELD TECHNICIAN - OTHER HOME APPLIANCES	ELE/Q3104
26	28171100320	Z.PHS TADEPALLI	GUNTUR	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		ELECTR ONICS AND HARDW ARE	FIELD TECHNICIAN - OTHER HOME APPLIANCES	ELE/Q3104
27	28171590931	ZPHS (G) SATTENAPALLI	GUNTUR	CONSTRUCTIO	ASSISTANT MASON	CON/Q0102	APPARE L & MADE- UPS	SEWING MACHINE OPERATOR	AMH/Q0301
28	28185090337	ZPHS,KANDUKURU, O.V ROAD	PRAKAS AM	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		ELECTR ONICS AND HARDW ARE	FIELD TECHNICIAN - OTHER HOME APPLIANCES	ELE/Q3104
29	28110801504	APSWRS(G) ETCHERLA	SRIKAK ULAM	APPAREL & MADE-UPS	SEWING MACHINE OPERATOR	AMH/Q0301	BEAUT Y & WELLN ESS	ASSISTANT BEAUTY THERAPIST	BWS/Q0101
30	28111304710	A.P. TW E I R. SCHOOL (GI	SRIKAK ULAM	BEAUTY & WELLNESS	ASSISTANT BEAUTY THERAPIST	BWS/Q0101	APPARE L & MADE- UPS	SEWING MACHINE OPERATOR	AMH/Q0301
31	28112502212	GHS PATHAPATNAM	SRIKAK ULAM	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		AGRICU LTURE	Animal Health Worker	AGR/Q4804

•

S. No.	UDISE	School Name	District	Sector 1	Job Role 1	QP Code 1	Sector 2	Job Role 2	QP Code 2
32	28123401510	APSWRS VIYYAMPETA	VIZIANA GARAM	APPAREL & MADE-UPS	SEWING MACHINE OPERATOR	AMH/Q0301	BEAUT Y & WELLN ESS	ASSISTANT BEAUTY THERAPIST	BWS/Q0101
33	28131700813	APRS P.B. PALLI	VISAKH APATNA M	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		ELECTR ONICS AND HARDW ARE	FIELD TECHNICIAN - OTHER HOME	
34	28140104905	APTWRS MAREDUMILLI	EAST GODAV ARI	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		AGRICU LTURE	APPLIANCES  Solanaceous Crop Cultivator	AGR/Q0402
35	28171700206	ZPHS BRAHMANAPALLI	GUNTUR	CONSTRUCTIO N	ASSISTANT MASON	CON/Q0102	BEAUT Y & WELLN	ASSISTANT BEAUTY	
36	28211890453	APSWRS B.CAMP	KURNO OL:	APPAREL & MADE-UPS	SEWING MACHINE OPERATOR	AMH/Q0301	ESS BEAUT Y & WELLN ESS	ASSISTANT BEAUTY	BWS/Q0101
37	28120604207	ZPHS P BONDAPALLE	VIZIANA GARAM	RETAIL	STORE OPERATIONS ASSISTANT	RAS/Q0101	TOURIS M & HOSPIT ALITY	THERAPIST  FOOD AND BEVERAGE	BWS/Q0101
38	28131003708	APTWRS(G), Paderu	VISAKH APATNA M	IT/ITES	DOMESTIC DATA ENTRY OPERATOR	SSC/Q2212	BEAUT Y & WELLN	ASSISTANT BEAUTY	THC/Q0307
39	28132203104	ZPHS Chowduvada		BEAUTY & WELLNESS	ASSISTANT BEAUTY THERAPIST	BWS/Q0101	TOURIS M & HOSPIT ALITY	FOOD AND BEVERAGE	BWS/Q0101
0	28132890944	APSWRJR COLL SK PURAM	M	ELECTRONICS AND HARDWARE	FIELD TECHNICIAN - OTHER HOME	ELE/O3104	BEAUT Y & WELLN	ASSISTANT BEAUTY THERAPIST	THC/Q0307  BWS/Q0101

S. No.	UDISE	School Name	District	Sector 1	Job Role 1	QP Code 1	Sector 2	Job Role 2	QP Code 2
41	28142495470	GHS KAKINADA	EAST GODAV ARI	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		AGRICU LTURE	Animal Health Worker	AGR/Q4804
42	28145401710	APRES SAMANASA ARI		MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		ELECTR ONICS AND HARDW ARE	FIELD TECHNICIAN - OTHER HOME APPLIANCES	ELE/Q3104
43	28173801112	ZPHS GANAPAVARAM	GUNTUR	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		AGRICU LTURE	Solanaceous Crop Cultivator	AGR/Q0402
44	28211100130	GOVT.HS ATMAKUR	KURNO OL	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		AGRICU LTURE	Animal Health Worker	AGR/Q4804
45	28213000409	AP MODEL SCHOOL GORUMANUKOND A	KURNO OL	IT/ITES	DOMESTIC DATA ENTRY OPERATOR	SSC/Q2212	RETAIL	STORE OPERATIONS ASSISTANT	RAS/Q0101
46	28112502213	APSWRS PATHAPATNAM	SRIKAK ULAM	APPAREL & MADE-UPS	SEWING MACHINE OPERATOR	AMH/Q0301	BEAUT Y & WELLN ESS	ASSISTANT BEAUTY THERAPIST	BWS/Q0101
47	28120704710	ZPHS MAKKUVA	VIZIANA GARAM	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		ELECTR ONICS AND HARDW ARE	FIELD TECHNICIAN - OTHER HOME APPLIANCES	ELE/Q3104
48	28132890937	ZPHS THOTAGARUVU	VISAKH APATNA M	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		AGRICU LTURE	Solanaceous Crop Cultivator	- AGR/Q0402
49	28180700712	Govt.H S DORNALA	PRAKAS AM	MULTI SKILLING	MULTI SKILL FOUNDATION COURSE		AGRICU LTURE	Animal Health Worker	AGR/Q4804
50	28212901013	ZPHS(BOYS) VELDURTHY	KURNO OL	Retail	Assistant Beauty Therapist	BWS/Q0101	TOURIS M & HOSPIT ALITY	FOOD AND BEVERAGE SERVICE TRAINEE	THC/Q0307

.\*

## Samagra Shiksha Annual Works Plan & Budget 2018-19 (Spill Over)

#### Andhra Pradesh

St	ate:Andhra Prade	sh an	d Year :20	18-2019	Spil	lover
Major Component	Sub Component			Activity Master	Physical	Financial
Elementary Education	<u> </u>					
Access & Retention	Strengthening of Existing	21		Strengthening of Schools (up to Highest Class VIII)		
	Schools		21.a	BRC / URC	0	1360.54
			21.b	Additional Classrooms (Upto Class VIII)	1155	15010.021
			21.d	Boys Toilets	121	2608.52
			21.e	Girls Toilets (Upto Class VIII)	136	- 1020.6
			21.k	Major Repair (Upto Class VIII)	0	725.995
				Total of Strengthening of Schools (up to Highest Class VIII)	economic programmes and a seconomic programmes a	20725.68
			_	Total of Strengthening of Existing Schools		20725.68
				Total of Elementary Education		20725.68

ccess & Retention	Opening of	3	<del>_</del>			
	New /	3		Opening of New / Upgraded		
	Upgraded			Schools - Non Recurring		
	Schools			(Secondary)		
			3.b	1 Section School (Class IX - X)	30	1405.8
		<u> </u>	3.c	2 Section School (Class IX - X)	66	4223.64
	1	-		Total of Opening of New /		5629.44
		ł		Upgraded Schools - Non		
	į			Recurring (Secondary)		
		_ +		Total of Opening of New /		5629.44
		İ		Upgraded Schools		To have been a second of the s
-	Strengthening	22		Strengthening of Existing Schools		<u> </u>
	of Existing Schools			(IX - X)		
	3		22.a	Additional Classroom	1162	7154.1
			22.b	Science Lab	818	4246.63
•		-	22.c	Lab Equipment (Sci Lab)	486	85
		-	22.d	Art/Craft Room	1169	7183.29
	t t	_			1107	/103.29
			22.e	Library Room	1014	7735.74
	1 .		22.f	Drinking Water	167	525.13
	;		22.h	Girls Toilet	943	1853.15
			22.i	Toilets for CWSN	46	92.44

÷

•

1

			22.j	Removal of Architectural Barriers	7	15.75
,				Total of Strengthening of Existing Schools (IX - X)	A STATE OF THE STA	28891.23
		23		Teacher Quarter (up to Highest Class X or XII)	i de la companya de l	
			23.a	Residential Quarter	, 161	966
				Total of Teacher Quarter (up to Highest Class X or XII)	The state of the s	966
			x	*Total of Strengthening of Existing Schools		29857,23
Quality Interventions	ICT and Digital Initiatives	79		ICT and Digital Initiatives (upto Highest Class XII)		
	Micialives		79.a	Tablets/Laptop/Notebook/PCs	1647	8174.96
				Total of ICT and Digital Initiatives (upto Highest Class XII)		8174.96
				Total of ICT and Digital Initiatives		8174.96
Gender & Equity	Kasturba Gandhi Balika Vidyalaya	117		KGBV - Type - IV (NR) (Classes IX - XII)		
·	(KGBVs)		117.a	Construction of Building (New)	97	19163.46
				Total of KGBV - Type - IV (NR) (Classes IX - XII)	TE STATE OF THE ST	19163.46

	Ì		•				
1	4	<del></del>	ר	Total of Kasturba Gandbis	S1:12-3-2111		
	1			Total of Kasturba Gandhi B Vidyalaya (KGBVs)	alika,		19103.40
Vocational Education	Introduction	132		Addition of VE Course in Ex	cisting		
	of Vocational Education at			Schools			
	Secondary		132.a	Tools, Equipment & Furnitu	re	206	1130.32
	and higher Secondary			(Existing Schools)			
	,			Total of Addition of VE:Gou	rse in 4°		.1:130.32
				enough			odycama danoc
•	i			Total of Introduction of Vocational Education at			1130.32
				Secondary and higher Seco	ndary	and the state of t	
		<del></del>		Total of Secondary Educati	on l		63955.41
				Total			
		<u> </u>					84681.09
		pill ov	<u>ver</u>				
	Scheme Name			Non recui	ring		
E	lementary Educat	ion	<u></u>	20725.6	76		
	econdary Educati	on .		63955.4			
	Teacher Educatio						
	reacher Educatio	n		0			-

#### Annexure VI

(Rs. in Lakh)

# Samagra Shiksha Annual Works Plan & Budget 2018-19 ( Detailed Costing Sheet) Andhra Pradesh

	Par	ticul	ars			Proposa	al		inal A	pprove	ed Outlay
Major Compone nt	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
Access & Retention	Residential School / Hostels	14		Residential Schools - Recurring (Capacity > 100)							
			14.a	Maintenance per child per month	2	27	54	2	18	36	Recurring cost of two existing residential schools with capacity of 200 children is recommended. Seat enhancement from 200 to 300 not recommended. State is suggested to explore convergence.
			14.b	Stipend per child per month	2	1.8	3.6	2	1.2	2.4	Recommended as proposed
			14.c	Supplementary TLM, Stationery and other educational material	2	1.5	3	2	1	2	Recommended as per norms

1	14.d	1 Warden	2	3	7 ,		¬ -		
				3	6	2	3	6	Recommended as proposed
	14.e	4 Fulltime teachers	2	9.6	19.2	2	9.6	19.2	Recommended as
	14.h	as per RTE Norms				•	1		per norms
	14.0	1 Full Time	2	1.2	2.4	2	1.2	2.4	Recommended as
	14.i	Accountant							per norms
	14.1	2 Support staff -	2	1.2	2.4	2	1.2	2.4	Recommended as
	1	(Accountant/Assistan							proposed
	14.j	t, Peon, Chowkidar)							
	'7.,	1 Head Cook	2	0.72	1.44	2	0.72	1.44	Recommended as
	14.k	2 Assistant Cook							proposed
1	17.8	Z ASSISTANT COOK	2	1.08	2.16	2	1.08	2.16	Recommended as
]	14.1	Specific Skill to be in a	<del></del> _	<del> </del>					_ proposed
		Specific Skill training	2	1.5	3	2	1	2	Recommended as
	14,m	Electricity / water		<del>  _ ,</del>					per norms
		charges	2	1.5	3	2	1	2	Recommended as
	14.n	Medical	2	4 075	<del></del>		<u> </u>		per norms
		care/contingencies	Z	1.875	3.75	2	1.25	2.5	Recommended as
	14.0	Maintenance		4 425	- 25		<del>                                     </del>		per norms
		Maintenance	2	1.125	2.25	2	1.125	2.25	Recommended as
	14.p	Miscellaneous	2	1.25	<del>   </del>		<u> </u>		proposed
	"-	miscettarieous	Z	1.25	2.5	2	0.75	1.5	Recommended as
	14.q	Preparatory camps	2	0.003	- 0.004		- <del>-</del>		per norms
		reparatory camps	L	0.003	0.006	2	0.07	0.14	Recommended as
	14.r	P.T.A / school		0.003	0.006				proposed
		functions	2	0.003	0.006	2	0.003	0.006	Recommended as
	14.t	Capacity Building		0.75	<del>                                     </del>		<del>                                     </del>		per norms
		supacity building	4	0.75	1.5	2	0.1	0.2	Recommended as
	14.u	Physical / Self	2	0.3	-		<del>  _</del> _		per norms
		Defence Training	4	0.3	0.6	2 .	0.1	0.2	Recommended as
		Total of Residential	· · · · · · · · · · · · · · · · · · ·		110.81				per norms
	,	Schools - Recurring	•		110.61	•		84.8	_
	į	(Capacity > 100)			a) tappa		-		_
21		Residential Hostels -							
		Recurring (Capacity							
		> 100)							

21.a	Maintenance per child per month	13	27	351	13	18	234	Recommended as per norms
21.b	Stipend per child per month	13	1.8	23.4	13	1.2	15.6	Recommended as per norms
<b>21.</b> c	Supplementary TLM, Stationery and other educational material	13	1.5	19.5	13	1	13	Recommended as per norms
<b>21.</b> d	1 Warden	13	3	39	13	3	39	Recommended as proposed
21.g	3 Part time teachers	13	1.5	19.5	13	1.5	19.5	Recommended as proposed
21.h	1 Full Time Accountant	13	1.2	15.6	13	-1.2	15.6	13 existing Hostels with capacity of 100 children each is recommended. Proposal of seat enhancement is not recommended
21.i	2 Support staff - (Accountant/Assistan t, Peon, Chowkidar)	13	1.2	15.6	13	1,2	15.6	Recommended as proposed
21.j	1 Head Cook	13	0.72	9.36	13	0.72	9.36	Recommended as proposed
<b>21.</b> k	2 Assistant Cook	13	1.08	14.04	13	1.08	14.04	Recommended as proposed
21.1	Specific Skill training	13	1.5	19.5	13	1	13	Recommended as per norms
<b>21.</b> m	Electricity / water charges	13	1.5	19.5	13	1	13	Recommended as per norms
<b>21.</b> n	Medical care/contingencies	13	1.875	24.375	13	1.25	16.25	Recommended as per norms
21.0	Maintenance	13	1.125	14.625	13	0.75	9.75	Recommended as per norms
<b>21.</b> p	Miscellaneous	13	1.125	14.625	13	0.75	9.75	Recommended as proposed
<b>21.</b> q	Preparatory camps	13	0.003	0.039	13	0.07	0.91	Recommended as proposed

			21.r 21.t	P.T.A / school functions	13	0.003	0.039	13	0.003	0.039	Recommended as proposed
				Capacity Building	13	0.75	9.75	13	0.1	1.3	Recommended as per norms
			<b>21.</b> u	Physical / Self Defence Training	13	0.3	3.9	13	0.1	1.3	Recommended as per norms
				Total of Residential Hostels - Recurring (Capacity > 100)			613.35			441	
		Host	al of Re tels	sidential School /	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	1000	724.16			525.8	<b>1</b>
	Transport & Escort Facilities	33		Transport / Escort Facility (Elementary)							<u>, , , , , , , , , , , , , , , , , , , </u>
			33.b	Children in remote habitation	32756	0.06	1965.36	32756	0.06	1965.36	Transport is recommended subject to condition that State will notify area or limits of neighbourhood in its RTE Rules and will categorise it as a Child Entitlement in the Rules
				Total of Transport / Escort Facility (Elementary)			1965.36			1965.36	e u u e soussium and mainte
		Facil	ities	nsport & Escort			1965.36	`		1965.36	
<u> </u>	Total for Acces	is & Re	etentio		elle en en marie	AUSTRAL CONTRACTOR	2689.53		11	2491.16	
RTE Entitlement	Free Uniforms	35		Uniform	· constructions (plants)	marcassas a transfer mentilet	and the second s				
S			35.a	All Girls	160609 9	0.006	9636.594	150414 0	0.006	9024.84	Recommended as appraised
			35.b	ST Boys	170645	0.006	1023.87	164549	0.006	987.294	Recommended as appraised

		<b>35.</b> c	SC Boys	418684	0.006	2512.104	382352	0.006	2294.11 2	Recommended as appraised
		35.d	BPL Boys	950381	0.006	5702.286	950381	0.006	5702.28 6	Recommended as proposed
			Total of Uniform			. 18874.8 5	, , , , , , , , , , , , , , , , , , ,		18008,5 3	proposed
	Tota	l of Fre	e Uniforms			18874.8 5			18008.5 3	
Free	36		Free Text Books							
Textbooks		<b>36.</b> a	Text Books (Class ! -	658899	0.0025	1647.248	658098	0.002 5	1645.24 5	Recommended as appraised
		<b>36.</b> b	Braille Books (Class I - II)	801	0.0025	2.002	801	0.002 5	2.0025	Recommended as proposed
		<b>36.</b> d	Text Books (Class III - V)	106522 8	0.0025	2663.07	106236 9	0.002 5	2655.92 25	Recommended as appraised
i		<b>36.</b> e	Braille Books (Class III - V)	2859	0.0025	7.148	2859	0.002 5	7.1475	Recommended as proposed
		<b>36.</b> g	Text Books (Class VI - VIII)	121441 8	0.004	4857.672	120832 6	0.004	4833.30 4	Recommended as appraised
		<b>36.</b> h	Braille Books (Class VI - VIII)	6092	0.004	24.368	6092	0.004	24.368	Recommended as proposed
		······	Total of Free Text Books			9201.51	F		9167.99	
		l of Fre	e Textbooks			9201.51			9167.99	
Special Training of Out of School	38		Special Training for OoSC - Non- Residential (Fresh)							
Children (OoSC)		<b>38.</b> b	6 Months (Non- Residential - Fresh)	5956	0.03	178.68	5956	0.03	178.68	Recommended as proposed
		<b>38.</b> c	9 Months (Non - Residential - Fresh)	25359	0.045	1141.155	25359	0.045	1141.15 5	Recommended as proposed
		38.d	12 Month (Non- Residential - Fresh)	2722	0.06	163.32	2722	0.06	163.32	Recommended as proposed
			Total of Special Training for OoSC Non-Residential (Fresh)			1483.16		5 CG CG	1483.16	



4

1	39		Special Training for		<u> </u>	]		]	[	
		41°	OoSC - Residential (Fresh)		<u> </u>					
		39.b	6 Months (Residential - Fresh)	1961	0.1	196.1	1961	0.1	196.1	Recommended as proposed
		39.c	9 Months (Residential - Fresh)	7210	0.15	1081.5	7210	0.15	1081.5	Recommended as proposed
		<b>39.</b> d	12 Month (Residential - Fresh)	6697	0.2	1339.4	6697	0.2	1339.4	Recommended as proposed
		,	FTotal of Special Training for OoSC - — Residential (Fresh)			2617	1 10 10 10 10 10 10 10 10 10 10 10 10 10		2617	
,	40		Special Training for OoSC - Non- Residential (Previous year)			of the state of th		* mm 2162_9mm H		MERCE AND OPPOSE SE IN ACCORDANCE COMMUNICATION OF
		<b>40.</b> a	3 Months (Non- Residential - Prev. Year)	744	0.015	11.16	744	0.015	11.16	Recommended as proposed
		<b>40.</b> b	6 Months (Non- Residential -Prev. Year)	449	0.03	13.47	449	0.03	13.47	Recommended as proposed
		,	Total of Special Training for OoSC Non-Residential (Previous year)	, a a a a a a a a a a a a a a a a a a a		24.63		2	24.63	
	41	<u> </u>	Special Training for OoSC - Residential (Previous year)	`		The second secon	CONTROL OR TO ANY COMMAND	O O O O O O O O O O O O O O O O O O O	TO AMERICAN STREET, N. O. P. PARAGO STREET	more values of the new construction of the second state of the sec
		41,b	6 Months (Residential - Prev. Year)	72	0.1	7.2	72	0.1	7.2	Recommended as proposed
			Total of Special Training for OoSC Residential (Previous year)			7.2		9 5 6 9 8 9 8 8 8	7.2	
	42	1	Intervention for Migrant Children/ Seasonal Hostel			, <u>, , , , , , , , , , , , , , , , , , </u>	A PARTIES OF THE PART		overe are version in the second se	Manager (I) pr manager (I) en vand (I) en vand (I) en

.

^

							**		_	
			(Non-Residential)							
		42.b	6 Months (Non- Residential -Migrant)	291	0.03	8.73	291	0.03	8.73	Recommended for migrant children at worksite
			Total of Intervention for Migrant Children/ Seasonal Hostel (Non-Residential)	THE THE PERSON OF THE PERSON O	i - 4 îx	8.73			8:73	
	43		Intervention for Migrant Children/ Seasonal Hostel (Residential)							
		<b>43.</b> b	6 Months (Residential - Migrant)	23705	0.1	2370.5	23705	0.1	2370.5	Seasonal Hostel for Migrant Children
			Total of Intervention for Migrant Children/ Seasonal Hostel (Residential)			2370.5	້ ເພື່ອ br>ເພື່ອເພື່ອ ເພື່ອ ເພື		2370.5	····
	44		Coverages of Religious Insitiutions					_		
		44.c	Maqtab & Madarsas (New)	8444	0.06	506.64	8444	0.06	506,64	Recommended as proposed.
		44.d	Maqtab & Madarsas (Previous)	10359	0.06	621.54	10359	0.06	621.54	Recommended as proposed.
		<del>-</del>	Total of Coverages of Religious Insitiutions			1128.18			1128.18	And the second s
	of Sc		ecial Training of Out hildren (OoSC)			7639,4		*	7639.4	
Media & Community Mobilization	47		Media & Community Mobilization (Elementary)							

	1	,	1 45 6								
			47.b	Media & Community Mobilization	38429	0.015	576.435	37928	0.015	568.92	Schools are taken
				1	1	1					as per UDISE
	,	1									2017-18, each
		1		1	1	i	1		,	, .	Govt. School
		1	1 . †								entitled Rs.1500
		1	1 3		1 .						for undertaking
							l				Media &
			1								Community
			47.c	Training of SMC/	38429	0.03	4452.07	40044	2 22		Mobilisation
		1	;	SDMC	30429	0.03	1152.87	19214	0.03	576.42	Schools are taken
I				226							as per UDISE
		1								•	2017-18, each
•											Govt. School
		1				l					entitled Rs.3000
			1 1								for undertaking
		1									Training of SMC/SDMC
		]		Total of Media &		" "I-	1729.3			1145.34	SMC/SDMC
				Community "	-		,			1149.54	
				Mobilization							
				(Elementary)							
		48		Media & Community			Ser - contra esta est				THE PERSON OF TH
		1	,	Mobilization							
1				(Secondary)		<u>.</u>					
			48.a	Media & Community	5992	0.015	89.88	5992	0.015	89.88	Schools are taken
İ	_			Mobilization							from UDISE 2017-
											18, each Govt.
									-		School is entitled
ľ											Rs.1500 for Media
		.	} [							1	& Community
İ	•		;			·					Mobilisation
j		}	10 /L	CMDC Torrigin							activities
			<b>48.</b> b	SMDC Training	5992	0.03	179.76	2996	0.03	89.88	Schools are taken
ļ					ĺ					J	from UDISE 2017-
	ļ		!							ľ	18, each Govt.
			٠, [				[-				School is entitled
ŀ			·	,		ļ					Rs.3000 for
				,		I	I		I		Training of

					÷	_					SMC/SDMC
		į		Total of Media & Community Mobilization (Secondary)			. 269,64			179.76	
	:		l of Me lization	dia & Community า			1998.94			1325.1	
	-Total for RTE	ntitle	ments				37714.7 • 0			36141.0 2*	
Quality Intervention	Funds for Quality (LEP,	49		Quality Components (Elementary)	111/4						
S	Innovation, Guidance etc)	,	<b>49.</b> b	Logic Language Life Skills (LLL Programme)	52000	0.004	208	52000	0.004	208	Recommended as appraised
			49.c	Ganitha Kalitha Andolana Akshara Foundation	2000	0.052	104	2000	0.052	104	Recommended as appraised
			49.d	Mother Tounge Based Multi Lingual Education in Tribal Areas	5 .	50	250	13	10	130	Recommended as appraised
			<b>49.</b> e	Local Dialects	4	5	20	4	3	12	Recommended as appraised
			<b>49.</b> f	Vindam Nerchukundam Programme	13	1.8	23.4	13	0.5	6.5	Recommended as appraised
				Total of Quality Components (Elementary)		THE PERSON NAMED AND ADDRESS OF THE PERSON NAMED AND ADDRESS O	605.4		, , , , , , , , , , , , , , , , , , ,	460.5	
		50		Quality Components (Secondary)							
			<b>50.</b> b	Shaala Siddhi	6840	0.006	41.04	6840	0.006	41.04	Recommended as appraised.

	50.c	Talent Search at school level	13	1	13	13	1	13	Recommended a
	50.1	Aptitude Test at School Level	13	1	13	13	1	13	Recommended a appraised
		Total of Quality Components (Secondary)			67.04		<u>.</u>	67.04	0'2 m = N 2 0000
52	,	Project - Innovative Activities (Secondary & Sr. Secondary)	<u>-</u>		S. P. C. M. Samer, September 1	THE STATE OF THE S			
	52.m	Vidyarthi Nestham	128	5	640	500000	0.000 25	125	Recommended a per PAB discussion.
	52.n	Career Guidance / Councelling	6400	0.12785	818.24	5000	0.127 85	639.25	Recommended a per PAB Discussion
	52.0	Computational Thinking	1000	1.5	1500	1000	0.5	500	Recommended a appraised
	52.p	Social Media Campaigns	12	3	36	12	0.5	6	Recommended a appraised
		Total of Project - Innovative Activities (Secondary & Sr. Secondary)		**************************************	2994.24		3	1270.25	app. anosa
53	53.a	Project Innovation (Elementary)	TO COMMITTED IN SECTION AND ADMITTED IN SECTION ADMITTED IN SE	American activities and account of the control of t				MICS	
	A .	State Specific Intervention	1	322.15	322.15	1	300	300	ISHA vidya, a Multi grade programme witl Rishi valley, Teaching at righ level in collaboration with PRATHAM along with School

	53.b	Designing of Holistic Curriculum	6400	0.125	800	6400	0.125	800	Recommended as proposed
	<b>53.</b> d	Ananda Lahara Absayana Programme	1342	3.20418	4300	1342	3.204 18	4300.00 956	Recommended as proposed
	53.e	Teaching at Right Level	36601	0.0389	1423.78	36601	0.038 9	1423.77 89	Recommended as appraised
	,	Total of Project Innovation (Elementary)			6845.93		a a company	6823.79	
54		Project Kala Utsav (Secondary)		and the second of the second o		V-1000 (1000 V) 1000 V			
	54.a	TA / DA Allowance for National Level	50	0.05	2.5	50	0.05	2.5	Recommended as proposed for TA/DA at national level kala utsav
	54.b	Kala Utsav	1	13	13	1	10	10	Recommended organizing Kala Utsav at District and State level.
		Total of Project Kala Utsay (Secondary)			15.5			12.5	
60	T	Learning							
		Enhancement Programme (LEP) (Elementary)							
	60.a	Enhancement Programme (LEP)	110696	0.005	553.48	110696	0.005	553.48	Recommended as proposed
	60.a 60.b	Enhancement Programme (LEP) (Elementary)	110696 177650	0.005	553.48 888.25	110696 177650	0.005	553.48 888.25	proposed Recommended as
		Enhancement Programme (LEP) (Elementary) · LEP (Class I & II)			,			•	proposed
	<b>60</b> .b	Enhancement Programme (LEP) (Elementary) LEP (Class I & II)  LEP (Class III - V)  LEP (Class VI - VIII)  Total of Learning Enhancement Programme (LEP) (Elementary)	177650	0.005	888.25	177650	0.005	888.25 2943.52	proposed Recommended as proposed Recommended as
. 64	<b>60</b> .b	Enhancement Programme (LEP) (Elementary) LEP (Class I & II)  LEP (Class III - V)  LEP (Class VI - VIII)  Total of Learning Enhancement Programme (LEP)	177650	0.005	888.25 2943.525	177650	0.005	888.25 2943.52 5	proposed Recommended as proposed Recommended as

. .

		\$ A	Enhancement (Remedial teaching)	<del>-</del> -		].				appraised
			Total of LEP (Class IX = XII)	9		1235.82			1000	The second secon
	Inno	i of Fu vation	nds for Quality (LEP, Guidance etc)			16149.1 8			14019.3 3	
Training for In-service	68	i de la companya de l	In-Service Training (I - VIII)		ii/h	3 · · · · · · · · · · · · · · · · · · ·			<u> </u>	· · · · · · · · · · · · · · · · · · ·
Teacher and Head Teachers		<b>68.</b> a	Class I & II	47738	0.05	2386.9	9855	0.03	295.65	Recommended @ Rs. 300 per teacher for 10 days.
	.	6 <b>8.</b> b	Class III to V	69907	0.005	349.535	14781	0.003	44.343	Recommended for 10 days
		68.c 	Class VI to VIII	64838	0.05	3241.9	11857	0.03	355.71	Recommended for 10 days
		* 	Total of In Service Training (I - VIII)			5978.34-			695.7	
	69		In-Service Training (IX - XII )						Министор голиши поставляющий дост в поставляющий дост в поставляющий дост в поставляющий дост в поставляющий д	в технічество нападавій <b>не</b> р <u>повод неновного дана неновного нападав</u>
		<b>69.</b> d	Maths Teacher Training	11806	0.05	590.3	3204	0.03	96.12	Recommended for 10 days
		69.e	Subject Specific training	81142	0.05	4057.1	15599	0.03	467.97	Recommended for 10 days
		69.f	Physical Educational Instructors on Yoga	3000	0.025	75	1111	0.015	16.665	Recommended for 5 days
·		69.g	Science Teacher Training	18581	0.05	929.05	5030	0.03	150.9	Recommended for 10 days
			Total of In-Service Training (IX - XII )	93903900 <b>s</b> , <del>((1000) 1000</del> 000 (10 A) <b>3</b> 9	200 M M M	5651.45		W & W.	731.66	
	70		Induction Training (Elementary)						en en en en en en en en en en en en en e	with the second of the second
		<b>70.</b> a	Primary	5000	0.15	750	5000	0.06	300	as recommended by PAB Rs.300 per teacher for 20 days
			Total of Induction Training			750	B 01 2 41 44	* 30	300	uuya

•,

1		(Elementary)	-				ľ		]
71		Induction Training (Secondary)					-		
	71.a	Secondary	5385	0.15	807.75	5385	0.06	323.1	recommended by PAB @ Rs.300 per teacher for 20 days
		Total of Induction Training (Secondary)	,		807.75		1 1 1 1	323.1	
72		Training of Resource Persons & Master Trainers (Elementary)							
	72.a	Master Trainers /RPs Training for Classes Class I & II	260	0.05	13	260	0.03	7.8	Recommended @ Rs. 300 per RP/Master trainer for 10 days
	<b>72</b> ,b	Master Trainers /RPs Training for Class III to V	260	0.05	13	260	0.03	7.8	Recommended @ Rs. 300 per RP/Master trainer for 10 days
	<b>72.</b> c	Master Trainers /RPs Training for Class VI to VIII	260	0.05	13	260	0.03	7.8	Recommended @ Rs. 300 per RP/Master trainer for 10 days
		Total of Training of Resource Persons &	-		39		j.	23.4	
		Master Trainers (Elementary)	e.	R = 1 = 1	Fig.		Book " By		
73		Training of Resource Persons & Master Trainers (Secondary)					V2		
	<b>73.</b> b	Master Trainers/Key Resource Persons (KRPs) Training for Class IX to X	1040	0.05	52	1040	0.03	31.2	Recommended @ Rs. 300 per RP/Master trainer for 10 days

	ı							•	
	<b>73.</b> c	Master Trainers/Key Resource Persons (KRPs) Training for Class XI & XII	1040	0.05	52	1040	0.03	31.2	Recommended @ Rs. 300 per RP/Master trainer for 10 day
-	·	Total of Training of Resource Persons & Master Trainers (Secondary)		B # 3.5	104			62.4	
74	,	School Leadership Training of Head Teachers/ Principals/RPs (Elementary)							v. •-
	74.a	Training of RPs (Classes I to VIII)	13	0.048	0.624	52	0.004	0.208	Typo error in the figure proposed. Recommendation given as per the physical figure proposed in the plan document. 5 days training recommended (as proposed) @ Rs. 400 per teacher
	N. Maron and the commensus of the commen	Total of School: Leadership Training, of Head Teachers/ Principals/RPs (Elementary)			e :0:62 <u>+</u>			F 0.21**	
75	1	School Leadership Training of Head Teachers/ Principals/RPs (Secondary)	-	T 451 data (MAT - 2) 18 management	All Commission and Mark Commission on a S	8 mm _ mm			T P P P P P P P P P P P P P P P P P P P

.

		<b>75.</b> b	Training of Head Masters (Class IX to XII)	39	0.048	1.872	1300	0.048	62.4	Typo error in the figure proposed. Recommendation given as per the physical figure proposed in the plan document.
		<b>75.</b> c	School Leadership Training Program (SLDP) 1 month Certificate Course	0	0	0.00001	50	0.12	6	Recommended for HM
			Total of School Leadership Training of Head Teachers/ Principals/RPs (Secondary)			1.87	, , , , , , , , , , , , , , , , , , ,		68.4	ton 15 distribution
	76		Training of Educational Administrators (Elementary)							
		<b>76.</b> a	Elementary Level (Classes I to VIII)	680	0.05	34_	680	0.025	17	Recommended @Rs. 500 per teacher for 5 days
			Total of Training of Educational Administrators (Elementary)	governor 30 - 44 m2		34	who was an assume		17	
	77		Training of Educational Administrators (Secondary)				,			
•		<b>77.</b> a	Secondary Level (Classes IX to X)	76 -	0.05	3.8	76	0.025	1.9	Recommended for 5 days @ Rs 500 per teacher
		<b>77.</b> b	Sr. Secondary Level (Classes XI to XII)	13	0.05	0.65	13	0.025	0.325	Recommended for 5 days @ Rs 500 per teacher
			Total of Training of		* * * * * * * * * * * * * * * * * * *	4:45			2.22	PARAMETER AND AND AND AND AND AND AND AND AND AND

		Total		Educational Administrators (Secondary)							
		Teac	cher ar	aining for In-service od Head Teachers			13371.4 8			2224.09	
	Composite School Grant	78		Annual Grant (up to Highest Class VIII)			<b></b>	<u> </u>			
			78.b	School Grant - (Enrol 15 - 100 )	33730	0.25	8432.5	33730	0.25	8432.5	Recommended as appraised. It includes 10% for Swachhta programme.
			78.c	School Grant - (Enrol > 100 and <= 250 )	3828	0.5	1914	3827	0.5	1913.5	Recommended as appraised. It includes 10% for Swachhta programme.
				School Grant - (Enrol > 250 and <= 1000 )	206	0.75	154.5	206	0.75	154.5	Recommended as appraised. It includes 10% for Swachhta programme.
				Total of Annual Grant (up to Mighest Class VIII)	a a a a a a a a a a a a a a a a a a a		10501			10500.5	Control of the second
		79		Annual Grant (up to Highest Class X or XII)							
			79.b	School Grant - (Enrol 15 - 100 )	644	0.25	161	644	0.25	161	Recommended as proposed. It includes 10% for Swachhta programme.
i			79.c	School Grant - (Enrol > 100 and <= 250 )	2920	0.5	1460	2920	0.5	1460	Recommended as proposed.
			<b>79</b> ¦d	School Grant - (Enrol > 250 and <= 1000 )	3199	0.75	2399.25	3199	0.75	2399.25	Recommended as proposed.
			79.e	School Grant - (Enrol	77	1	77	77	1	77	Recommended as

			> 1000)							proposed.
			Total of Annual Grant (up to Highest Class X or XII)	A MONTHAGO CO 100 CAA	2 4 c/4 to	4097.25	The state of the s	2	4097.25	The contract of the contract o
	Tota	L of Co	nposite School Grant			14598.2 5		81	14597.7 5	
Libraries	82		Library (upto Highest Class VIII)							
		<b>82.</b> a	Composite Elementary Schools (I - VIII)	3366	0.13	437.58	3366	0.13	437.58	Recommended as proposed
		<b>82.</b> c	Primary School (I - V)	26148	0.03	784.44	26148	0.03	784.44	Recommended as proposed
			Total of Library (upto Highest Class VIII)			1222.02.			1222.02	
	83		Library (upto Highest Class XII)							•
		<b>83.</b> a	Composite Secondary Schools (Class I - X)	520	0.15	78	520	0.15	78	Recommended as proposed
•		<b>83.</b> b	Schools with Class VI - XII	166	0.15	24.9	166	0.15	24.9	Recommended as proposed
		<b>83.</b> d	Composite Secondary Schools (Class IX - XII)	1	0.15	0.15	1	0.15	0.15	Recommended as proposed
		83.e	Senior Secondary School Only (Class XI - XII)	428	0.1	42.8	428	0.1	42.8	Recommended as proposed
		83.f	Composite Senior Secondary Schools (Class I - XII)	. 168	0.2	33.6	168	0.2	33.6	Recommended as proposed
		<b>83.</b> g	Schools with Class VI - X	5557	0.15	833.55	5557	0.15	833.55	Recommended as proposed
			Total of Library (upto Highest Class (XII):	CONTRACTOR OF THE STATE OF THE		. 1013			1013	100 Mar 11 Mar 1
	Tota	of Lib	( Committee of the comm			2235.02			2235.02	

	Rastriya Aavishkar Abhiyan	84		Rashtriya Aavishkar Abhiyaan (Elementary)	· ·						
	-		84.a	Book Fair	13	1	13	13	1	13	Recommended as proposed
			84.c	Study Trip for Students to Higher Institutions (Within States)	39000	0.002	78	10000	0.002	20	Recommended as appraised
			84.d	Exposure visit outside State	2680	0.02	53.6	2680	0.02	53.6	Recommended as proposed
			84.e	Learning Enhancement (Remedial teaching)  Science Kit	2000	0.005	250 78	2866	0.005 0.015 5	44.423	Recommended Rs. 250.00 lakh for implementing RAA activities by reputed RAA implementing institutions including remediation under Science and Maths.  Recommended by PAB at Rs.1550 per kit physical units modified to
		 	84.h	Excursion Trip for Students within State	398252	0.002	796.504	13	5	65	2866.  Recommended by PAB to provide
		84.i	Maths Kit	2866	0.02	57.32	2866	0.015 5	44.423	cluster wise  Recommended at Rs.1550/- for physical 2866.	
		,	Total of Rashtriya Aavishkar Abhiyaan (Elementary)	"       	75 and 16 days	1326.42		Print	490.45	p.1,5104. 2000,	
		85		Rashtriya Aaviskaar Abhiyan (Secondary)					mileta price 74		

•

,

		85.b	Study Trip for Students to Higher Institutions (Within States)	13680	0.025	256.92	12000	0.015	75 24	Recommended as appraised for capacity building module for teachers of science and Maths Recommended as appraised.
		85.e	Exposure visit outside State	2680	0.02	53.6	2000	0.02	40	Recommended as appraised.
· · · · · · · · · · · · · · · · · · ·		85.h	Maths Kit	2866	0.02	57.32	2500	0.015 5	38.75	Recommended as appraised.
		85.j	Excursion Trip for Students within State	398252	0.002	796.504	200000	0.002	400	Recommended and discussed in the PAB to provide Rs.200 to 200000 students.
·		85.k <sub>.</sub>	Science Kit	3300	0.105	346.5	450	0.108	48.6	Recommended and discussed in the PAB to provide kit at NCERT rate @10800 for 450 schools.
			Total of Rashtriya Aaviskaar Abhiyan (Secondary)	Egg		1852.84	V. 100 V.	an A	626.35	£
	Tota Abhi		striya Aavishkar			3179.27			1116,8	THE STATE OF THE S
ICT and Digital Initiatives	89		ICT and Digital Initiatives (upto Highest Class XII) (NR)							
		<b>89.</b> e	Addition of Blended learning model to existing DCRs	1000	3	3000	1000	3	3000	Recommended for 1000 schools for Digital Classrooms

1	ŀ		Total of ICT and	<u> </u>	C formati mineralism in	3000			3000	The section of
			Digital Initiatives (upto Highest Class							
.		، <del>بسمیاد</del> ۱ ه	XII) (Non- Recurring)							
	92	j i	Project- IT/e- governance (Upto Highest Class XII) (Recurring)		The second secon			*	<u> </u>	
		· <b>92.</b> a	Shaala Kosh	24	20	480	24	20	480	Recommended as proposed.The shala darpan
		i i							•	modules has been integrated with shala kosh by
										mapping U- District
										Information on School Education (U-DISE) data for
										regular monitoring and
		]								course correction to deliver various benefits.
		i i	Total of Project- IT/e-governance (Upto Highest Class XII)(Non- Recurring +Recurring)	ate to means	entine enter (t) i l'accide est	480			480	
	The same	of ICT	and Digital Initiatives			3480			3480	
Support at Pre-Primary	93	;	Pre- Primary (Non- Recurring)		ere in the North Age of the Street,	<u> 18. je se se je kret</u>		I Lightifus and a	<u></u>	or delignmentals and other p
Level		93.a	Support at Pre- Primary Level (NR)	4931	1	4931	1031	0.5	515.5	Recommended on 1031 Schools @ 50000/- for Learning

				-						the aganwadi .
			. Total of Pre-   Primary (Non-   Recurring)	pan a samanan ar basa na	and the description of	4931	er den bereit schenden begrennen begrennen bestellt den b		515.5	**************************************
	94		Pre-Primary (Recurring)	-						P.
		94.a	Support at Pre- Primary Level	55607	0.005	278.035	1031	0.03	30.93	Recommended for 1031 Schools @ rs.3000/- for TLM.
		_	Total of Pre-Primary (Recurring)			278.04	W.S. SHOOL DESCRIPTIONS OF THE SECTION AND ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION AND ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS OF THE SECTION ADDRESS	ŧ	30.93	AND DIMENSIONS IN THE PROPERTY OF THE PROPERTY
	Tota Leve		pport at Pre-Primary			5209.04		1 (1) (1) (1) (1) (1) (1) (1) (1) (1) (1	546,43	The second secon
Academic support	95		Provision for BRCs/URCs						<u>-</u>	
through BRC/URC/CRC		<b>95.</b> b	Salary for 2 Resource Persons for CWSN	1360	3.15468	4290.365	1360	2:4	3264	Recommended as
		95.c	Salary for 1 MIS Coordinator in position	680	2.82264	1919.395	680	2.822 64	1919.39 · 5	Recommended as per norm
		<b>95.</b> d	Salary for 1 Data Entry Operator in position	680	2.82264	1919.395	680 `.	2.822 64	1919.39 5	Recommended as per norm
		95.e	Salary for 1 Accountant-cum- support staff	727	2.82264	2052.059	727	2.822 64	2052.05 9	Recommended as per norm
		95.i	Contingency Grant	680	0.5	340	680	0.5	340	Recommended as proposed
		95.j	Meeting, TA	680	0.3	204	680	0.3	204	Recommended as
			Total of Provision for BRCs/URCs	_		10725.2	eris.	1	9698.85	
-	97	_	Provisions for CRCs	_ *		11	MATE AND			

,

										,	
			97.a	Salary for CRC Coordinator (one)	4034	2.82264	11386.53	4034	2.82	11375.8	Recommended as
			97.c	Contingency Grant	4034	0.1	403.4	4034	0.1	403.4	Recommended as proposed
			97.d	Meeting, TA	4034	0.12	484.08	4034	0.12	484.08	Recommended as proposed
		7	11.64	Total of Provisions for CRCs			12274.0 1			12263.3 6	234. ; ;
		thro	ugh BR	ademic support C/URC/CRC	100 100 100 <b>4</b> 10 10 20 10 10 10 10 10 10 10 10 10 10 10 10 10		22999.2 2	. = ib =		21962.2 1	
Teacher	Total for Qual		erventi				81221.4 6			60181.6 3	A control of the cont
Education	Strengthening of physical infrastructure &	98		Equipment's in Teacher Education Institutions (Non- Recurring)							
	Establishment of new DIETs		98.a	SCERT	1 1	20	20	1	20	20	Recommended as per norm
			98.b	DIETs  Total of	13	20	260	13	6	78	Recommended. After discussion with State, instead of considering only 30% of the DIETs, equipment is given to all the DIETs @ Rs 6 Lakh per DIET.
				Equipment's in Teacher Education Institutions (Non- Recurring)	in in the second					98 	·
		physi Estab	ical infi	engthening of rastructure& nt of new DIETs ring)			280	·		98	

Salaries of Teacher	10 2		Teachers Educators Salary in TEIs				-			
Educators			(Academic Posts)			i				
(TEls)		102.b	DIETs	66	20.05245	1323.462	66	14.04	926.64	Recommended. 70% of the Central Share of Salary will be provided by the Central Government and the remaining 30% of the Central Share plu the State Share of 40% will be borne by the UT Government.
			Total of Teachers		The product manager in the West and the	1323.46	PARTICIPATION OF STREET ASSESSMEN	-	926.64	Government.
			Educators Salary in TEIs (Academic Posts)	8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8	a e <sup>a</sup>	1323,-10	y" s. s.		720.Q <del>q</del>	
	Total		aries of Teacher			1323.46		9 ()	926.64	8
		ators (				.5.5.10	(garajasa) lib	a .		
Training of Teacher	10	*,****	Training for Teacher Educators		* : . : <u> </u>		<u> </u>		** <u></u>	<u> </u>
Educators		<b>104.</b> a	Residential Training program of Teacher Educators/DIET Principal/ DIET Faculty as Master Trainers.	26	0.048	1.248	26	0.048	1.248	Recommended a proposed
			Total of Training for Teacher Educators			1.25			1.25	
		of Tra	ining of Teacher		,	1.25			1.25	i.
DIKSHA	10		DIKSHA (National							
(National	5		Teacher Portal)	<u> </u>				L		

•

•

Teacher Portal)		<b>105.</b> a	Profile & Registry	60000	0.00025	15	60000	0.000	6	Recommended by PAB @Rs. 10/- per teacher
		<b>105.</b> b	Training for Teachers, Educators and State officials for usgae of DIKSHA	39533	0.005	197.665	4	10	40	Recommended by PAB
,		105.c	Creation and Curation of Digital Teaching learning material for uploading on DIKSHA	15000	0.003	45	15000	0.003	45	Recommended by PAB
		105.d	Energized Textbooks	5000	0.005	25	5000	0.005	25	Recommended by PAB
		105.f	Creation of online/digital modules for Professional development of teachers	4	2.5	10	4	2.5	10	Recommended by PAB
		105.i	Teachers trainings on ICT Curriculum using DIKSHA platform	48000	0.005	240	24000	0.005	120	recommended for 24000
			Total of DIKSHAY, (National Teacher Portal)	2 B		-532.66°		1	246	
	Total   Teacl	of DIK her Por	SHA (National			532.66			246	
Program & Activities including Faculty	10		Program & Activities including Faculty Development of Teacher Educators					<u> </u>		
Development of Teacher Educators			Faculty development (DIET)	13	10	130	13	10	130	Recommended as per norm
 222001013		106.b	Program & Activities (DIET)	13	30	390	13	15	195	Recommended as per vacancy in

										DIETs
		106.e	Program & Activities (IASEs)	3	10	30	3	10	30	Recommended as per norm for 2 CTEs and 1 IASE
			Total of Program & Activities including Faculty Development of Teacher Educators			. 550°.			`:•"355• ∢` •	
	inclu	uding Fa	gram & Activities aculty Development Educators			550			355	
Technology Support to	10		Technology Support to TEIs (NR)							·
TEIs		107.a	Hardware & Software Support	14	6.4	89.6	14	6	84	Recommended as per norms
		<b>107.</b> b	Operating System & Application Software	14	1	14	14	0.2	2.8	Recommended as per norms
		107.c	Furniture	14	1	14	14	0.2	2.8	Recommended as per norms
		_	Total of Technology Support to TEIs (NR)	pe of totalsecontell	a g	117.6			89.6	i I
	10 8		Recurring Support on (Technology Support)					-	_	ر م
		108.d	Recurring Support on Technology (TEIs)	0	0	0.00001 :	14	2.4	33.6	Recommended by PAB for the E- content and Digital resources, internet/broadba nd charges and financial assistance for ICT instructors.
	<u> </u>		Total of Recurring	Li mas a	2 .	. 0			, 33.6	

				Support on 3.			all positions	6.告号建度	liki ji 1907	d and	In child explanation for the
				(Technology	pell di		Orosto, set 10				
		Tota TEIs	l of Te	chnology Support to			117.6			123.2	Break - Company of the Company of th
	Annual Grant for TEIs	10 9		Annual Grant for TEIs							
			109.a	SCERT	1	35	35	1	35	35	Recommended as Proposed
			; <b>109.</b> b		13	20	260	13	15	195	Recommended as appraised.
			١	Total of Annual Grant for TEIs			295			230	
	TALL CONTROL	Total of Annual Grant for TEIs					295			230	
Fire	Total for Teacl		ucation				3099.98			1980.09	
Sports & Physical Education	Sports & Physical Education	11		Sports & Physical Education (upto Highest Class VIII)			i wi stranger i i inimper regard	119	1. 144 - 1. 12 - 144 - 144 - 144 - 144 - 144 - 144 - 144 - 144 - 144 - 144 - 144 - 144 - 144 - 144 - 144 - 144	ing trici	
			111.a	Sports & Physical Education (Primary Schools )	33485	0.05	1674.25	7970	0.01	79.7	recommended as appraised
				Total of Sports & Physical Education . (upto Highest-Class . VIII)			.1674.25 			79.7 	
		Total Educa	of Spo	rts & Physical			1674.25			79.7	
	Total for Sports & Physical Education				· .	1674,25			79,70		
Salary of	Teacher	11		Upper Primary	<u></u>		71.1.2			1,71,70	
Teachers	Salary HMs/Teacher	6	,	Teachers (Contractual) -							
	s)_		<i>r</i>	(Elementary)				i			

4. (

		116.e	Part Time Instructors	5749	0.84	4829.16	5749	0.84	4829.16	Considered as per norms @ 7000 pm for 12 months. state has by mistake given monthly salary details in plan instead of annual salary. rechecked
			Total of Upper Primary Teachers (Contractual) - (Elementary)		and the second of the second o	4829.16			4829.16	as per norms.
	11 7		Upper Primary Teachers (Regular) - (Elementary)							
		117.a	Science and Mathematics	5774	2.4	13857.6	5774	2.4	13857.6	Considered as per norms 220 Schools upgraded for urdu.
	÷	117.b	Social Studies	5769	2.4	13845.6	5769	2.4	13845.6	Considered as per norms. 220 Schools upgraded for urdu.
		117.c	Languages	5764	2.4	13833.6	3724	2.4	8937.6	2040 vacant posts of Teachers of the state deducted. 220 Schools upgraded for urdu.
	,		Total of Upper Primary Teachers (Regular) - (Elementary)			41536.8	The second secon		36640.8	
Total for Salar	(HMs	/Teach				46365.9 6 46365.9			41469.9 6 41469.9	

Gender &	Kasturba		120 14 120 100 11 19: 0			on age	Charle 6 2 44 4		<i>.</i>	.6	
Equity	Gandhi Balika Vidyalaya	12 0		KGBV - Type - I (Recurring) (Classes VI -VIII)							·
	(KGBVs)		120.a	per girl per month	9840	0.18	1771.2	9240	0.18	1663.2	As PAB approve
			<b>120.</b> b	month	9840	0.12	1180.8	9240	0.012	110.88	As PAB approve
			1 <b>20.</b> c	Stationery and other educational material	9840	0.01	98.4	9240	0.01	92.4	As PAB approve
			120.d	1 Warden	82	3	246	77	3	231	As PAB approve
			120.e	1 Head Teacher	82	3	246	77	3	231	As PAB approve
			<b>120.</b> f	4 - 5 Full Time Teachers	410	2.4	984	385	2.4	924	As PAB approve
			120.g	2 Urdu Teachers	2	2.88	5.76	2	2.88	5.76	Recommended a appraised
			120.h	3 Part Time Teachers	410	0.9	369	385	0.9	346.5	Recommended a
		-	120.i	1 Full Time Accountant	82	1.2	98.4	77	1.2	92.4	Recommended a
			120.j	2 Support Staff - (Accountant/ Assistant, Peon, Chowkidar)	410	0.456	186.96	385	0.456	175.56	Recommended a per norms
			120.k	1 Head Cook	82	0.72	59.04	77	0.72	55.44	Recommended a per norms
			120.[	2 Assistant Cook	164	0.81	132.84	154	0.81	124.74	Recommended a
			120. m	Specific skill training per girl	9840	0.01	98.4	9240	0.01	92.4	Recommended a

	120,n	Electricity / Water Charges	9840	0.01	98.4	9240	0.01	92.4	Recommended as per norms
	120.0	Medical care / Contingencies	9840	0.0125	123	9240	0.012 5	115.5	Recommended as per norms
	<b>120.</b> p	Maintenance	9840	0.0075	73.8	9240	0.007 5	69.3	Recommended as per norms
	120.q	Miscellaneous	9840	0.0075	73.8	9240	0.007 5	69.3	Recommended as per norms
	120.r	Preparatory Camps	9840	0.002	19.68	77	0.07	5.39	Recommended as per norms
	120.s	P.T.A.	9840	0.002	19.68	9240	0.002	18.48	Recommended as per norms
	<b>120.</b> u	Capacity Building	9840	0.005	49.2	77	0.1	7.7	As PAB approved
	120.∨	Physical / Self Defence	9840	0.00075	7.38	77	0.1	7.7	As PAB approved
		Total of KGBV - Type - I (Recurring) (Classes VI -VIII)			5941.74			4531.05	
12 1		KGBV - Type - II (NR) (Classes VI -X)	<del>*</del>						
	121.d	Bedding	12840	0.0075	96.3	9760	0.007 5	73.2	Recommended as appraised
		Total of KGBV - Type - II (NR) (Classes VI - X)			<sup>**</sup> 96.3	no necessarilla de 17 miles		73.2	
12 2		KGBV - Type - II (Recurring) (Classes VI -X)		•					
	122.a	Maintenance	64200	0.0075	481.5	48800	0.007 5	366	Recommended as appraised
	122.b	Stipend per child per month	64200	0.012	770.4	48800	0.012	585.6	Recommended as appraised

. '

122.c	Supplementary TLM, Stationery and other educational material	64200	0.01	642	48800	0.01	488	Recommended as appraised
122.d	4 - 5 Fulltime teachers	321	12	3852	244	12	2928	Recommended as appraised
122.e	2 Urdu Teachers	18	1.44	25.92	16	1.44	23.04	Recommended as appraised
122.f	3 Part time teachers	321	3.3	1059.3	244	3.3	805.2	Recommended as appraised
122.g	1 Full time Accountant	321	1.2	385.2	244	1.2	292.8	Recommended as appraised
122.h	2 Support staff - (Accountant/Assistan t, Peon, Chowkidar)	321	2.88	924.48	244	2.88	702.72	Recommended as appraised
122.i	1 Head Teacher	321	3	963	244	3	732	Recommended as appraised
122.j	Medical care / Contingencies	64200	0.0125	802.5	48800	0.012	610	Recommended as appraised
122.k	Capacity Building	64200	0.005	321	244	0.1	24.4	Recommended as appraised
122.l	Miscellaneous	64200	0.0075	481.5	48800	0.007	366	Recommended as appraised
122. m	Fooding / Lodging per child per month	64200	0.18	11556	48800	0.18	8784	Recommended as appraised
122.n	1 Head Cook	321	0.72	231.12	244	0.72	175.68	Recommended as appraised
122.0	Examination Fee	321	0.07	22.47	244	0.07	17.08	Recommended as appraised
122.p	Electricity / Water Charges	64200	0.01	642	48800	0.01	488	Recommended as appraised
122.q	Preparatory Camps	64200	0.002	128.4	244	0.07	17.08	Recommended as appraised
<b>122.</b> r	1 Warden	321	3	963	244	3	732	Recommended as appraised

. •

	122.s	2 Assistant Cook	321	1.62	520.02	244	1.62	395.28	Recommended as appraised
	122.t	Specific Skill training	64200	0.01	642	48800	0.01	488	Recommended as appraised
	122.v	P.T.A.	64200	0.002	128.4	48800	0.002	97.6	Recommended as appraised
	122. W	Physical / Self Defence	321	0.09	28.89	244	0.1	24.4	Recommended as appraised
	-	Total of KGBV - Type   - II (Recurring) - (Classes VI -X)	. vanacorotepo de de cel de ce		25571.1			19142.8 8	
12		KGBV - Type - III (NR) (Classes VI -XII)			·	•			
	<b>123.</b> d	Bedding	1240	0.0075	9.3	1240	0.007 5	9.3	Recommended as appraised
	123.f	Construction of building (new) / Upgradation	31	250	7750	31	110	3410	Recommended for 31 KGBVs for construction of Dormitories, Toilets and electrification in Dormitories, Bore well and Septic Tank
		Total of KGBV - Type - III (NR) (Classes VI - XII)			7759.3	and the second of	,	3419.3	
12 4		KGBV - Type - III (Recurring) (Classes VI -XII)							
	124.a	4 Full Time Teachers	31	12	372	31	12	372	Recommended as appraised
	<b>124.</b> b	1 Head Teacher	31	3	93	31	3	93	Recommended as appraised
	124.e	Miscellaneous	8680	0.0075	65.1	8680	0.002 5	21.7	Recommended as appraised

.

124.f	Accountant	31	1.2	37.2	31	1.2	37.2	Recommended as
124.g	per child per month	8680	0.18	1562.4	8680	0.18	1562.4	Recommended as appraised
124.h	Stipend per girl per month	8680	0.012	104.16	8680	0.012	104.16	Recommended as appraised
124.i	Maintenance	8680	0.0075	65.1	8680	0.007	65.1	Recommended as appraised
124.j	Supplementary TLM, Stationery and other educational material	8680	0.01	86.8	8680	0.01	86.8	Recommended as appraised
124.k	1 Warden	31	3	93	31	3	93	Recommended as appraised
124.l	3 Part time teachers	31	15.6	483.6	31	6.672	206.832	Recommended as appraised
124. m	2 Support Staff - (Accountant / Assistant, Peon, Chowkidar)	31	3.84	119.04	. 31	2.52	78.12	Recommended as appraised
<b>124.</b> n	1 Head Cook	31	0.72	22.32	31	0.72	22.32	Recommended as appraised
<b>124.</b> 0	2 Assistant Cook	31	1.62	50.22	31	1.62	50.22	Recommended as appraised
124.p	Specific skill training per girl	8680	0.01	86.8	8680	0.005	43.4	Recommended as appraised
1 <b>24.</b> q	Electricity / Water Charges	8680	0.01	86.8	8680	0.01	86.8	Recommended as appraised
124.r	Medical care / Contingencies	8680	0.0125	108.5	8680	0.01	86.8	Recommended as appraised
24.s	Preparatory Camps	8680	0.002	17.36	31	0.07	2.17	Recommended as appraised
124.t	P.T.A.	8680	0.002	17.36	8680	0.002	17.36	Recommended as appraised
124.v	Capacity Building	8680	0.005	43.4	31	0.1	3.1	Recommended as appraised

	124. W	Physical / Self Defence	31	0.09	2.79	31	0.1	3.1	Recommended as appraised
		Total of KGBV - Type - III (Recurring) (Classes VI -XII)			3516.95	, , , , , , , , , , , , , , , , , , ,	- 33 · ·	3035.58	
12 6		KGBV - Type - IV (Recurring) (Classes IX - XII)			-				
	126.a	Food/Lodging per child per month	15200	0.165	2508	14300	0.165	2359.5	Recommended as appraised
	<b>126.</b> b	Stipend per girl per month	15200	0.012	182,4	14300	0.001	14.3	Recommended as appraised
	<b>126.</b> c	Supplementary TLM, Stationery and other educational material	152	0.22	33.44	143	0.001	0.143	Recommended as appraised
	<b>126.</b> e	1 Warden	152	1.43	217.36	143	1.43	204.49	Recommended as appraised
	<b>126.</b> g	1 Chowkidar	152	1.056	160.512	143	1.056	151.008	Recommended as appraised
	<b>126.</b> h	1 Head Cook	152	1.265	192.28	143	1.265	180.895	Recommended as appraised
	126.i	2 Assistant Cook	304	1.199	364.496	286	1.199	342.914	Recommended as appraised
	126.k	Electricity / Water Charges	152	1.2	182.4	143	1.2	171.6	Recommended as appraised
	126.l	Medical care / Contingencies	15200	0.0825	1254	14300	0.01	143	Recommended as appraised
	126. m	Maintenance	152	9.6	1459.2	143	0.01	1.43	Recommended as appraised
		Total of KGBV - Type - IV (Recurring) (Classes IX - XII)			6554.09		j j	3569.28	-
		sturba Gandhi Balika KGBVs)			49439.4 8			33771.2 9	

~

1	Special	13	1	Special Projects for	Γ —	<del></del>	7		7	ı	I
	Projects for	0		Equity (Secondary)							
	Equity		130.a	SC/ST Oriented Activities	13	1	13	8	1	8	The project has been considered @ Rs.1.0 lakhs per distrcict for creating
		2				,					awareness programme among SC/ST/Minorities groups in 8 special focus
		42		Total of Special Projects for Equity (Secondary)	Tim the series (MESSES)		13		I.	8 -	districts .
		13		Project- Girls Empowerment (Secondary)							
			132.b	Training in Martial Arts to all girls / Self Defence	6615	0.09	595.35	6615	0.09	595.35	The project has been recommended for 6615 govt girls and co-ed schools @ Rs.0.03 lakhs for 3 months.
	,		132.c	Career Guidance Programme for Girls	13	1.	13	13	1	13	The project has been recommended for 13 district of the state @ Rs. 1.0 lakhs per district.
			·								Adolescent programm Activities should also be merged

•

											with this programm.
		,		Total of Project- Girls Empowerment (Secondary)		ر پرون در در در در در در در در در در در در در	608.35	The second control of the second control of		608.35	
		Tota Equi		ecial Projects for		e k Bertorra	621.35			616.35	
	Total for Gend						50060.8 3	1 (# ±		34387:6 4	Haragan Albanda (1964) Haragan Albanda (1964)
Inclusive Education	Provision for Children with Special Needs	13 4		Inclusive Education (up to Highest Class VIII)							
	(CWSN) - Recurring		134.a	Sports Events	680	0.1	68	680	0.05	34	Recommended @ 5000/-
			134.e	Therapeutic Services	680	1.5	1020	680	0.4	272	Recommended @ -40,000/-
			134.f	Helper/Ayas/Attenda nt	680	0.6	408	680	0.6	408	Recommended as proposed
			134.g	Braille Stationary Material (Inc. Embossed Charts, globes etc)	2078	0.0315	65.457	1034	0.031 5	32.571	Recommended for 1034 schools
			134,h	Providing Aids & Appliances	6043	0.05	302.15	6043	0.05	302.15	Recommended @ 5000/-
			134.i	Identification and Assessment (Medical Assessment Camps)	680	0.15	102	680	0.15	102	Recommended as proposed
			134.l	Assistive Devices, Equipments and TLM	680	0.1	68	680	0.1	68	Required for resource centers for all the 680 mandals.

•

			134. m	Transportation allowance	18141	0.03	544.23	10000	0.03	300	Recommended for 15000 @ 300/-
			134.n	Stipend for Girls	20863	0.02	417.26	14472	0.02	289.44	Recommended for 14472 as this is the total number given by the state
				In-service Training of Special Educators	1350	0.03	40.5	1350	0.03	40.5	Recommended as proposed
			134.p	programme	680	0.1	68	680	0.1	68	Recommended as proposed
	·		134.q	Principals, Educational administrators, parents / guardians etc.	680	0.1	68	680	0.07	47.6	Recommended @ 7000
			134.u	Development of Training Material	1511	0.002	3.022	1511	0.002	3.022	Recommended as proposed
	•	<u> </u>	134.v	Escort Allowance	14063	0.03	421.89	10000	0.03	300	Recommended for 10000 escorts allowance only
			134. W	Home Base Education	13500	0.024	324	6800	0.035	238	This data as per state. This is as per revised guidelines. The cost has been @ 3500/-
				Total of Inclusive Education (up to Highest Class VIII)	-	- 30mm144	3920.51			2505.28	
		13 5		Inclusive Education (Student Oriented Components) (up to Highest Class X or XII)	Acceptable days	, mark n co	4 T E		_ n		
 			135.f	Braille Stationary	1711	0.03	51.33	1711	0.03	51.33	Recommended as

		Material (Inc. Embossed Charts, globes etc)	:						proposed
	135.g	<u> </u>	9500	0.04	380	7000	0.04	280	Recommended for 7000 CWSN
	135.h	Identification and Assessment (Medical Assessment Camps))	. 680	0.15	102	680	0.1	68	Same as given at elementary level
	135,k	Assistive Devices, Equipments and TLM	680	0.35	238	680	0.1	68	Recommended @ 10000 only/-
	135.l	Escort Allowance	5397	0.03	161.91	3000	0.03	90	Recommended for 3000 CWSN
	135. m	Sports & Exposure Visit	680	0.05	34	680	0.05	34	Recommended as proposed
	135.n	Stipend for Girls	10807	0.02	216.14	5000	0.02	100	Recommended for 5000 girl child
		Total of Inclusive Education (Student Oriented Components) (up to Highest Class X or XII)		MADESIA NE SÉRVIS	1183.38	THE SECOND		691.33	
13 6		Inclusive Education (Recurring) (Upto Highest Class - XII)							
	136.a	Development of Training Material	3452	0.005	17.26	3452	0.005	17.26	Recommended as proposed
	136.c	Environment Building programme	680	0.1	68	680	0.1	68	Recommended as proposed
	<b>136.</b> d	Orientation of Principals, Educational administrators, parents / guardians etc.	7570	0.005	37.85	7570	0.005	37.85	Recommended as proposed

7

	Total for Inclu	witi Rec	า Specia urring	Total of Inclusive Education (Recurring) (Upto Highest Class - XII) ovision for Children al Needs (CWSN) -			5227.00		N2	3319.72	State Market Market Market
Vocational Education	Introduction of Vocational	13 7		Introduction of VE in schools (NR)			A STATE OF THE STA			3319.72	
	Education at Secondary and higher Secondary		137.a	Furniture (New)	100	5	500	50	5	250	Recommended for 50 schools belonging to SFDs across 9 sectors- Agriculture, Apparel, IT, Electronics, Beauty& Wellness, Construction, Retail, Tourism, Multi skill
				Total of Introduction of VE in schools (Non-Recurring)		a a	500			250	9
		13 8		Recurring Support VE - New	——————————————————————————————————————		<u>.</u>	<u> </u>			Alban — pour and man — Comment of the second
	·		138.a	Financial Support for Vocational Teacher/ Trainer (New)	200	2.4	480	100	1.2	120	2 trainers per schools for 50 schools (6 Months provisions have been considered)
			<b>138.</b> b	Financial Support for Resource Persons (New)	125	0.5	62.5	50	0.313	15.65	As per norms for 50 schools belonging to SFDs (6 Months provisions have been considered)

	138.c	Raw material Grant for new school per course (New)	125	0.925	115.625	50	0.563	28.15	As per norms for 50 schools belonging to SFDs (6 Months provisions have been considered)
	138.d	Cost of providing Hands on Skill Training to Students (New)	125	0.48	60	50	0.3	15	As per norms for 50 schools belonging to SFDs (6 Months provisions have been considered)
	138.f	Office Expenses / Contingencies for New School (New)	125	1	125	50	0.25	12.5	As per norms for 50 schools belonging to SFDs (6 Months provisions have been considered)
	138.g	Induction training of Teachers VE - Teachers (10 Days)	200	0.05	10	100	0.05	5	Rs. 500 per day for 10 days training for 100 trainers
		Total of Recurring Support VE - New	AMERICAN AMERICA MA	Milleria ec / Mile	853.12	, 3000k <b>2 M</b> W	对 (A)	196.3	Mental N No. Mental SS
14		Recurring Support VE - Existing		Section assessed of the Control	17)				
	140.a	Financial Support for Vocational Teacher/ Trainer (Existing)	677	2.489	1685.053	462	2.4	1108.8	For 412 in position trainers and 50 trainers required for additional vocational sector in existing schools.
	140.b	Financial Support for Resource Persons (Existing)	206	1.567	322.802	206	1.567	322.802	For 206 functional schools as proposed

-

	140.c	Raw material grant for new school per course (Existing)	206	2.938	605.228	206	2.938	605.228	For 206 functiona schools as per
	140.d	Cost of providing Hands Training Students (Existing)	206	1.567	322.802	206	1.567	322.802	norms For 206 functiona schools as proposed
1	140.e	Assessment and Certification Cost (Existing)	206	0.6	123.6	15568	0.006	93.408	For students of class 10th
,	140.f	Office Expenses / Contingencies for School (Existing)	206	1.306	269.036	206	1.306	269.036	For 206 functiona schools as per
,	140.g	Induction training of VE - Teachers (10 Days) - (Existing)	265	0.05	13.25	50	0.05	2.5	norms For 50 trainers required for additional vocational sector.
•	140.h	In-service Training of VE - Teachers (5 - Days) - (Existing)	412	0.025	10.3	412	0.025	10.3	Rs. 500 per day for 5 days training for 412 trainers
		Total of Recurring Support VE - Existing			3352.07	EDOR		2734.88	Segretary of the second
14		Addition of VE Course in Existing Schools (NR)				Anne Anne Anne	- 14 Mark		- margines & p. services
	141.a	Tools, Equipment & Furniture (Existing Schools)	415	6.807	2824.905	77	3	231	For addition of sector in class 9th in existing school in order to replace Healthcare, BFSI & Phy. Edu. & Sports.
		Total of Addition of VE-Course in Existing Schools (Non-Recurring)	1	8 8 11 12 12 12 12 12 12 12 12 12 12 12 12	2824.9			231	Sports.

•

•

	•										
		Voca	ational	roduction of Education at and higher Secondary			7530.1		7 1	3412.18	
	Total for Voca						7530.10		i)	3412.18	
Monitoring of the	Monitoring Information System (MIS)	14		Monitoring of the Scheme	2.17						
Scheme			143.b	Management Information System (SDMIS & Shaala Kosh)	0	0 .	0.00001	769104 2	0.000 01	76.9104 2	Recommended for 7691042 children.
				Total of Monitoring of the Scheme			. 0			76.91	
		Total of Monitoring Information System (MIS)				• 0		ij	76.91		
	Total for Monitoring of the Scheme					0.00		ξ)	76.91		
Program	Program Management	14		MMER (I-XII)							
Management		gement 4	144.a	MMER (1-XII)	1	14470.90 9	14470.90 9	1	9177	9177	5%
				Total of MMER (I-XII)		66	14470.9 1	en te		9177	
		Total of Program Management				14470.9			9177		
,	Total for Program Management				:	14470.9			9177.00		
Total		Ser -				er ander Die	250054. 71		C T	192717	

	Final Approval								
Scheme Name	NON Recurring	Recurring	Total						
Elementary Education	4008	165382.74	169390.74						
Secondary Education	3481	17865.18	21346.18						
Teacher Education	187.6	1792.49	1980.09						
Total	7676.6	185040.4	192717						